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������	� 
��������C ��� ��	������ ����6����� ����
���� ( 
� 
��C �� ��� ��T������� �������� ��
�����	���� �)��������� <�	� ������������ ���	��� �� >�� ���� �� #������ �� ��	� ������ ����
R ����"��#��	 SC �	�� ���� �� #������ 
������� ���� R �	���"��#��	 S�


�
 �
���	��
 �
 �������	��

�!�!� ��	��
 ��"�
��
 ����
	���

1� �� ����� 	� �2:�� Ω ���&�������� 
���	
��	� �� &�������� Γ �� ���	#��� ���� �� #����
,�� ���� ���
�����6�����	� ��
������ �Einc �� &���	��
� f �� �� �	������� ω = 2πf ���	����
�-�2:��� 1� ����� ��	� ��
���	�� ��� 
����� ��T��
��� �E
�� �� �H
�� ( �-�)�����	� �� Ω C

������6�� ( �-�������	� ��� �-������ ��� 
����� ��
������ − �Einc �� − �Hinc E�� ����� �	� ��

���� ����� � ��� �	�F� 1� ���� �ν �� ������� 	������� �
������ �� ��	� ����� �� Γ�

�!�!� ��	��
���
�� ��������
��


�,�,�,� .����	��� �� !�/0��� ������	����

1� ���#����� ���� �� ������� &���	������ �#�
 	�� ��������
� �����
��� �� ����� �� e−iωt�
7� ���2���� ��������	� �� ��)H��� �)�����	� �-�
��� '



�rot �E − iωµ0
�H = 0 dans �3 − Ω,

�rot �H + iωε0 �E = 0 dans �3 − Ω,
�E ∧ �ν|Γ = − �Einc ∧ �ν|Γ sur Γ,

lim
r→+∞

r

∣∣∣∣√ε0 �E −√µ0
�H ∧ �r

r

∣∣∣∣ = 0

�L ε0 ��� �� ��������#��� �	 #��� �� µ0 �� ������2����� �	 #���� 1� ���� �� �	��� Z0 =
√
µ0/ε0

�-�������
� �	 #��� �� c = 1/
√
µ0ε0 �� #������ �� �����6����� ��� ����� ���
�����6�����	��
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7�� ���	����� �� 
���� ��
���� ���� ���	� �� O�!PC �	�	�� �� ���#��� �� ��
��	� ��	� ��	� ��
�������C ����� �	-( �� ��
���� +��� 1� ���� �j �� �m ��� ���
�� ���6��������� �	 
���� ����� �	� Γ '{

�j = �ν ∧ �Htot,

�m = �ν ∧ �Etot

���� �� 
�� �-	� �������	 ���&�������� 
���	
��	�C �� 
���� �m ��� �	�� 7� 
�	���� ���
����	�
�	�&�
��	� �j ���������� �� ��	� �� �� 
��������� ���6�������� �� �H �	 &���
��������� ��
�-�����&�
� Γ� $�����	�����C 
-��� �� 
�	���� �� 
���	
���� 
��
	���� ���� 	�� �������	� ��
���	 ������� #��� A���� �j �-�)����� �� A/m� �j ��� �� #�����2�� ��
���	� �	 ���2����� 0�
�T��C 
���������� �jC �� ��	� 6�.
� �	 �������� �� �������������� ��� ��	������ �� ��)H���
�� ���	��� �� #���	� ��� 
����� ��T��
��� �E �� �H �� ��	� ����� �� �-����
� ���� Γ '




�E(y) = iωµ0

∫
Γ
G(|y − x|)�j(x)dx+

i

ωε0
�grady

∫
Γ
G(|y − x|)divΓ�j(x)dx y ∈ �3 − Ω,

�H(y) = − �roty

∫
Γ
G(|y − x|)�j(x)dx y ∈ �3 − Ω

�L

G(R) =
eikR

4πR
��� �� &��
���� �� ?���� ���	���� ����������� �� �-��	����� �� @�������A �� ��

∆u+ k2u = −δ0

����
��� ( �� 
�������� �� ��������� ��������

lim
r→+∞

r

(
∂u

∂r
− iku

)
= 0
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���� �������������� 	�� &���	������ #������������� �	 ���2���� ������ ' ��

���
�� �� 
�	���� �	�&�
��	� �j ��� �	� ��	� ��	� 
�	���� �	�&�
��	� �jt ���6��� ( ΓC �� ��� '

∫
Γ

∫
Γ
G(|y − x|)

(
�j(x).�jt(y)− 1

k2
divΓ�j(x).divΓ�jt(y)

)
dxdy

=
i

kZ0

∫
Γ

�Einc(x).�jt(x)dx E
�
F

*���� �
���	�� ��
�	�� �	 	�����	� 
� ������
� 
� ������ O��P� ���� �� ���	�� �L ���� ���
���	� �	 �������� �� �������������� �	 
���� ���
����	� �EC �� ��	� ��	#��� �� �� ����6�� ��	�
�� ��� �-���� ��	� �������� ����
 �������� ������
��

�� �� �D�� �������C �� � �� ���� ��	� �������� ����
 �������� ������
� �	� ��
�	�� ��
�� �������������� �	 
���� ��6�����	� �H '

1
2

∫
Γ

�j(y).�jt(y)dy +
∫

Γ

�jt(y).�ν(y) ∧
(∫

Γ

�gradxG(|y − x|) ∧�j(x)dx
)
dy

=
∫

Γ

�jt(y).�ν(y) ∧ �Hinc(u)dy

0�B�C �B� �-�������� ��� ���2����� �� �������
� ���� ( �-�)�����
� �� #���	�� ������� ��	�
�� ���2���� �������	�C �� ��� 	�	�� �� 
��������� �� &���	������  ��� ��	�  
�����
 ����

�������� ������
�C �	� ��� �� &��� 	�� 
��2������� �������� �-���� �� �� ���� '

CFIE = αEFIE + (1− α)
i

k
MFIE

7� 
���) α = 0,2 ����� 6����������� �� 2��� ���	������ <����� �	� �-���� ��� ��������	�
�� �j �� �jt 
������������ �	) ��	) �	���� &���	�������� $�	� �� �	��� �� 
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������������� ( �-��	����� ����C ��	& ������� ���
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1� 	������ �� ���
���������� �������� ��	� 
� ���� �� ���2����C ( ��#��� 
���� ��  �#����"
������ EO��PFC ����
�	#���� ���� �� 
����)�� �	� ��	� ��������� �
� �	���	�� ������ ��	� ����
���  ��"V�����"?������ EO��PF� 1� ������
� ��	� �-�2��� �� �	�&�
� ������ ��� 	�� �	�&�
�
���������	� 
������� �� �����6��� &������ 	�� �����6	������� % 
���	� ��D�� Ai ���� ����
���
	� ��6�� �� ��2���� λi �� 	�� &��
���� �� 2��� �ϕi� 1� ���� ndl �� ���2�� �-��D��� �� �� ��6��� ��
��2����� 7� �	����� �� �ϕi �� ��������� �	) ��	) �����6��� T �� T ′ �����6���� �-��D�� Ai� *���	�
��D�� ��� E��2�����������F �������� ��� 	� R ���� S �� �����6�C ���� ��� �)����� T → T ′C �	�
��������� �� ������� 	������� ( �-��D�� �ni� 7� ��6�� �� ��2���� λi ��� �6�� �	 U	) �� �� &��
����
�� 
�	���� �	�&�
��	� E���6������F �j ( ���#��� �-��D�� Ai ����� �������� '

λi =
∫

Ai

�j(M).�ni(M)dM

3	� �� �����6�� T C �� ���� S �� ������ ������ ( Ai� 1� � '

�ϕi(M) =
−−→
SM

2.|T |
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7� &��
���� �ϕi ��� ���
 #�
��������C ���� �� ���� �	 �����6��C �9��C �� U	) �	� ( ���#���
��� �	���� ��D��� ���	�� ��� ������� S �� S′ E�ϕi � ��� ���6����F �� �� U	) 
 ( ���#��� �-��D��
Ai E6�.
� ( �� ������������� ��� 2.|T |F� 7� B6	�� 
�� ���	���� 
�� �����������

S

Ni

T
Ai

T�

S�
���� 
�� I !� "
����
� 
� ���� �ϕi ��� �� �������� T

3�������	����� �	� T ′C �� ���� S′ �� ������ ������ ( Ai� 1� � '

�ϕi(M) = −
−−→
S′M

2.|T ′|

7� U	) �� �ϕi ( ���#��� �-��D�� Ai #�	� ��	:�	�� +1 E�� ���#����� �� �-��D�� ����� �������� ���
�niF� 7� &��
���� �j ���� ��
���
��� ���� �-����
� �-������� B�� ��	� �� &���� '

�j =
∑

1≤i≤ndl

λi�ϕi

�!�!$ �������
�� �����
��


�,�,�,� .��	���� ����	�	����

1� ������� �� &���	������ ����6���� E
�
F� 1� 
���
�� ���
 �j ����� �	� ��	� ��	�� &��
����"
���� �jt �� ��� ' ∫

Γ

∫
Γ
G(|y − x|)

(
�j(x).�jt(y)− 1

k2
divΓ�j(x).divΓ�jt(y)

)
dxdy

=
i

kZ0

∫
Γ

�Einc(x).�jt(x)dx

���� 
���� ��	�����C �� 
���
�� �j ��	� �� &����
∑

1≤i≤ndl
λi�ϕiC �� �� ����� ��	� &��
����

���� 	�� ��� &��
����� �� 2��� �jt = �ϕj � <����� �	� 
� 
���) ��� �� ��	� 
�	���� ���� 
� �-���
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��� �� ��	� �����2��C �� ��	����� �6������� ������� �jt = �ϕj ∧ �ν �L �ν ��� �� ������� ��������
E#��� O�!PF� 1� 
���
�� �� #�
��	� (λi)1≤i≤ndl

��� �	� ��	� ��	� 1 ≤ j ≤ ndl �� ��� '

∑
1≤i≤ndl

λi

[∫
Γ

∫
Γ
G(|y − x|)

(
�ϕi(x).�ϕj(y)−

1
k2
divΓ�ϕi(x).divΓ �ϕj(y)

)
dxdy

]

=
i

kZ0

∫
Γ

�Einc(x).�ϕj(x)dx

1� ��� B�������� ����� ( ����	��� 	� ������� �������� �� ndl ��	������ ( ndl ��
���	��
�� �� &����

A.λ = b

�#�
 ��� ������ �����
���� �� #�
������� �	�#���� '


Ai,j =
∫

Γ

∫
Γ
G(|y − x|)

(
�ϕi(x).�ϕj(y)−

1
k2
divΓ�ϕi(x).divΓ�ϕj(y)

)
dxdy,

bj =
i

kZ0

∫
Γ

�Einc(x).�ϕj(x)dx

1� �����	#� �� &��� �	� �� &���	������ ���� ��� ��������	� E��� �����������F ' Ai,j = Aj,i�
<����� �6������� �	� ��� ����6����� ��	2��� ���� �� ��B������ �� Ai,j �� �������6���� �	 �	�����
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 ���������� ��� ����6����� '∫
y∈Γ∩C′

∫
�s∈S

[
TL

�MM ′(�s)
(∫

x∈Γ∩C
eik�s. �xMf(x)dx

)]
eik�s. �M ′yg(y)d�sdy E
�+F

1� #��� ������M��� ����� ������ ���� �� 
��
	� �� 
���� &���	�� '

��	�	��	���	�� * �� 
��
	�� �� &��
���� FC ��B��� �	� �� ������ 	���� S ��� '

FC(�s) =
∫

x∈Γ∩C
eik�s. �xMf(x)dx E
��F

FC �� ������ �	� �	 
�	���� f C �� �� 
���	�� C �� �� ��� 
����� M � 0��� ���������� �-��"
U	��
� �	 ������� Γ∩C �	� �-�)�����	�� FC ���� ���&��� ������� R &��
���� �-�������� S
�� C� �-	�� ������� 6�������C ��� &��
����� ��B���� �	� S 
���� FC ������ ��������
R &��
����� �� ��������� S�

7�������� * �� �	������� �� &��
���� FC ��� �� &��
���� �� �����&��� TL
�MM ′ � 7� ����	�� ��"

�	����� ��� ��	:�	�� 	�� &��
���� ��B��� �	� SC ���� ���������� �-�
���� ��� 
�	����� f
������ ��� Γ ∩ C �	 ����� M ′ �� �-����
��

���
'���	�� * �� ������� �� 
��
	� �� ����6���� �� ���	���� �	 �����&��� ( �� &��� �	� S �� �	�
Γ ∩ C′ ' ∫

y∈Γ∩C′

∫
�s∈S

[
TL

�MM ′(�s)FC(�s)
]
eik�s. �M ′yg(y)d�sdy

�,�,�,� 7��������� �� �	���
�	���	��

�,�,�,�,� 7��������� �� �� �����	�� �� ��������� 1� #� ������ �-	������� �� &���	��
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���������� �	 ����	 E
��F ���� �� 
��B6	������ �� �� B6	�� 
�+� $�	� 
���C �� ��� ��	�
�-�2��� ��
������� �� 
������ L ���� �� ����� ��B������� �� &��
���� �� �����&��� E
��F�

1� � ���
 ��	) 
���	��� C �� 
����� M C C′ �� 
����� M ′ �� ��	) ������ x ∈ C �� y ∈ C′�
1� ���� '
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{
�r0 = �MM ′,

�r = �xy − �MM ′ = �xM + �M ′y
E
�!F

1� � ���
 �xy = �r + �r0� 7� #�
��	� �xy �� ��
������ 
���� �� ����� �	 #�
��	� �r0
������� ��� 
������ ��� 
���	��� �� �	 #�
��	� �r 
������	��� �� R �����	�� S� 1� 
���
�� ( 
��
	���
�� ����	 �� ?���� G(|�r + �r0|) ( ������ �� �� &��
���� �� �����&��� TL

�r0
� <�	� ������� �
� 	�

���	���� ������B� E���� �� O
�PF ���� 
����
� �� �������� �����)�������C �	� ��	� ������������
	������	������� 3�	� �� 
�������� '

|�r|
|�r0|
≤ 2√

5
E
�
/F

�� ��	� �� 
�������� �� ������� L = k|�r| ������ ���� �� ����� �� �� ����� E
��F ��	� �2�����
�� 
��#��6��
� E7� �������� L = k|�r| ��� 	� ��

�	�
� ��	� L = �k|�r|� �L �x� ����6�� �� ������
������� �� xF� ���� �� ������	�C 
���� #���	� �� L �-�#��� 
��#���2�� ��	� ��� #���	�� �� a
�	�����	�� ( 2λC ���� 
���	�� ( 	�� ��� ��	 ���
��� �� �����	�� $�	� 	�� ������� ���
��� (
10−3 E���� 	� �
��� ������& �� 10−3 ����� ��� ����	��� �����
�"#�
��	� 
������	�� �� �	����=���FC
�� ��	� ������� ��� #���	�� ���������� ���� �� ��2�� 
�
�

a L

λ/4 �
λ/2 
�
λ �/
2λ ��

���� 
�
 I 0�������
�� 
� ������� 	
�� a �� L

���� �� 
�� �-	� ��
�	��6� �� Γ ��� 	�� 6����� 
	2��	� �� �-��D�� aC �� � '

|�r| ≤
√

3a E
�

F

���
 E
�
/F ���� #���B�� ��� �	� '

|�r0| ≥
√

5
2
.
√

3a ≈ 1,9a

*���� 
�������� �)
�	� ��	��� ��� 
���	��� C′ ����� 	�� &�
�C 	�� ��D�� �	 	� ������ ��

���	� �#�
 CC �	���	-�� � ����� |�r0|/a �	� #�	� 1 ���� �� ������� 
��C

√
2 ���� �� ��
��� ��√

3 ���� �� ���������� 8��� �J� C′ = C ��� �6������� �)
�	�
1� �	���B��� ��������� �� �
������ ��	) 
���	��� ����� �	 ����� 	� ������ 
���	�� 1�

#���� ���
 �� #��� �	� '

I 3� C �� C′ �� ���� ��� #�������C �� ����� E
��F ��	� D��� �����	�� �	 ���6 L = k|�r|� 1�
��	� ����� 
��
	��� �-������
���� ����� Γ ∩ C �� Γ ∩ C′ ( ������ �� E
�+F�

I 3� C �� C′ ���� #�������C �� �� ��	� ��� �����	�� �� &��
���� �� �����&���C �� ��� ���

�2��6� �� 
��
	��� �� ����� E
��F 
������	����� E
&� ��
���� 
�
���
F�

1� ������ ��� �� �	��� v(C) �-�����2�� ��� 
���	��� #������� �� C�
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�,�,�,�,� #	���
�	���	�� �� �� ������ ��	�
 L ����� ��������� B)�C �� � 2����� ��

��
	��� �-����6���� �� �	�&�
� �	� S ��B��� ��� '∫

�s∈S
eik�s.�rTL

�r0
(�s)d�s

7�� &��
����� L2 �� S ��� 	�� 2��� ���	����� �	� ��� 
���� ��� ��������	�� �������	��C
����� '

(Yl,m)l≥0, −l≤m≤l

$�	� 	�� ������������ 
������� ��� ��������	�� �������	�� �� �� ��	� ���2��	��� ���"
�������C �� ��	��� �� ��&���� ( O�!P� 7� &��
���� TL

�r0
���������� ( �-����
� ��6����� ��� ���

��������	�� �� ���6 l ≤ L ' �� ��� �	-���� ��� �� ���6�	� �� 2���� L�
1� �� ����� eik�s.�r �� ��#������ �� ����� '

eik�s.�r =
∑
l≥0

(2l + 1)ilj(1)l (k.|�r|)Pl(cos(�s,�r))

�� �� �D�� ������� �	� �-�� ���D�� �� ����� �� �� &��
���� �� �����&��� TL
�r0
�	 ���6 LC ��

�������� �	� �� ����� eik�s.�rTL
�r0
��	� D��� �����	�� �	 ���6 L �#�
 	�� ����	� �	 �D�� ������

1� ���	�� �	 ���	���� ���
����� �	� �� &��
���� ����6��� TL
�r0
eik�s.�r ��� �� ���6�	� �� 2���� 2LC


-��� ( ���� �	-���� ��	� �-�
���� '

eik�s.�rTL
�r0

(�s) =
∑

−l≤m≤l

0≤l≤2L

Al,mYl,m(�s)

�� ��	� &�	� ���	#�� ��� ������ �� �	�����	�� �sp �� ��� ����� ωp �	� ����6���� �)�
������
��� ��������	�� �������	�� Yl,m(θ,φ) �#�
 0 ≤ l ≤ 2L �� −l ≤ m ≤ l�

7� 
���) �� ��	� ������ ��� �� ������� ��	� ������ �-����6������ 	�� ������2	���� 	��&����
�	� θ �� �	� φ ' 


θi = π

i+ 1/2
2L+ 1

0 ≤ i ≤ 2L,

φj = 2π
j

2L+ 1
0 ≤ j ≤ 2L
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��� �	) ����� �-����6������ ����	��� E������ ��� E
��
FF�
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���� �	������ 
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����� 7� 
���) &��� �
� �-��� ��� �������C

���� �� ��� �� ��	� ������ ( �����������C �� ��� �	9���� �� �������� �����
���
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���	�����	�

1� � ��������� ��	� ��� �������� ��	� �������� 	� ����	�� �����
�"#�
��	� �	����=�� ( 	�
��#��	� 1� �� ����� 	� 
�	���� �	�&�
��	� �t �� ������C �� 	� ��
�	��6� �� Γ ( ���#��� 	��
6������ 7� ����	�� A.t �� ������� �� ��	) ������� '

��������	��� ������� * ��	� ��	� 
���	�� C′ B)��C �� ��	� ��	�� &��
���� �� 2��� �ϕj ��
������
���� C′C �� ����� �� ��#	� ��� 
���	��� C #������� �� C′ ��	� 
��
	��� �� ������� 
������	�
�� ����� �-������
���� '∑

C∈v(C′)

∫
x∈Γ∩C

∫
y∈Γ∩C′

G(|y − x|)f(x)ϕj(y)dxdy E
�
�F
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f ��� �-	�� ��� 
���������� �� �tC �	 2��� divΓ(�t)� ϕj ���������� �-�)�������� 
��������"
����� ��	� �ϕj � 7� ���	���� �� 
���� ����6������ 
������	� �� ������ R ������
���� ���
�� S
�� �� :"���� 
��������� �	 #�
��	� A.t�

���� 
�� I ���������
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���� ��� �� )����� )&*+

*���� ������ �	 
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	� ��� ���	����� �	� �� B6	�� 
�� ���� �� 
�� �-	� �#���� 3� C′ ��� �� 2�M��

������� E���� �-�������
���� �#�
 �� ������6� ��� �� 2��	FC �� 6����� 2�M��C �� �� �������
��	6� �	 ������6�C 
������	��� �� A��� #������ �	� ������6��� �#�
 C′ #�� �-��	����� E
�
�F�

��������	��� (�	���	��� * �� 
��
	� �� &��� �� ����� �������

�, ��	�	��	���	�� * ��	� ��	�� 
���	�� CC �� 
��
	�� �� &��
���� �� ���������

FC(�s) =
∫

x∈Γ∩C
eik�s. �xMf(x)dx E
�
�F

�� ��	� ����� �s �� ����� �	�����	�� �� S�
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7� B6	�� 
�! ���	���� �� &��� �	� �� 
��
	� �-	�� &��
���� �� ��������� FC �� ������� (
������ ��� ��	�� 
�	����� �	�&�
��	�� 
�����	� ���� Γ∩C� <����� �	� 
�� 
�	�����C
���	� �	 #�
��	� �t ����� �� ������ �	 ����	�� �����
�"#�
��	�C ��� 	� ���� �����"
�����	� ���� �-�	���� ��� �� ���� ������	� ���� �	� �� ���#�	� �������& �-�	�� ���

��#��6��

�, 7�������� * ��	� ��	�� 
���	�� C′ B)��C �� ����� �� ��#	� ��� 
���	��� C ���"#������
�� C′ ��	� 
��
	��� '

GC′(�s) =
∑

C /∈v(C′)

TL
�MM ′(�s).FC(�s) E
�
�F

�� �� �D�� ������� �	� FC ���������� �-��U	��
� �	 ������� Γ∩C �	� �-�)�����	�C
�� &��
���� GC′ ���������� �-��U	��
� �� �� ������ �� Γ ���� �� C′ �	� Γ ∩ C′�
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�
/C Γ ∩ C′ ��� ���
� �� 2��	 ������ �	� �� ������� ���"#������ �	
������6� ��� ���
�� �� ��	6��

�, ���
'���	�� * ��	� ��	�� 
���	�� C′C �� ��	� ��	�� &��
���� �� 2��� ϕj ��
������ ����
C′C �� 
��
	�� �-����6���� '

ik

16π2

∫
y∈Γ∩C′

∫
�s∈S
GC′(�s)eik�s. �M ′yϕj(y)d�sdy E
�
�F

7� ���	���� �� 
���� ����6������ 
������	� �� ������ R ������
���� ��������� S �� ��
:"���� 
��������� �	 #�
��	� A.tC �� �� ��:�	�� ��	� ���	��������� ( �� ������
R ������
���� ���
�� S�

�!�!� �����&��	
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�
��
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���� 
���
C ��	� �#��� ����� ��� ����
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�"#�
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�"����	� ��	� '

I �����	�� �� 
�����)���C

I ��������� �� ������� �6������� ��� &���	������� ���� ��  ����

�,�,�,�,� �����	� ����	�)�� . �. 8 � ������ 1� �� ����� 	� 
�	���� �t�  ��������
�	-	� ����	�� �����
�"#�
��	� ���� 
������� ( 
��
	��� ��	� ��	�� &��
���� �� 2��� �ϕj ��
�	������ '

∫
Γ

∫
Γ
G(|y − x|)

(
�t(x). �ϕj(y)−

1
k2
divΓ�t(x).divΓ �ϕj(y)

)
dxdy
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���	�� ���� � 
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� ��� &��
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∫
x∈Γ∩C

∫
y∈Γ∩C′

∫
�s∈S

eik�s. �xMTL
�MM ′(�s)e

ik�s. �M ′yd�s

(
�t(x). �ϕj(y)−

1
k2
divΓ�t(x).divΓ �ϕj(y)

)
dxdy

E
�
�F
1� �-��������� ���
�B�	����� �	 ����� �� ��#��6��
�C �� �� ��������� ��� ����6����� '∫

�s∈S

(∫
x∈Γ∩C

eik�s. �xMdivΓ�t(x)dx
)(∫

y∈Γ∩C′
eik�s. �M ′ydivΓ �ϕj(y)dy

)
TL

�MM ′(�s)d�s

1� ������� 	�� ����6������ ��� ������ �� x ���� �� �������� ����������C �� y ���� �� ��
�����
7�� 
�	����� 
��������� ���� �� U	) �	� �	� �� 2��� �� ΓC ���
 �� Γ ��� ��6	����� E
� �	� �-��
�	����� ���������FC �� �-� � ��� �� ����� �� 2��� ���� 
�� ��	) ����6������� ��� ������ E�	�
�� 2��� �� Γ ∩ CC ��� 
�	����� ������ �	��� �� U	) �	� ' �� ���
����� 
� ����� �	 ����6�����

�������
F� 1� �2����� '



∫
x∈Γ∩C

eik�s. �xMdivΓ�t(x)dx = −
∫

x∈Γ∩C
eik�s. �xM (−ik�s).�t(x)dx,∫

y∈Γ∩C′
eik�s. �M ′ydivΓ �ϕj(y)dy = −

∫
y∈Γ∩C′

eik�s. �M ′y(ik�s). �ϕj(y)dy
E
�
+F

3� �� �����
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��� ���� E
�
�FC �� ����� '

∫
x∈Γ∩C

∫
y∈Γ∩C′

∫
�s∈S

eik�s. �xMTL
�MM ′(�s)e

ik�s. �M ′yd�s
(
�t(x). �ϕj(y)− �s.�t(x)�s. �ϕj(y)

)
dxdy

% ������ �� �(C ��	) �������� ���� �����2����

����	��� �
����� * ��	� �2�	��� ( 	�� &���	������ �	����=�� ���� ( � ������C �� �	9�
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�t. �ϕj − (�s.�t)(�s. �ϕj) = �t. ( �ϕj − (�s. �ϕj)�s) E
��/F

���� 
� 
��C 
-��� �� ����� �-����6������ E
�
�F �	� ��#���� '

���
'���	�� * ��	� ��	�� 
���	�� C′C �� ��	� ��	�� &��
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(
�t− (�s.�t)�s

)
. ( �ϕj − (�s. �ϕj)�s) E
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�
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�, ��	�	��	���	�� * ��	� ��	�� 
���	�� CC �� 
��
	�� �� &��
���� �� ���������

�FC(�s) =
∫

x∈Γ∩C
eik�s. �xM�t(x)dx

�� ��	� ����� �s �� ����� �	�����	�� �� S� $	�� �� ����� �	) 
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(FC)θ(�s) = �FC(�s). �sθ(�s),
(FC)φ(�s) = �FC(�s). �sφ(�s)
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�	� �� �����&��� E
�
�F ���������� �	� ��� ��	) &��
�����
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'���	�� * ��	� ��	�� 
���	�� C′C �� ������� �� �������� 
���������� (x,y,z) ��	� ��
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���� �� ��������� GC′ '

�GC′(�s) = (GC′)θ(�s). �sθ(�s) + (GC′)φ(�s). �sφ(�s)
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�
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∫
Γ

�t(y). �ϕj(y)dy +
∫

Γ
�ϕj(y).�ν(y) ∧

(∫
Γ

�gradxG(|y − x|) ∧ �t(x)dx
)
dy

1� #� �-��2��� =��� �� ������� �����
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Γ
�t(y). �ϕj(y)dy �	� ���� &��
����� ������ ���� ��
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�gradx
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∫
�s∈S

∫
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�ϕj(y).�ν(y) ∧
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eik�s. �M ′y�s ∧

(
TL

�MM ′(�s)
∫

x∈Γ∩C
eik�s. �xM�t(x)dx
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dyd�s

E
���F
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�a.(�b ∧ �c) = �c.(�a ∧�b) E
���F

���� E
���FC �� ����� �a = �ϕj(y)C �b = �ν(y) �� �c �� ����� ����� 
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eik�s. �M ′y�s ∧

(
TL
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���� �� ���������
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∫
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eik�s. �xM�t(x)dx
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�GC′(�s) =
∑

C /∈v(C′)

TL
�MM ′(�s). �FC(�s)
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'���	�� * ��	� ��	�� 
���	�� C′C �� ��	� ��	�� &��
���� �� 2��� �ϕj ��
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�s∈S
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α
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�t(x). �ϕj(y)−
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k2
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���	��� C ���"#�������
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�s∈S

eik�s. �M ′y
[
α
(
�GC′(�s). �ϕj(y)
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∑
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∑
l≥0

(2l + 1)(−1)lh(1)
l (k.|�r0|)jl(k.|�r|)Pl(cos(�r,�r0)) E
���F

7� ����� �	� ������M� �-������� ����� �� ?�6��2�	��� *-��� �� 
��#��6��
� �	� ��������� ��

���) �� L� 7� �	:�� &��� ��
��� �-�2:�� �� ��
���
��� ( 
� :�	�� ���� �� 
���� �� ����� �����"
���������C ��	� �#��� 	������ 	� ���	���� �)����� �� O
�P �� ������ ���� O
�P� *���� �����������
�9��� �	� ��	� �����#� �	� �r �� �r0 #���B��� '

r0
r
≥
√

5
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�� ����	��� �� ���������	
� �� �� ����
��

����� ∀ε < 1C �� ��	� ���	#�� � 
��������� C1C C2C C3 �� C4 ������ �	� L = C1 + C2kr +
C3 log(kr) + C4 log(ε−1) ���� 	� ���2�� �	9���� �� ������ ���� E
���F ��	� ���	��� 	��
����	� ��&����	�� ( ε '∣∣∣∣∣∣

∑
l≥L

(2l + 1)(−1)lh(1)
l (k.|�r0|)jl(k.|�r|)Pl(cos(�r,�r0))

∣∣∣∣∣∣ < ε

1� � ��:( #	 �	� �� 
�������� r
r0
≤ 2√

5
����� #���B�� �	�������	����� ��	� ��� 
���	��� ���"

#������� �� ����� 6������ *� ���	���� ��	� ���	�� ���
 �-�)�����
� �-	�� ����
��	�� 
��#���2���
���� �� ������	�C 
-��� 	� ����� �	� ����	�� ���� �������	�� 7� &���	�� �	�#���� ����� ��
2��� ���	�����C �#�
 	�� ����	� ε �� ������� �� �-����� �� 10−3 '

L =
√

3ka+ 7,5 log10(
√

3ka+ π)

1� ���� a �-��D�� ��� 
	2�� �� �� 6������ 1� ��#������ ���� �� ��
���� ��� �	� �� 
���) �	 ���2��
�� �=��� �T�
��#����� �����������

�,�,�,�,� #	���
�	���	�� �� �� ������ ��	�
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	��� �� ����	 �� ?���� #�� �� &���	�� '

G(|y − x|) =
ik

16π2

∫
�s∈S

eik�s.�rTL
�r0
(�s)d�s

�-����� O�!PC �� � '

Pl(cos(�s,�r0)) =
4π

2l + 1

∑
−l≤m≤l

Yl,m(�s)Y ∗
l,m(

�r0
r0

) E
��+F

�L Y ∗
l,m ����6�� �� 
�����)� 
��:	6	� �� Yl,m�
7� &��
���� �� �����&��� E
���F ��	� ���
 �-�
���� '

TL
�r0

(�s) =
∑

0≤l≤L

∑
−l≤m≤l

[
4πilh(1)

l (k.|�r0|)Y ∗
l,m(

�r0
r0

)
]
Yl,m(�s)

TL
�r0
��� ���
 �� ���6�	� �� 2���� B���� ���� �� ���	�� �L �-�� ���� ����6��� 
� ���� ��

&��
���� �	� SC �� #�	����� �2����� �� �D�� ��������� ��	� eik�s.�rTL
�r0
(�s)�

1� � 	� ��#���������� ��	� eik�s. �r0 ����A ���
�� �� �-�)�������� �� TL
�r0
'

eik�s.�r =
∑
l≥0

(2l + 1)iljl(k.|�r|)Pl(cos(�s,�r)) E
���F

�L jl ��� �� &��
���� �� 8����� �������	� �� ���6 l�
7( ��
���C ��� ��#����������� �2���#�� �	��	� �� 
� ���2���� ���� &�������� �������	���

1� ��	� ��������� ��������� �� ����������� �	�#���� E���	� �� O
�P ��	� 	�� &���� ��6�������
��T������F '
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∀ε < 1C �� ��	� ���	#�� � 
��������� D1C D2C D3 �� D4 ������ �	� K = D1 + D2kr +
D3 log(kr) + D4 log(ε−1) ���� 	� ���2�� �	9���� �� ������ ���� E
���F ��	� ���	��� 	��
����	� ��&����	�� ( ε ' ∣∣∣∣∣∣TL

�r0
(�s)


∑

l≥K

(2l + 1)iljl(k.|�r|)Pl(cos(�s,�r))



∣∣∣∣∣∣ < ε

$�	� 
��
	��� eik�s.�rTL
�r0

(�s)C �� ��	� �� 
�������� �� ������� K ������ ���� E
���F� 0�

	�������� E
��+FC �� �� ���	�� �	� eik�s.�rTL
�r0

(�s) ��� 	�� &��
���� �� ���6�	� �� 2���� L+K E(
	�� ����	� ε ����F� ���� �� ������	�C �� ����� K = L�

�,�,�,�,�,� "��	�� ��� ����'�� 1� �-��� ���
 ������ �	 ���2���� �	�#��� ' ���	#��
	�� �	�����	�� (�sk,ωk)k∈I �� S ����6���� �)�
������ ��� &��
����� �� ���6�	� �� 2���� 2L ��
�� &���� '

∑
−l≤m≤l

0≤l≤2L

Al,mYl,m(�s)

7�� &��
����� �� ��������� FC �� GC ������ 
���	�� 	���	����� ��� ��	�� #���	�� �	� 
����
6����� (�sk)k∈I � 0� ���������� �� ���2�� �� ������ �� 
���� �	�����	��C �� 6�6�� ���
 ( �� &���
�� ������� 
�������� �� �� ����� �� 
��
	�� *-��� 	� ����� 
�	
��� ��	� �2����� 	� 
���
>�� ���&������� 1� 
���
�� ���
 	�� �	�����	�� �#�
 �� ����� �� ������ �����2��C 
���2��
�-����6��� �)�
������ 
��
	�� ��� &��
����� Yl,m �#�
 l ≤ 2LC ���� �� #���B�� '

∑
k∈I

ωkYl,m(�sk) =
∫

�s∈S
Yl,m(�s)d�s = δm,0δl,0

√
4π E
��!F

0� �T��
∫
�s∈S Yl,m(�s)d�s ��	� D��� #	 
���� �� ����	�� �
������ �� Yl,m �� ��

√
4πY0,0 E�	�

#�	� 1F� 7� 2��� ��� ��������	�� �������	�� ����� �������������C 
� ����	�� �
������ ����
��	:�	�� �	�C ��	& �� (m,l) = (0,0) ��	� ����	��� �� #�	���

√
4π�

�� ��	�C �� 
�������� E
��!F ��	� (m,l) = (0,0) �-�
��� :	��� '∑
k∈I

ωk = 4π E
��/F

*� 4π ��� �� �	�&�
� �� S� 1� �	������� 
��� #���B� ��	� �� �-���������� �	-�	 
�� (m,l) 
= (0,0)�

�,�,�,�,�,� #	���
�	���	�� 3��	���  �������� �	� Yl,m ��	� �-�
���� '

Yl,m(θ,φ) = Cl,mP
m
l (cosθ)eimφ

�#�
 �� 
��������

Cl,m =

√
2l + 1

4π
(l −m)!
(l +m)!

7�� #����2��� θ �� φ ����� �������� ���� Yl,mC �� #� 
���
��� ��� ������ �sk ��	� �� &����
�-	�� 6����� (θi,φj)C �� ��� ����� ωk ��	� �� &���� �� ����	��� ωθ

i .ω
φ
j � $�	� (m,l) 
= (0,0)C ��


�������� E
��!F ��#���� '
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∑
k∈I

ωkYl,m(�sk) =
∑
i,j

ωθ
i .ω

φ
j P

m
l (cosθi)eimφj

=

(∑
i

ωθ
iP

m
l (cosθi)

)
∑

j

ωφ
j e

imφj




= 0

3���� φC �� &�	� �#���
∑

j ω
φ
j e

imφj = 0 ��� �	� m 
= 0C �#�
 −2L ≤ m ≤ 2L� 1� 
������ 	��
������2	���� 	��&���� ( 2L+ 1 ������ �	� [0,2π] '


φj =

2π
2L+ 1

j 0 ≤ j ≤ 2L,

ωφ
j =

2π
2L+ 1

1� �2����� �� �T�� �� ����� �-	�� �	��� 6��������	� '

∑
0≤j≤2L

ωφ
j e

imφj =
2π

2L+ 1

∑
0≤j≤2L

(eim
2π

2L+1 )j =
2π

2L+ 1
1− (eim

2π
2L+1 )2L+1

1− (eim
2π

2L+1 )

�	� #�	� 0 �� m 
= 0� 3� m = 0C 
���� ����� #�	� 2π
3���� θC ���� �� 
�� �L m = 0C �� &�	� �#���

∑
i ω

θ
i Pl(cosθi) = 0 ��� �	� l 
= 0� 3� l = 0C

�� &�	� �	� 
���� ����� #����� � E�B� �� #���B�� E
��/FF� $�	� ����6��� �)�
������ ��	� ���
�����=��� �� ��6�� ��&����	� �	 �6�� ( 2LC �� ��	� ������ ��� �� ������� 	�� ������2	����
	��&���� ( 2L+ 1 ������ �	� [0,π] '

θi =
π(i+ 1/2)

2L+ 1
0 ≤ i ≤ 2L

E1� ��:�	�� 1/2 ��	� �#���� ��� ��	) �=��� θ = 0 �� θ = πF� 7�� ����� ���� �2���	� �� �����#���
�� ������� �������� �-����� 2L+ 1'∑

0≤i≤2L

Pl(cosθi)ωθ
i = δl,02 ∀l = 0, . . . , 2L E
��
F

0� ���	��C �� � 
������ 2L+1 ��6��� φ �� 2L+1 ��6��� θ ��	� ����6��� �)�
������ ��	���
��� ��������	�� �������	�� �� ��6�� ��&����	� �	 �6�� ( 2L�

�,�,�,�,�,� #	���
�	���	�� ������� 7� ���
���������� ���
������ ��� 
����� �� ��	�
������C ���� ���� �-��� ��� �� ��	� 	��������

0� �T��C 	�� &���	�� �� ?�	��"7�6����� ( L ������ ������ �-����6��� �)�
������ ��	� ���
�����=��� �� ��6�� ��&����	� �	 �6�� ( 2L − 1� 7� ������ �� 
� 6��� ��� �	� �-�� �� 
������
��	� ��� ������ θiC �� ������� ��	� ������ ( �� &��� ��� ������ �� ��� ������ 1� ���	#��� 	��
���
������� �� �� ������� 	������� �
� ���� O�+P�

0� ��	) ����C #��
� 
������ �� ���
��� '

� 1� �����2�� �� �����
� ������6����� T �� ������ L× L ��B��� ��� '


Ti,i = 0 i = 1, . . . , L,

Ti,i+1 = Ti+1,i =
i√

4i2 − 1
i = 1, . . . , L− 1
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 �� &��
���� ����� �� 7���
; O�+PF�

�� 1� �)����� ��� ������ �� ����� �� �	�����	�� '{
cos(θi) = λi,

ωθ
i = 2(Vi)02

�L (Vi)0 ��� �� �������� 
��������� �	 �"��� #�
��	� ������ Vi�
���� ����� 
��C �� ��	� &�	� ������� L+ 1 ������ �-����6������ 
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�������� ������������� �-�������� �� ���2�� �-��6��� φ
�	 �	������ �� 2 �	 �� 4 �	�����	��

�,�,�,�,�,� #	���
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( (L + 1).(2L + 1) ������� 0��� �-��� �� 6������ ��� ��������� $�� �)�����C �
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∫
x∈Γ∩C

eik�s. �xMdivΓ�t(x)dx = −
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E
���F

�� �� �-�6�� ��� �
�C 
������������ �	 ����6����� ���
�����C �� 
������ d ��	� ���������
�� ���2�� �-����������C �	���	-�� ���	#����� �	�������	����� d = 0 E���� ��� �-��
���	��YF�
���� �� 
�� 
������	� E���� ������� �	����=��FC �� 
���) �� d &��� �-�2:�� �-	� 
�������� �����
�� ���
����� E�	� 
��M� �#�
 dF �� �� ����� �� 
��
	� E�	� 
��M� 
���� d4F� 7� #���	� 
������
��� �� 6������ 
������� ����� d = 6 �� d = 10� �� ����#� �6������� �	-�� &��
���� �	 ���	����
��
����� 
�������� ������� �	 ������6� ������ ��	� B������ �������� �	� �-�	���� Ed = 10 ���
�������C d = 2 ( �-�	���� ��������F �

�
�C �� �	�
�J� ��� ( �-�	6��������� �� d ��� �������� ���� �� &���	�� E
���FC �� #��� �����
����� �� ��������
� �� d '

I 0� d4 ' 
� ���� ��� ������
����� ���
����
I 0� d2 ' 
� ���� ��� ��������������� �� ��� ����6��������
I *������� ' 
� ���� ��� ������ �� �����&����
1� ��� ������ �� �����&��� ���� ��� ��	� 
������ $�� 
�����	���C �� ��	� �� ��������� ��

&���� #����� d :	��	-( ��� #���	�� �� �-����� �� 15 �	 20 ���� �	�
�J� �)
����&� 1� ��	� �	���
E�� 
-��� �D�� ��
�������F ������� 	��&�������� ��	�� �� �	�&�
� �� �-�2:�� �#�
 �� �D��
#���	� �� d� *��� ��	� �#���� �� �� ���	#�� ���� �� ���	����� ��
���� �	� �� B6	�� 
�
�� <�	�
��#�������� �	� 
� ����� �	 ����6����� ������

�,�,�,�,�,� .���� �� �����	�� �� �� ���'���� �&���� %���� �#��� 6����� 	�
������6� 
�����)�C �� ��	����� �-	������� ��	� &���� ��� 
��
	�� ( ��	���	�� &���	��
��� $��
�)�����C �� 
� ������6� 
������� 
/ ������ ��� ���6	�	� �-���� ��	� 	�� 
������� &���	��
�
f C �� ��	��� �-	������� ���� ���2���� �� ���
����� ��	� &���� ��� 
��
	�� �	) &���	��
�� f ′ ∈
[0,8.f ; 1,2f ] C �	���	-�� �	�� ��	:�	�� ����� � �� 
� ������ ��� ���6	�	� �-����� 1� ����
α ∈ [0,8; 1,2] �� 
��9
���� �� #�������� �� �� ���6	�	� �-����� ���� E
���FC λ �� d ���� ���"
���
�� ��� αλ �� αd E�� ����� ����� �	� �� ������ ������� ��� ��D��� λ/d I �	� ��� 	�� ������
�	 ������6� I ����� ��
���6�F� 1� �2����� �� ���2�� ����� �-���������� �� &��
���� �� α '

ftotal(α) =
2
√

3|Γ|
λ2

[
18
√

3a2d4α2 + 1872π2a2d2 − 64
√

3π2

α2
+

64π2
√

3|Γ|
λ2a2α4

]

3� �� ������� �� α = 1C �� �	6����� α E
-���"("���� �� �� &���	��
� �����	� �� �� ���2�� ��
������ ��� ���6	�	� �-���� �	6�����FC �� 
�J� �� �� ������ ������
����� ���
��� 
��M� 
����
α2 ������ �	� �� ������ �	������ >�� #��� ��� 
�J� �����	�� �� α−2 �� α−4� ?��2�������
�� 
��
	� ���� ��6������� ��	� ������� 3� α �����	� ��"�����	� �� 1C 
-��� 2��� �J� �� 
���������
*��� �� ����� ��� �� 
����� �� ��
������ �� ��
��
	��� �� �����
� ��� ������
����� ���
����


�� ������
 ����	��	�
��

�!�!� ��
�

� ���%�� � ������ ' � �
%
��(

*���� �� �-� &��� ���� �� ��
���� 
����
��� ( �� ��� ����"��#��	C �� #� ��������� ��
������� �	���"��#��	 ���� 	�� #������ 2����	�C 
� �	� ��	� ��������� �-�#��	�� ��� 
��
����
&���������	) ���� 	�� ������#� ������
����



�� ����	��� �� ���������	
� �� �� ����
��

�,�,�,� ��	��	�� �� 3���

7-���� �� 2��� ��� �-������	�� 	�� �����
�� 
���
�,��
,�
����� ( �� ������� �	����=��C
( �� ������� �� �-��6������� �� ��� �����0
�� �	 �� �� �����&����� �� >�	���� ������� ����
�-��6������� �����0
��C �� ��#��� �� ��2���	 ( ����� �� ��	) ������� �	� �-�� ���� ����������
�#��� �� ��� &	�������� ���� �-��6������� >>�C �� ���
��� �� �� �D�� �������� % 
���	� &���C
�-��������� E��� ���� �� ������� 
��C >�	���� ���� �� ��
���F �T�
�	�� �	� 
���	� ����"�����2��
���� ���#���� �� �D�� ��������� �T�
�	�� �	� �-�����2�� ��	� �������

���� ����� 
��C �� � �	��� 	�� ��������� �� 
� ���� ' �� �� ��#��� 	�� 
���	�� C 
������ ��M
�� ��	) 
���	��� C1 
������ ��M1 �� C2 
������ ��M2C �� � �� �������� �	�#���� ����� &��
�����
�� ��������� ��B���� ��� �-��	����� E
��F '

FC(�s) = eik�s. �M1MFC1(�s) + eik�s. �M2MFC2(�s)

1� #� ���
 ������ �� ����� ������ �� 
� ���� �� ��������� ��	� �
���� 	�� ������� �	����=��
( ��	) ��#��	)�

�,�,�,� #
�����'� �	
�����	���

1� ��B��� 	� ��
�	��6� ( ��	) ��#��	) �� Γ E
&� B6	�� 
�
�F� 7� 6����� R ���6� S 
������	�
�� ��#��	 /� 7� 6����� B�� 
������	� �� ��#��	 
C ���� ��� 	�� �	2��#����� �� �� ���
������ �#�

	� ��� ��	) &��� ��	� ������

Ω

Γ

C�
M�

C
M

Niveau 1
Niveau 0

���� 
�
� I %��
�	��� 1 
��3 ������3 
� Γ

1� ��B��� 	�� ���	
�	�� ������
���	� �-����������� ( 	� ��2�� ����� 
�� ��	) 6������� 7�
��#��	 / ��� �� ��	� �� �-��2��C �� ��#��	 
 �� 2�� �� �-��2��� 7�� 
���	��� �	 ��#��	 
 ���	�� �� ��
��#����� �-	�� 
���	�� �	 ��#��	 / ���� ������� R ��&���� S �� 
���� 
���	��� 7� �������� ��#����
��B��� �� R ������ S �-	�� 
���	��� *� ���� �� ���� ��� ���	���� ��� ��� U�
��� �	� �� B6	�� 
�
��
0� ����� ����������C 
���	� 
���	�� �	 ��#��	 / � �	 ��	� �	�� ��&���� E�� �� 6���� �	� ���

���	��� ����� 	�� �������
���� ���"#��� �#�
 ΓFC �� 
���	� 
���	�� �	 ��#��	 
 � �)�
������
	� �������

$�	� 
��
	��� �	 ���� �� 
�� ��2��C ��B������� �	���	�� ���������� 1� �����	� �� ��#��	
�-	�� 
���	�� ��� 	� �)������ ����� ���������� ( 
=�� �	 ��� �� 
���� 
���	�� ' C(0) �	 C(1)�
1� ���� p(C) �� ������ �-	�� 
���	��C �� e(C) �-�����2�� ��� ��&���� �-	�� 
���	��� 0�B�C ��



���� ����
�� ����	��	���� �+

Niveau 0

Niveau 1

Parent

Enfant

���� 
�
� I 0�������� ������������

�	���B� �� #������� ��	) 
���	��� ����� �	 ����� 	� ������ �� 
���	� �� �� ��
����� ��
�(�� ������ 
� �'������ 1� 
�����#� �� �������� v(C) ��	� ����6��� �-�����2�� ��� 
���	���
#������� �� C�

�,�,�,� =������ 	�������	��� 8 ���� �	$���>

%#�
 ��	) 6������C �� � ��������������� ��	) �������� �	����=��C 	�� �	 ��#��	 /C �-�	���
�	 ��#��	 
� 0������� �� #��� �	��� 	������� 
��
	�� ��� ��	)�

1� �� ����� 	�� 
���	�� C′(1) ����� �	-	�� &��
���� �� 2��� ϕj ��
������ ���� C′(1)� 3	� ��
B6	�� 
�
+C �� � ���������� �� 6��� &��
� �� 
���	�� C′(1) ����� �	� ��� ������ p(C′(1))� 0� 6���

����C �� � ��	�� #������ �����
��&�� 1� � �6������� ���������� ��� ��� ������ ����� �	� 
��
	�
��� ��	) ��#��	) �	���� ��6��� �� ��2���� �	� ΓC ���� �� �	���� j ��
����� ���� C′(1)�

�� ������� �
�������	�C ��	� 	� ��#��	 �����C 
���� A��� 6��� 
���� ���������� �� �������
�	 ������6� �	� �� ��	� ��� ������6�� �� ���� R �	����=�� S �#�
 �� &��
���� �� 2��� ϕj

��
������ ���� �� 
���	�� 6��� &��
� E
&� ��
���� 
���
��F� 0#��������C �� A��� 2���
�� 
�������
�� ������� �	 ������6� �	� ��	� ������6�� �� ���� R �	����=�� S �#�
 ϕj �

Niveau 0

Niveau 1

3

2

3

2

1

1

j

j

���� 
�
+ I 4
����� 
� C′(1) �� 
� �
� 	����� p(C′(1))�

$�	� ������� �-������
���� �-	� ��6�� �� ��2���� ����� �#�
 �� ��6�� �� ��2���� jC ����� 
��
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�� B6	�� �� ����������� ��� ���� ����������� �	� �� B6	�� 
�
+�

I 7-������
���� ����� �� �� 1 �� �� �� j �� ��	� �� &���� �� ���� �	����=�� �� �	 ��#��	 /C
�� �	 ��#��	 
� 1� ��� �2��6� �� �� ������� �� ���� ���
���

I 7-������
���� ����� �� �� 2 �� �� �� j ��	� �� &���� �� ���� �	����=�� �	 ��#��	 
 �	 ��
���� ���
�� �	 ��#��	 /�

I 7-������
���� ����� �� �� 3 �� �� �� j ��	� �� &���� �� ���� �	����=�� �	) ��#��	) / �� 
�

�-����� �� &���	�� E
���FC ��	� ��� 
���	��� ���� 6������C �� ��	� ��� �����&���� �� �� >��
���� �������� $�� 
�����	���C �� #� 
���
��� ( ������� ��� ������
����� �� ���� �	����=��

���	� &��� �	� 
-��� ������C �� 
� �	 ��	� ��	� ��#��	 �����2�� E�
�C �	 ��#��	 1 ��	� �� �� 2C
�	 ��#��	 0 ��	� �� �� 3F� 1� ��#������ ��	� �� ������ �	� �� 
�����6� �	 ���2�� �-����������
( �� ��
���� 
�������

�,�,�,� 9��	�� �� 3���	���

1� #� ��B��� �� ������ �� 2�����	� ' �� ��� �	� ��	) 
���	��� �-	� �D�� ��#��	 ���� R 2��"
���	�� S �-	�� �� �-�	��� �� ����� �� ���� ��� #�������C ���� �	� ��	� ������� �����
��&� �� �����
1� ���� b(C) �-�����2�� ��� 2�����	�� �� C� *����� ���	 �� 
� �	� � ��� #	 ���
��������C
�� ������ �� 2�����	� ������M� ���	��������� ' �	 ��#��	 
C b(C) ��� �-�����2�� ��� 
���	���
������6������ �#�
 C �� ���� �	����=�� �	 ��#��	 
�
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Voisins de C

Niveau 1
Niveau 0

C

���� 
�
� I 4
����� �� 5�������� �� ������ *

*���� �� �� #��� �	� �� B6	�� 
�
�C ��� 
���	��� �	 ��#��	 
 ���� �����6��� �� ����� ��	�"
�����2��� �	� ���� E��� ��	� ���
��� �	) ��	� ����6���� �� CF '

I 7�� #������� �� CC ����� v(C)C 
�������� C ����"�D�� W
I 7�� 2�����	�� �� CC ������ b(C) W
I 7�� 
���	��� ��������� �� CC ������ d(C)C �	� ���� ��� 
���	��� �����������
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*����� ���	 �� �� ��B������ �� v(C) �� �� b(C)C �� ��	� �
���� '{
v(C) ∪ b(C) = e [v(p(C))] ,
d(C) = � [v(C) ∪ b(C)] = �e [v(p(C))] E
��!F

�L �-�� ���� �A �� 
������������� �-	� �����2�� A�
7� B6	�� 
�
! ���	���� 
� ��
�	��6� �	� 	� 
�� ����� 7�� ���6�� 
�
!� �� 
�
!2 �������� ���

��
�	��6�� ��� ��#��	) / �� 
� 3	� ��� B6	��� �	�#�����C �� � ������ �#�
 	�� U�
�� 	� ��6��
�� ��2���� �	� �� ��� �� �-��������� 7�� B6	��� 
�
!
 �� 
�
!� �������� �� ��	6� ��� ��������
�� ������6� 
���������� 
���� ���"#������� �� 
���� ��
���	� �	) ��#��	) / �� 
C �� B6	��

�
!� ������ ��� 2�����	�� �	 ��#��	 
 �	 ��6�� �� ��2���� ������C �� �� B6	�� 
�
!& ������ ��
������� #������ �	 ��#��	 
� 1� #��� 
��������� �	� ��� 2�����	�� �	 ��#��	 
 ���� �2���	� ���
��	����
���� �����2����� ��� �������� �� ������6� ���"#������� �	 ��#��	 
 �� /�

7� 
��
	� �� �� 
��������� �	 ����	�� �����
�"#�
��	� 
������������ �	 ��6�� �� ��2����
������ �� &��� ����� '

I #�� �� ������� �	����=�� �	 ��#��	 / ��	� �� ������� ��	6� �� �� B6	�� 
�
!
 W

I #�� �� >�� �	 ��#��	 
 ��	� �� ������� ��	6� �� �� B6	�� 
�
!� W

I #�� 	�� ������� 
������	� E���"�	����=��F ��	� �� ������� ��	6� �� �� B6	�� 
�
!&�

�,�,�,� ��'��	���� ����	��

1� #� �
���� 	� ������� ��6������� �	����=�� ( ��	) ��#��	)C ���� ����� 
����� ��	�
�-������� ��� ���2����� �� ���
���������� �	 �� ���2�� �� �=����

$�	� ��	�� 
���	�� C′(1) B)��C �� ��	� ��	�� &��
���� �� 2��� ϕj ��
������ ���� C′(1)C ��

���
�� ( 
��
	��� �� :"���� 
��������� �	 ����	�� �����
�"#�
��	� (A.t)� 0��� �-�
��� '

(A.t)j =
∫

x∈Γ

∫
y∈Γ∩C′(1)

G(|y − x|)t(x)ϕj(y)dxdy

*��
	� ��� ����� ��	�"�����2��� ������B�� �	� ��� B6	��� 
�
� �� 
�
! #� D��� ������ ����"
�������

�,�,�,�,� (�� �������� $�	�	��� *���� ���� �� 
�� ����"��#��	C �� ������ ��	� �-�2���
�-������
���� �� C′(1) �#�
 ��� #������� #�� 	� ����	�� �����
�"#�
��	� 
������	�� 7� �����

������������ �-�
��� '

∑
C(1)∈v(C′(1))

∫
x∈Γ∩C(1)

∫
y∈Γ∩C′(1)

G(|y − x|)t(x)ϕj(y)dxdy

�,�,�,�,� (�� �������� 3���	���� 1� ������ ���	��� �-������
���� �� C′(1) �#�
 ��� 2�����	��
#�� 	�� >�� �	 ��#��	 
� 7� ����� 
������������ �-�
��� '

∑
C(1)∈b(C′(1))

∫
x∈Γ∩C(1)

∫
y∈Γ∩C′(1)

G(|y − x|)t(x)ϕj(y)dxdy

1� 	������ �� ��
���������� �	 ����	 E
��FC �� ������� �� 
=�� �� 
�������� ik/16π2C ��
�� �	������� L B)�� 0� ����������� ��� ����6�����C �� ����� ���
����� ��	� �-�
���� '
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∫
�s∈S

∫
y∈Γ∩C′(1)

eik�s. �M ′y


 ∑
C(1)∈b(C′(1))

TL(1)

�MM ′(�s)
(∫

x∈Γ∩C(1)

eik�s. �xM t(x)dx
)ϕj(y)dyd�s

1� �����	#� ��� ����� ������ �� �� >�� ����"��#��	 '

� �������������� ��� &��
����� �� ��������� ��	� ��� 
���	��� 2�����	�� �� C′(1) W
�� �����&��� �� 
�� &��
����� #��� C′(1) W
�� ����6������ �	 ���	���� �	� C′(1)�

�,�,�,�,� (�� �������� �	������� �� ����� ( 
��
	��� �-����6���� ��	� x ∈ Γ ∩ d(C′(1))� 0�
	�������� E
��!FC �� ����� �-������
���� �-�
��� '

∑
C(0) /∈v(p(C′(1)))

∫
x∈Γ∩C(0)

∫
y∈Γ∩C′(1)

G(|y − x|)t(x)ϕj(y)dxdy

1� 	������ �� ��
���������� �	 ����	 E
��F �
���� �	 ��#��	 / ����� C(0) 
������ �� M (0)

�� C′(0) E������ �� C′(1)F 
������ �� M ′(0)� 1� �2����� '

∫
�s∈S

∫
y∈Γ∩C′(1)

eik�s.
�

M ′(0)y


 ∑
C(0) /∈v(p(C′(1)))

TL(0)

�
M (0)M ′(0)(�s)

(∫
x∈Γ∩C(0)

eik�s. �xM (0)
t(x)dx

)ϕj(y)dyd�s

E
��/F
1� �����	#� ��� ����� ������ �� �� ������� �	����=�� �	 ��#��	 /C �	� �-�� #� ��6�������

������� '

� �������������� ��� &��
����� �� ��������� ��	� ��� 
���	��� C(0) /∈ v(p(C′(1)))� 1� #� 	�������
�� &���	�� �	�#���� '∫

x∈Γ∩C(0)

eik�s. �xM (0)
t(x)dx =

∑
C(1)∈e(C(0))

eik�s. �M (1)M (0)

(∫
x∈Γ∩C(1)

eik�s. �xM (1)
t(x)dx

)

�	� �-�
��� ��	� ���������� '

FC(0)(�s) =
∑

C(1)∈e(C(0))

eik�s. �M (1)M (0)FC(1)(�s) E
��
F

1� #� ���
 �-�2��� ����������� ��� &��
����� �� ��������� FC(1) �	 ��#��	 
C �	�� 	�������
E
��
F ��	� �������� �	 ��#��	 / �� 
��
	��� FC(0) �

�� �����&��� �� 
�� &��
����� #��� p(C′(1))� *�� �����&���� ��� ���	 �	 ��#��	 /�
�� ����6������ �	 ���	����� 1� ���� GC′(0) �� ����� ����� 
��
���� ���� E
��/F� *���� ��	�
�-��������������C �� #� �-�2��� 
���6�� �� ��#��	 �� �
��#��� '

GC′(1)(�s) = eik�s.
�

M ′(0)M ′(1)GC′(0)(�s) E
���F

$	�� �� ����6�� �� ���	���� �	� C′(1) �#�
 �-��	����� 	�	���� '∫
y∈Γ∩C′(1)

∫
�s∈S
GC′(1)(�s)eik�s.

�
M ′(1)yϕj(y)d�sdy
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 �	� ���� ����������C �� #� ���
 ���
������ �� 
���	�� ������� �� 
=�� ��� ������
����� ���
���C �� #��� ������M��� 	�� �������
�	����=�� 2�"��#��	 �� � ������ ���������� B6	�� 
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� ������������
� ��� &��
����� �� ��������� FC(1) �	 ��#��	 
�

�� �
���� ' �� 
��
	�� ��� &��
����� �� ��������� FC(0) �	 ��#��	 / �� ������� ��� 
�����"
2	����� ��� ��&���� �#�
 E
��
F�

�� $����"��� �	 ��#��	 / ' �� 
��
	�� ��� &��
����� �� ��������� GC(0) ������� ��� 
�����2	"
����� ��� 
���	��� ���"#��������

�� %������� ' �� 
��
	�� �� �������� ������ �� GC(1) �� ���
������ �� 
�����2	���� �	 ������
�#�
 E
���F�

�� $����"��� �	 ��#��	 
 ' �� ��:�	�� ( GC(1) �� 
�����2	���� ��� 
���	��� 2�����	��� *� ��:�	�
��� ���2����� �	� �� B6	�� 
��/ ��� ��

⊕
�� ���������
� �	 ��#��	 
 ��� &��
����� GC(1) �

�,�,�,� !���
� �� ��������

�,�,�,�,� #	?����
� �	
�� �� ����'����� �� �	$��� 7-��6������� �	����=�� 2�"��#��	
��� ( :�	� ��	) ��	#��	) ���� �-���������� ��� ������� �	 
�� ����"��#��	 ' ��� ������� ��
��� ���
������ ���� �-��6������� 
�����	C 
�� ��	������ �� ���	����� ( 	� 
���6����� �� 
�����C


���� ���� E
��
F �� E
���F� $�� �)�����C 	�� �	������
����� ��� eik�s. �M (0)M (1)
�����&���� 	��

&��
���� �� ��������� ����
��� ( 	�� 
���	�� 
������ �� M (0) �� &��
���� 
������ �� M (1)� 1�
��������� 
���� ��������� 	�� ���������
�C �� #�
��	� �� ����������� ����� 2��� �J� �M (0)M (1)

�
��
7����	-�� ����� �� �-��6������� 
�����	 ( �-��6������� ���
���C �� ���� ����� 
����� �	

���2�� �� �=��� �	) ��#��	) / �� 
C ����� L(0) �� L(1)� *� ���2�� �� �=��� ��� 
��
	�� (
������ �	 ��� �	 ��
�	��6�C �� ������ ���
 �	 ��#��	� N	���� �	� ���� �� ������� 
������ ��	�

��
	��� LC �� �	�� ��	:�	�� L(0) > L(1)� 3� �� 
������ �-	������� �� &���	�� ������ L = kr E�L
r =
√

3a ��� �� �������� �-	�� 
���	��FC ����� L(0) ���� �� ��	2�� �� L(1)�
3� �� 
���6����� �� ��#��	 �-�

����6�� �-	� 
���6����� �	 ���2�� �� �=���C �� �-�

��"

��6�� �	��� �-	� 
���6����� �� ���
���������� �� �� ������ 	���� S� *���� �������� ��� 
������
��	� ��	#��� ����6��� �)�
������ ��� &��
����� �� ���6�	� �� 2���� 2L E
&� ��
���� 
��������F�

1� ���� ( �sk′(0),ω
(0)
k′ ) �� (�sk

(1),ω
(1)
k ) ��� �	�����	��� �����
��#����� ��� ��#��	) / �� 
� 1�

���� ���
 D��� 
���2�� �� ������ �� �-	�� ( �-�	��� �� 
�� �	�����	��� �� �� ������� �� ��	�
���
��� �����2���
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�,�,�,�,� ./��������	�� 1� ������� �)����������� �� �����6� �� �� 6����� (�sk
(1),ω

(1)
k ) ( ��

6����� ( �sk′(0),ω
(0)
k′ )� 1� �	2��� ���#���������� �� 
���6����� �� 
����� �	� #� ����������� ��

���� �#�
 �� �����6� �-	�� 
���	�� ( �� 
���	�� ������� <�	� ������ #��� ���� 	� ������� �����
�-��6������� 2����	� ��	� �������� 
���� ���������C �	�� ��	� ������������ �-��6������� ������
	������ ���� ����� �������������� >���

�,�,�,�,�,� ��'��	���� 3��	��� 3��� 	�� 
���	�� C(1) �	 ��#��	 
C �� �� &��
���� ��
��������� FC(1) ��B��� ��� '

FC(1)(�s) =
∫

x∈Γ∩C(1)

eik�s. �xM (1)
t(x)dx E
���F

1� �� 
����M� 
���� &��
���� �	� ��� ��� #���	�� �	� �� 6����� FC(1)(�sk
(1))� 1� ���� ���������

�	� 
-��� 	�� &��
���� �� ���6�	� �� 2���� L(1)/2 E( 	�� ����	� ε ����F� 0� �T��C ( �� ��
����

���������
C �� � �����	� �� ����� E
���F �	 ���6 L(1) ���� �� 
�� �L �r ��B�� ��� E
�!F #���B���
��	������ �� 
�������� E
�

F ' |�r| ≤

√
3a E�L a ��� �-��D�� �	 ��
�	��6� �	 ��#��	 
��������F�

�
� �� #�
��	� ���� �-�)����������� ����� 	� ����� �� C(1) ( ��� 
�����C ���
 �� #���B� �� 
��������

��	� ������
��#� ' | �xM (1)| ≤
√

3a/2� 1� ��	� ����� �����	�� �� ����� �	 ���6 L(1)/2 ��	� ��

�����#��� �� �D�� ����	� ε�

$������ �� �(C �� ��	� �
���� FC(1) ��	� �� &���� '

FC(1)(�s) =
∑

−l≤m≤l

0≤l≤L(1)/2

Al,mYl,m(�s)

$�	� 
��
	��� ��� 
��9
����� Al,mC �� �	9� �-	������� �-�������������� ��� ��������	�� ����"
���	��C �	� ������ �-�
���� '

Al,m =
∫

�s∈S
FC(1)(�s)Y ∗

l,m(�s)d�s E
���F

1� � �	 ��#��	 
 	�� �	�����	�� �� S �	� ����6�� �)�
������ ��� &��
����� �� L2(S)
�� ���6�	� �� 2���� ≤ 2L(1)� �
�C �� &��
���� ��	� �� ��6�� ����6���� ��� �� ���6�	� �� 2����
��	������ L(1)/2 + l ≤ L(1)� ���
 ����� �	�����	�� �-����6�� �)�
������C �� �� � �D�� R ��
�� ���6� S� 1� #� 	������� 
���� ���6�C �� 
��������� ��������� FC(1) 
���� 	�� &��
���� ��
���6�	� �� 2���� L(1)� 1� � 6�6�� �� ���
�����C �� �� #���� ��� �� �	��� �	-�� �-� � ��� ��
�	�
�J� ����
�� ( 
� 
���6������ 7� &��
���� ����6��� FC(1)Y ∗

l,m ��� ����� �� ���6�	� �� 2����

L(1) + l ≤ 2L(1)C �� ����� �	�����	�� �-����6�� �)�
������ '

Al,m =
∑
�sk

(1)

ω
(1)
k FC(1)(�sk

(1))Y ∗
l,m(�sk

(1)) E
���F

,�� &��� 
��
	��� ��� 
��9
����� (Al,m) ��	� −l ≤ m ≤ l �� 0 ≤ l ≤ L(1)C �� ��	� 
��
	���
FC(0) �	� �� 6����� �	 ��#��	 / �� �
��#��� ��	� ���������� '

FC(0)( �sk′(0)) =
∑

−l≤m≤l

0≤l≤L(1)

Al,mYl,m( �sk′(0)) E
���F
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3�
���� �	� FC(0) ��� �� ���6�	� �� 2���� L(0)C 
���� ��	����� ��#���� ( 
�������� ���

��9
����� (Al,m) ��� ��� A���� ��	� L(1) < l ≤ L(0)� 0� �������� E
���F ���� E
���FC ��
�2����� '

FC(0)( �sk′(0)) =
∑
�sk

(1)




∑
−l≤m≤l

0≤l≤L(1)

Y ∗
l,m(�sk

(1))Yl,m( �sk′(0))



ω

(1)
k FC(1)(�sk

(1)) E
��+F

*���� ��������� ��� ���
 	� ������ ����	�� �����
�"#�
��	�C ��� 	�� �����
� ���� ��
���2�� �� 
������� ��� �� ���2�� �� ������ �� �	�����	�� �	 ��#��	 
C �� ���� �� ���2�� ��
��6��� ��� �� ���2�� �� ������ �� �	�����	�� �	 ��#��	 /�

*���� �����
� ��� ��	� ������ �	-�� �-� ����M�C �	���	� �� ����� ����� 
��
���� ��	� �-�
���� '∑
−l≤m≤l

0≤l≤L(1)

Y ∗
l,m(�sk

(1))Yl,m( �sk′(0)) =
∑

0≤l≤L(1)

2l + 1
4π

Pl(cos θ)

=
L(1) + 1

4π(1 − cos θ)
(
PL(1)(cos θ)− PL(1)+1(cos θ)

)
E
���F

�L �-�� ���� θ �-��6�� �	� &��� ��� #�
��	�� 	�������� �sk′(0) �� �sk
(1) '

cos θ = �sk′(0). �sk
(1)

7� ��	)���� &���	�� 
�"����	� �-��� #���2�� �	� �� cos θ 
= 1� 7� ���2�� �-���������� ��

���� �)����������� ��� �6�� �	 ����	�� ��� ������� ��� �	�����	��� �� S �	) ��#��	 / �� 
C
���� ��#���� 4(L(0)L(1))2 �#�
 ����� ���
���������� 	�	���� E��B��� ( �� ��
���� 
��������F� *����
&���	������ �� �-�)����������� ��� �� ��	� ������ ( �����������C �� #� ���������� #��� 	��
������� ��	� �

������ 
�� 
��
	���

�,�,�,�,�,� ��'��	���� ���	�� 7� &���	������ ���
������ &��
������ �	�� �	� ����
�� ���� �� �	�����	�� (�sk,ωk) 	������� �� �)���� 	�� ������� ��	� ������ ��	� �������� �-�)���"
�������� ���� �� 
�� �L ��� ������ �sk �	� S &������ 	�� 6����� �� �� &���� (θi,φj) �	� ��� ��
��	� 	��&���� �� φ E
-��� ( ���� �� �� &���� φj = 2πj/K 0 ≤ j < KF� *���� 
��������
��� #���B�� ( �� &��� ��� �� ���
���������� 2����	� �� ��� �� ���
���������� 	�	���� ����������
( �� ��
���� 
��������� 0� ��#��
��C �� �� 	������ 	�� ���
���������� �������� E
���� 
���� ��
�
7���� ( +� ������FC 
� �	� #� �	�#�� �� �-������	� ����

1� #� ������ �� ������B�� E
��+F� 1� ���� �� �� ������� �	�#���� ��� 6������ �� ������ ��
�	�����	�� �	) ��#��	) / �� 
 '{

(θ(0)
i′ ,φ

(0)
j′ ) 0 ≤ i′ ≤ L(0), 0 ≤ j′ ≤ 2L(0),

(θ(1)
i ,φ

(1)
j ) 0 ≤ i ≤ L(1), 0 ≤ j ≤ 2L(1)

1� ���� F (1)
i,j �� F (0)

i′,j′ ��� #�
��	�� �� ������ �� �� ������ �	 ����	�� �����
�"#�
��	�C �#�
 '{
F

(1)
i,j = ω

(1)
k FC(1)(θ(1)

i ,φ
(1)
j ),

F
(0)
i′,j′ = FC(0)(θ(0)

i′ ,φ
(0)
j′ )
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�L ���� �� �������� ��	����� ω
(1)
k ��� �� ����� ����
�� �	 ����� �� �	�����	�� (θ(1)

i ,φ
(1)
j )


��������� X��"("#�� �	 ����	�� �����
�"#�
��	�C F (1)
i,j �� F (0)

i′,j′ ���� ��� #�
��	��� <��������C
��	� ��� 
������������ ���� �� �	��� ��	�=� 
���� ��� ��2���	) ( ��	) ���������� �	���	-���
������������ ��� #���	�� ��� &��
����� �� ��������� FC �	� ��� 6������ (θ,φ)�

0�B�C ��� ��������	�� �������	�� �-�
��#��� '{
Yl,m(θ,φ) = Cl,mP

m
l (cosθ)eimφ,

Cl,m =
√

2l+1
4π

(l−m)!
(l+m)!

$�	� ����6�� ��� ���������C �� ���� Qm
l (cosθ) �� �����=�� Cl,mP

m
l (cosθ)� 7� ����	��

�����
�"#�
��	� E
��+F ��#���� '

F
(0)
i′,j′ =

∑
i,j


 ∑

0≤l≤L(1)

∑
−l≤m≤l

Qm
l (cosθ(1)

i )e−imφ
(1)
j Qm

l (cosθ(0)
i′ )eimφ

(0)

j′


F (1)

i,j

=
∑

−L(1)≤m≤L(1)

e
imφ

(0)

j′


∑

i

∑
|m|≤l≤L(1)

Qm
l (cosθ(1)

i )Qm
l (cosθ(0)

i′ )


∑

j

e−imφ
(1)
j F

(1)
i,j






0� ����������� ����� ��� ������C �� #��� ������M��� ����� ������ ���� 
� 
��
	��

 ���	�� �	����� * �� &��� 	�� �����&����� �� >�	���� ����
�� �	� ��� ��6��� �� F (1)� 1� ����
F̃

(1)
i,m �� ���	���� �#�
 −L(1) ≤ m ≤ L(1) '

F̃
(1)
i,m =

∑
0≤j≤2L(1)

e−imφ
(1)
j F

(1)
i,j

�����	�� ����	��6$������ * ��	� i′ �� m B)��C �� ���� F̃ (0)
i′,m �� ����� ����� 
��
���� '

F̃
(0)
i′,m =

∑
i


 ∑
|m|≤l≤L(1)

Qm
l (cosθ(1)

i )Qm
l (cosθ(0)

i′ )


 F̃ (1)

i,m E
��!F

1� #��� ������M��� 	� ����	�� �����
�"#�
��	� ��� �� �����
� ���� �-������� (i′,i) ���
����� 
��
����� �����	��	������C 
���� �����
� ������ �� m� 7� &���	�� �� *������T��"
���2�	) �	� �	�� #� ��������� �-=��� 
���� ��������
�� $�	� ��	� (x,x′) ∈ [−1,1]2C �#�

x 
= x′C �� � '

∑
|m|≤l≤L(1)

Qm
l (x)Qm

l (x′) =

√
(L(1) + 1)2 −m2

4(L(1) + 1)2 − 1

×
[
Qm

L(1)+1
(x′)Qm

L(1)(x)

x′ − x −
Qm

L(1)+1
(x)Qm

L(1)(x′)

x′ − x

] E
��/F

1� ���� ' 


xi = cosθ
(1)
i ,

xi′ = cosθ
(0)
i′ ,

Ci′,i =
1

xi′ − xi
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� �� �� ����
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$�	� ������B��C ���� E
��/FC �� #� ������ �� 
=�� �� 
�������� �� �� 
��������� �	� ��
������� ����� ����� 
��
����� %#�
 
�� ������
�����C �� ����� E
��!F E�	� �-�� 
�����	�

( ����� F̃ (0)
i′,m ��	� �� ��� ����	���� ��#����6� ��� &���	���F �� 
��
	�� �� �� �������

�	�#���� '

F̃
(0)
i′,m =

∑
i

[
Qm

L(1)+1
(xi′)Qm

L(1)(xi)Ci′,i

]
F̃

(1)
i,m

= Qm
L(1)+1

(xi′)

[∑
i

Ci′,i

(
Qm

L(1)(xi)F̃
(1)
i,m

)] E
��
F

%	������� ���C �� � ����� ������ '


� 1� �	������� F (1)
i,m ���Q

m
L(1)(xi) 
��������� ��� 
��������� Em B)�C i = 0, . . . , L(1)F�

�� 1� &��� �� ����	�� �	 ���	���� ��� �� �����
� C �� ������ (L(0) + 1)× (L(1) + 1)�
�� 1� �	������� �� ���	���� ��� Qm

L(1)+1
(xi′) 
��������� ��� 
��������� Em B)�C i′ =

0, . . . , L(0)F�

7-�#����6� ��� ������� ( �� &���	������ E
��!F ��� �	� �� �����
� (L(0) + 1)× (L(1) + 1)
��� ������������ �� m �� �� ������ �	� ��� ���2��� �� �=��� L(0) �� L(1)� 1� �� 6�6��
���
 �� �� ���
�����C �� �� #������C ���� �� ���
;�6� ' 
-��� ���
 ��	�=� 	� ��6�������
�� 
���������� �� �����
� �	-	�� �

��������� �	 ����	�� E
��!F� 7-�	��� �#����6� ���
�	� �-�� ��	� 
��
	��� ��� ����	��� �����
�"#�
��	� �� C �#�
 	�� >�� 
�� <��������C
��	� �-�#��� ��� ������� 
���� ������������ 
�� �� �-���� �
�	�� �� ����� ��������������C
��� ������ �� �������4���
����� ��� 	� 
�J� &��2�� ��� ������� �	) �	���� ������� �	

��
	�C �� �-�T��� ��
������� �-����� ��� :	���B��

 ���	�� 	�$���� * �� &��� 	�� �����&����� �� >�	���� ��#���� �	� ��� ��6��� �	 ���	���� ��	�
j′ = 0, . . . , 2L(0) '

F
(0)
i′,j′ =

∑
−L(1)≤m≤L(1)

e
imφ

(0)

j′ F̃
(0)
i′,m

1� � 	�� �����&����� �� >�	���� �� ������ 2L(0) + 1� 7� &��� �	� −L(1) ≤ m ≤ L(1)

�-��� ��� 	� ���2����C 
��� ��#���� :	��� ( ���� �	� ��� 
��9
����� F̃ (0)
i′,m ��	� m =

−L(0), . . . , − L(1) − 1 �� m = L(1) + 1, . . . , L(0) ���� �	���

0� ����� �� ���2�� �-����������C �� ������ �� ��	� 
�J��	�� �� 
���� �)����������� ������
��� �� ����	�� ��� �� �����
� CC �� ������ ��#���� L(0)L(1)C �� &��� � ����	��� ��	� 
���	�
m = −L(1), . . . , L(1) ���� �� ��	� ��#���� 4L(0)(L(1))2 ���������C 
����� 4(L(0)L(1))2 ����������
�#�
 �-�)����������� 2����	�� %#�
 L(0) ≥ 10 �	 �����	�C �� 6��� ��� ����2���

�,�,�,�,� 1
����	�� 1� ������� ���	
���� �� �����6� �� �� 6����� ( �sk′(0),ω
(0)
k′ ) ( �� 6�����

(�sk
(1),ω

(1)
k )� *���� ��	� �-�)�����������C �� ��� ����� ���������� �� 
���6����� �� 
�����

�	� #� ����������� �� ���� �#�
 �� �����6� �-	�� 
���	�� ( 	�� ��� 
���	��� ��&�����
3��� 	�� 
���	�� C′(0) �	 ��#��	 /C �� �� &��
���� �� ��������� GC′(0) ��B��� ��� '

GC′(0)(�s) =
∑

C(0) /∈v(C′(0))

TL(0)

�
M (0)M ′(0)(�s)FC(0)(�s)



���� ����
�� ����	��	���� �+

1� �� 
����M� 
���� &��
���� �	� ��� ��� #���	�� �	� �� 6����� GC′(0)( �sk′(0))� 1� ���� ����"
����� �	� 
-��� 	�� &��
���� �� ���6�	� �� 2���� L(0) E( 	�� ����	� ε ����F� 0� �T��C �� &��
����
�� �����&��� TL(0)

�
M (0)M ′(0)

��� �� ���6�	� �� 2���� L(0)C ���
 �� ��	� ��6��6�� ��� ��������	�� ��

���6 �	�����	��
$������ �� �(C �� ��	� �
���� GC′(0) ��	� �� &���� '

GC′(0)(�s) =
∑

−l≤m≤l

0≤l≤L(0)

Al,mYl,m(�s)

$�	� 
��
	��� ��� 
��9
����� Al,mC �� �	9� �-	������� �-�������������� ��� ��������	�� ����"
���	��C �	� ������ �-�
���� '

Al,m =
∫

�s∈S
GC′(0)(�s)Y ∗

l,m(�s)d�s E
���F

7� &��
���� ( 
��
	��� GC′(1) ����� ������ � D��� �:�	��� �	 ���	���� ��� �����&���� �	 ��#��	

 E�� ���6�	� �� 2���� L(1)F �#��� �-D��� ����6���C ��	�� ��� 
��9
����� Al,m �#�
 0 ≤ l ≤ L(1)

��	� ������������ 3�	� 
���� 
��������C ���� E
���F �� &��
���� ��	� �� ��6�� ����6���� ��� ��
���6�	� �� 2���� ��)����� L(0) + L(1) < 2L(0) C ���
 ����� �	�����	�� �	 ��#��	 / �-����6��
�)�
������ '

Al,m =
∑
�sk′

(0)

ω
(0)
k′ GC′(0)( �sk′(0))Y ∗

l,m( �sk′(0)) E
���F

,�� &��� 
��
	��� ��� 
��9
����� (Al,m) ��	� −l ≤ m ≤ l �� 0 ≤ l ≤ L(1)C �� ��	� 
��
	���
GC′(1) �	� �� 6����� �	 ��#��	 
 �� �
��#��� ��	� ���������� '

GC′(1)(�sk
(1)) =

∑
−l≤m≤l

0≤l≤L(1)

Al,mYl,m(�sk
(1)) E
���F

3�
���� �	� GC′(0) ��� �� ���6�	� �� 2���� L(0)C 
���� ��	����� ��#���� ( ���	��� ��� 
��&"
B
����� (Al,m) ��	� L(1) < l ≤ L(0)� 0� �������� E
���F ���� E
���FC �� �2����� '

GC′(1)(�sk
(1)) =

∑
�sk′

(0)




∑
−l≤m≤l

0≤l≤L(1)

Y ∗
l,m( �sk′(0))Yl,m(�sk

(1))



ω

(0)
k′ GC′(0)( �sk′(0))

*���� ��������� ��� ���
 	� ����	�� �����
�"#�
��	� ��� �� �����
� ���������� �� 
����
	������� ��	� ��� ��������

1� ��	� 2��� �J� �6������� 	������� 	�� #������� R ���������� S �� �-��6������� ������
	������ ��	� ��� �)������������ E�� �
���6���� ��� ������ 
 �� � �	 
��
	� �� E
��
FC �� ��
	�������� tC ( �� ���
� �� CF�



�� ����	��� �� ���������	
� �� �� ����
��

�,�,�,�,�  �������	�� 8 ���/ ����������� 7��� �-	� 
��
	� �-�)�����������C �� &��
"

���� �� ��������� ��B��� ��� E
���F � �� �D�� ���6�	� �� 2���� �	� �� &��
���� eik�s. �xM (1)
� *���

��� #��� ���
� �	-�� �	������� 
���� �)����������� ��� t(x) �	� �� ������ ��� �� �s� ���� �� 
��
�-	�� &���	������ ( ��	) 
����������C �� ����� t(x) ��� ������
� ��� �-	� ��� ��	) ������ '

{
�t(x). �sθ = tx(x) cos θ cosφ+ ty(x) cos θ sinφ− tz(x) sin θ,
�t(x). �sφ = −tx(x) sinφ+ ty(x) cosφ

$�	� �	� ��� ��#����������� �������� �	) ����6������ ���
������ ������� #���2���C �� &�	�
�	� ��� ������ ���������� �� θ �� �� φ ��:�	��� ������ �� ���6�	� �� 2���� B���� 1� ���� ���

������� �� ��#������� �	� �� 2��� ��� ��������	�� �������	�� ��� �	������� �	�#����� '

X =




cos θ cosφ
cos θ sinφ

sin θ
sinφ
cosφ


 E
���F

 �������� ��� ��������� ���������� �� 
��
	��� ��� ��������	�� �������	��� $�	� m ≥ 0C
�� � ' 


Yl,m(θ,φ) = Cl,mP

m
l (cosθ)eimφ,

Cl,m =
√

2l+1
4π

(l−m)!
(l+m)! ,

Pm
l (cosθ) = (−1)m(sin θ)m(

d

dx
)mPl(cos θ)

�� ��	� m < 0C �� 	������ ' Yl,−m(θ,φ) = (−1)mY ∗
l,m(θ,φ) E�L ∗ ����6�� �� 
�����)� 
��:	6	�F�

Yl,m(cosθ) ������M� ���
 
���� ����� �� ����	�� �-	� �����=�� �� cos θ �� ��6�� (l−|m|)
��� (sin θ)|m|eimφ� 1� ��	� #���B�� �	� ��� ��������� ��������	�� �������	�� '




Y0,0(θ,φ) =
√

1
4π ,

Y1,−1(θ,φ) =
√

3
8π sin θe−iφ,

Y1,0(θ,φ) =
√

3
4π cos θ,

Y1,1(θ,φ) = −
√

3
8π sin θeiφ,

Y2,−2(θ,φ) =
√

15
8π sin2 θe−2iφ,

Y2,−1(θ,φ) =
√

15
2π cosθ sin θe−iφ,

Y2,0(θ,φ) =
√

5
4π

3cos2θ−1
2 ,

Y2,1(θ,φ) = −
√

15
2π cosθ sin θeiφ,

Y2,2(θ,φ) =
√

15
8π sin2 θe2iφ

7�� 
���������� �	 #�
��	� E
���F �� ��	#��� ��� �� ��
������� ���������� �	� 
����
2���C 
�� �� &�	� �	� �-�)������ �� sin θ �� �� e±iφ ���� �� �D��� 0� ��#��
��C �� #�
��	�



���� ����
�� ����	��	���� �!

sin θ.X #���B� 
���� ��������� '

sin θ.X =




sin θ cos θ cosφ
sin θ cos θ sinφ

sin2 θ
sin θ sinφ
sin θ cosφ


 =




−
√

2π
15 (Y2,1 − Y2,−1)/2

−
√

2π
15 (Y2,1 + Y2,−1)/2i

2
3(
√

4πY0,0 −
√

4π
5 Y2,0)

−
√

8π
3 (Y1,1 + Y1,−1)/2i

−
√

8π
3 (Y1,1 − Y1,−1)/2




7�� 
���������� �	 #�
��	� sin θ.X ���� �� ���6�	� �� 2���� �� ���
 �� &��
���� ��
��������� FC(1) ��B��� ��� '

FC(1)(�s) =
∫

x∈Γ∩C(1)

eik�s. �xM (1)
sin θ�t(x). �sθdx

��� �� ���6�	� �� 2���� B��� L(1) +2� 7� ������� 	������� ���� �� 
�� 
������	� ��	� ����� D���
	�������� �� &�	� :	��� ������ ( ����#���� ��� sin θ ����� �-�)������������

0� ��	�� ��6	�	�C #	 �	� �� ���6�	� �� 2���� ��� &��
����� �����	���� �	6�����C �� &�	�����
�	6������ �� ���2�� �� ������ �� �	�����	�� �� S �� 
�����	��
�� 0� ������	�C �� �-�2���#�
�	
	�� ��6�������� �� ���
����� �� �� 
�����#� �� �D�� 6������ *��� �-��� 6	��� �	��������
���� �� ���	�� �L ��� 
���) �T�
�	�� ��	� ��� ���2��� �� �=��� �� ��� �	�����	��� ���� ��
������ �������	��C �� ����#� �	���� �-	� ��#���"&���� �	� �� �� ��������

<	�����	�����C �#��� �� &���� �� ����	�� �����
�"#�
��	� E
��+F E�	 ��� ��	�#����� ������FC

�� �	9� �� �	�������� �� #�
��	� �� ������ FC(1)(�sk
(1)) ��� sin θ(1)

k E
��������� ��� 
���������FC

�� �� ��#���� ��� 
���������� �	 #�
��	�� ���	����� FC(0)( �sk′(0)) ��� sin θ(0)
k′ � *��� ��#���� �	���

( �	�������� �-������� ( �sk′(0), �sk
(1)) �� �� �����
� 	������� ��� sin θ

(1)
k

sin θ
(0)

k′
�

7� ���	
���� ����� �-��������� ����������C �� 
��#���� �� ��#���� ��� sin θ(0)
k′ �� &��
����

�� ��������� �� ������ �	 ����	�� �����
�"#�
��	�C �� �� �	�������� ��� sin θ(1)
k �� ���	���� �	

����	��� 8��� �J�C �� ��	� �	��� 	������� �� �����
� ����B�� �����������

�,�,�,�,� "���'����� �� ������ 7� 
���6����� �� ��#��	 ���� �-��6������� �	����=��
����
�� ��	:�	�� 	� 
���6����� �� �	�����	�� �� S �� 	� 
���6����� �� 
����� �� ���������
E1� � 
������ �-������� R ����������� S �-��������� �� 
���6����� �� 
�����F� ���� �� 
�� �-	��
������C 
��� �� #��� ���� E
��
F� $�	� 	�� ���
����C 
-��� �� &���	�� E
���F� % 
���	� &���C ��
� �� �����2����� �� &���� �� ����������� �#��� �	 ����� �� 
���6����� �� 6����� E�)����������� �	
���	
����F�

3� �� ���� X �-�������	� �-�)�����������C �� ������ ��	� �-�
���� �� �-	�� ��� ��	) ��������
�	�#����� ' 


FC(0)(�s) = X


 ∑
C(1)∈e(C(0))

eik�s. �M (1)M (0)FC(1)(�s)


 ,

FC(0)(�s) =
∑

C(1)∈e(C(0))

eik�s. �M (1)M (0)X [FC(1)(�s)]

7� �������� ��	����� 
��������� �	 �
���� �� 6�	
�� �	� �� B6	�� 
��
C �� ��
���� �	
�
���� �� ������� ,�� ����������� �	6����� �� ���6�	� �� 2���� �� �� &��
���� ����������C ���




�/ ����	��� �� ���������	
� �� �� ����
��

Translation
Extrapolation
Somme

Niveau 1

Niveau 0

���� 
��
 I ����� 
� �
����

�� �� ����������� ���
��� �� 
���6����� �� 6�����C �� 
��
	� ��� �� ������� ����� ���
�� �	� �� ��
&��� �� 
��������� 1� ��	����� 
�������� �� �	6������� �� ���2�� �-��������	�� �������	��

�����#���C ���� �( ��
���C �� ������	�C �� �� #��� ��� �� ��T����
��

�� � � �� ��#��
�� 	�� ����� ��T����
� �� ����� �� ����� �-�)�
	����� ���� �-��6�������
�	����=��C �-��������� R ������ S ��#��� ��	��� ��� &��
����� �� ��������� ��� ��&���� �� C(0)

#��� 
����"
�� 1� ��	� ���
 '

I ���� ���������� 
���	� ��&��� �	�� ������ �� �)�������� �� ���	���� W

I ���� �)�������� 
���	� ��&��� �	�� ���������� �� �������

7� ��T����
� ��� ���� �� ���2�� �-�)������������ E�� ����� �� ��	� 
�J��	�� �
�F� 7� ��������
������� ��� �� K	#�� 	�� �)����������� ��	� ��	� ��� ��&����C 
����� 	�� �)����������� ���
��&��� ���� �� ��
����� *���� �������� ��� ���
 �����2������ ��	� ������ �� �D��C ���� �� 
��
�� �� ���
����C �� � �����D� ( ���	��� �� &��
���� �� ��������� �	 ������ �#��� �� �� ����������
#��� 
��
	� ��� ��&�����

�,�,�,� ��'��	���� 8 ���/ �	$���/

<�	� ������ ��
����	��� ��	� ��� ������ �#��	�� ���� 
���� ��
����C �� �
���� 
�����������
�-��6������� �	����=�� ( ��	) ��#��	) ��	� �� &���	������ 0>�0� 1� �� ����� 	� 
�	����
�	�&�
��	� �
������ t(x) �� ������C �� 	� ��
�	��6� �� Γ ( ���#��� ��	) 6������ ��2���	���� 7�
����	�� A.t �� ������� �� ��	) ������� '

��������	��� ������� * ����� ���� �������� �	 ��#��	 
C �)�
������ 
���� ���� �� 
�� ����"
��#��	 E
&� ��	����� E
�
�FF�

��������	��� (�	���	��� * �� 
��
	� �� &��� �� ��) �������

�, ��	�	��	���	�� * ��	� ��	�� 
���	�� C(1) �	 ��#��	 
C �� 
��
	�� �� &��
���� �� �����"
����

FC(1)(�s) =
∫

x∈Γ∩C(1)

eik�s. �xM (1)
t(x)dx

�� ��	� ����� �s �� ����� �	�����	�� �� S ��	� �� ��#��	 
�



���� ����
�� ����	��	���� �


�, !���
� * ��	� ��	�� 
���	�� C(0) �	 ��#��	 /C �� 
��
	�� �� &��
���� �� ���������
FC(0) ( ������ �� 
����� ��� ��&���� '

FC(0)(�s) =
∑

C(1)∈e(C(0))

eik�s. �M (1)M (0)FC(1)(�s)

�� ��	� ����� �s �� ����� �	�����	�� �� S ��	� �� ��#��	 /�
�, 7�������� �� �	$��� @ * ��	� ��	�� 
���	�� C′(0) B)��C �� ����� �� ��#	� ��� 
���	���

C(0) ���"#������ �� C′(0) ��	� 
��
	��� '

GC′(0)(�s) =
∑

C(0) /∈v(C′(0))

TL(0)

�
M (0)M ′(0)(�s).FC(0)(�s)

�� ��	� ����� �s �� ����� �	�����	�� �� S ��	� �� ��#��	 /�
�, #������� * ��	� ��	�� 
���	�� C′(1) �	 ��#��	 
C �� 
��
	�� �� �������� ������ �� ��

&��
���� �� ��������� GC′(1) ( ������ �	 ������ '

GC′(1)(�s) = eik�s.
�

M ′(0)M ′(1)GC′(0)(�s)

�, 7�������� �� �	$��� � * ��	� ��	�� 
���	�� C′(1) �	 ��#��	 
C �� 
��
	�� �� ��	)����
������ �� �� &��
���� �� ��������� GC′(1) �� ������� �� ��#	� ��� 
���	��� 2�����	��
C(1) ��	� 
��
	��� ' ∑

C(1)∈b(C′(1))

TL(1)

�
M (1)M ′(1)(�s)FC(1)(�s)

�	� �� �	�����	�� �� S ����
��� �	 ���2�� �� �=��� L(1)� *���� ����� �� ��:�	��
( �� ������ �� GC′(1) 
��
	��� ���� �� ����� R ���
���� S�

�, ���
'���	�� * ��	� ��	�� 
���	�� C′(1)C �� ��	� ��	�� &��
���� �� 2��� ϕj ��
������

���� C′(1)C �� 
��
	�� �-����6���� '

ik

16π2

∫
y∈Γ∩C′(1)

∫
�s∈S
GC′(1)(�s)eik�s.

�
M ′(1)yϕj(y)d�sdy

7� ���	���� �� 
���� ����6������ 
������	� �� ������ R ������
���� ��������� S �� �� :"
���� 
��������� �	 #�
��	� A.tC �� �� ��:�	�� ���	��������� ( �� ������ R ������
����
���
�� S�

3� �� #�	� 	������� 	�� &���	������ �	����=�� ( ��	) 
����������C �� &�	� ������ ( ��"
��B�� ��� �������"���
����� E
���� #	 ���
��������FC �� ��:�	��� ��� 
��#������� 
����"
�����4�������	�� ���� ��� ���������������4����6�������� $�	� �� �>�0C ��	�� �-����6������ 
���6��
���� ��	� ��� 
��C �� ���	
�	�� 6������� �� �-��6������� ����� �� �D���

�!�!� �����&��	
��
�
��

7-��	�� �� �� >�� ( ��	) ��#��	) � ������ �� ��	��6��� ��� ����
������ ��	#��	��� �� �-��"
6������� �	���"��#��	 ��� ������� ( �� #������ ����"��#��	� <�	� ������ ���������� ��	����
�� 
�� 6������ �-	�� >�� ( n ��#��	) En ≥ 2F�
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� �� �� ����
��

�,�,�,� "��������	�� �&�� ������

�,�,�,�,� !
����� $�	� 
�����	��� ��� ���	
�	��� ���� �� � 2�����C �-���� ��� �� ���
����
�� ������� ��
	���#�� 1� #� ���	��������� 
���� 	�� �	��� �� ��
�	��6�� ��2���	�� �� 	��
���	
�	�� �-��2�� ����
���� 7� ��
�	��6� �� Γ �� 6������ ��2���	��� ��� ���������� �� #������
�� �	� �� B6	�� 
���C �� �� �� �	� �� B6	�� 
����

1� 
�����
� ���
 ��� 
���� �� ��#��	 / �	 ��
�	��6� �� ��6��2��� Γ ���� 	�� 2�M��

	2��	� �	9������� 6������ *���� 2�M�� ��� ���	��� ��#���� �� �	�� 2�M��� �������	��� 1� ��

�����#� ����� �	� 
����� �� 
�� 2�M��� ����� 	�� �������
���� ���"#��� �#�
 Γ� 0���� 
������	���
�� ��#��	 
 �� �-��2��� 1� ������ 
� ���
���	� �� ��#����� ��	� �2����� �� ��#��	 � �� �-��2���
% 
���	� ��	#��	 ��#��	 
���C �� ������ ��� 2�M��� ��� ��#���� ��� ��	) ��� ������� �	 ��#��	
���
������

1� ���D�� �-������ ���� �	��� �� � 
�����	�� 	� ���2�� �� ��#��	) B)� ��� �#��
�C ����
�����	� �� ������ ��� 2�M��� ������� 	� 
������ ��	��� ���� �� 
���� �-	�� ������� �	����=��C

� 
������ �-�)����� �� ���2�� �� ���6	�	�� �-����� ,�� ��������� ������� �-���D� 
�������
( B)�� �� ������ ��� ��	� ������� 2�M���C �	�� ( �	�������� 
����"
� ��� ��	) :	��	-( ��������
�� ������ �� �-�2:��� 1� ��������� ����� �� ������ �� �� 2�M�� ��������C ����� �	� �� ���2�� ��
��#��	)� *-��� �� ������� �	� �-�� � 
������ ���� ����� ��������������� 7� ������ ��� ��	�
������� 2�M��� ��� 	� ��������� ��������� ���� �� ���
����� �� �� �������C �� ��� ���
 	���� ��
��	#��� �� 
����=����

Niveau 1

Niveau 3

Niveau 0

Niveau 2

���� 
��� I %��
�	��� �����,������ 
� Γ -�����
� .%/

7� B6	�� 
��� ���������� �� ���	���� �-	� ��
�	��6� �	���"��#��	 ������	� ( 	� ������6�
�-���2	� %�
� 
��������� ���+� ��
���	��� 7�� 2�M��� ��� ��� ��D��� ���� �� ��������� #����
�� 
� ���6	�	�� �-���� E�	 ��#��	 /F ( 	�� ���� ���6	�	� �-���� E�	 ��#��	 �F� 7� ��#��	 �
�-� ��� ��� ����������C 2��� �	-�� ���� 	������ �� ������	��



���� ����
�� ����	��	���� ��

Niveau 0

Niveau 1

Niveau 2

Feuilles

Racine

���� 
��� I %��
�	��� �����,������ 
� Γ -�����
� &%/ �� ����� ���
���

�,�,�,�,� =������� ��	��� �� $���3���	�� ���� �-��2�� �2���	C 
���	� 
���	�� �������
�	 ��	� �	�� ��&����C �-�L �� ��� �-�
����� 7-��	�#����� �� ���������� B6	�� 
��� �-�������
	� �	������� �� �-� � �	
	� �	������ ���� ����� 
��� >��C �� �-�� ���� �
� ���� 	� 2	�
�	������ ���	������&� 7� ��#��	 / 
������� 	�� ��	�� 
���	��C 
-��� �� R ��
��� S �� �-��2���
7�� 
���	��� �	 ������� ��#��	 �-��������� ��� R &�	����� S �� �-��2��� *���� ��	� ��2�� �	� ��
�����
��C �� ��
��� 
������	� �� R ��	� S �� �-��2��C �� ��� &�	����� �� R 2�� S� 1� R ������� S
���� �-��2�� �����	� �� �	���� �� ��#��	 ��
��M�C �� ��#�������� 	�� ���
���� 
��������� (
	�� ��
����������� �	 �	���� �� ��#��	�

.������ * �� ������� ��	:�	�� R ��&���� S �� CC �� �-�� ���� e(C) ��� 
���	��� ���	�� �� ��
�	2��#����� �� C� ,�� 
���	�� ������� �	 ��	� �	�� ��&����� 7�� &�	����� �-��� ��� �-��&���C
��� �	���� 
���	��� ��� ��	:�	�� �	 ����� 	� ��&��� E����� 
��� ������	����� �	� 
����

���	�� �� 
�	�� ��� ΓF�

������ * 
-��� 2��� �J� �� �������� ��#����� ��	��� ��� 
���	��� ��� �)�
������ 	� ������C ��	&
�� ��
��� �	� �-�� � ���� 1� ���� p(C) �� ������ �� C�

A�	�	��� * �� ������� #������� �� C ��	��� ��� 
���	��� �	 �D�� ��#��	 �� �-��2�� �	� C
����� �	 ����� 	� ������ �� 
���	� �#�
 C� 7� ���2�� �� #������� �-	�� 
���	��
��� ��	:�	�� �	 ����� 	� E����"�D��FC �� �	 ��	� 3 × 3 × 3 = 27� %	) ��#��	) / �� 
C
��	��� ��� 
���	��� ���� #�������� ��	) 
���	��� ���	��� ( ��� ��#��	) ��T������ �� ������
��� 
���������� 
���� #�������C �D�� �� ����� �� ��	
����� 1� ���� v(C) �-�����2�� ���

���	��� #������� �� C�

B���	���� * �� ������� 2�����	�� ��� 
���	��� �	� �� ���� ��� #������� ���� ���� ��� �������
�����
��&� �� ����� *���� ��B������ ������	� �	� ��	) 
���	��� 2�����	�� ���� ��	:�	�� �	
�D�� ��#��	 �� �-��2��� %	) ��#��	) / �� 
C �	
	�� 
���	�� �-��� 2�����	� E�	���	-�����
���� ��	��� #�������F� 7� ���2�� �� 2�����	�� ��	� D��� A���C ���� �-�)
��� :����� 8 ×
27 − 27 = 189� 0� �T��C �� ������ �� C � �	 ��	� �+ #�������C �	� ��� 
��
	�� �	 ��	�
� ��&����C ���� 8 × 27 R 
�������� SC ����� ����	��� �� &�	� =��� ��� #������� �� CC �-�L
�� ���	���� �� 
�! E
&� B6	�� 
��� �	� ���	���� ��	� ������B�� �� � 
�����#� ��	��� ���
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�� ����	��	���� ��


���	���F� 1� ���� b(C) �-�����2�� ��� 
���	��� 2�����	�� �� C� 3�	��6���� �	� ��� 2�����	��
�-	�� 
���	�� C �� ���� ��� ��� R #������ �� ��� #������ S�

Cellule C

Voisines de C

Banlieues de C

���� 
��� I 4
����� �� ��������� 
��� �� 
�����

3	� �� B6	�� 
���C �� � ���������� E���� �� 
�� �� �-���2	� %�
�F �� ��	6� ��� �������� ��
������6� ���"#������� ��4�	 2�����	�� �	) ��#��	) / ( � ��� ������� ( 	� ��6�� �� ��2���� ��
��&����
� E������ ��� �� U�
��F�  �����	��� �	-�	) ��#��	) / �� 
 
�� �����2��� ���� #����C
�� �	-�	 ��#��	 � ��� ���� �6�	)�

�,�,�,� ��'��	���� ����	6�	$��� �������

�,�,�,�,� "������	�� 1� ��
�	�� ����� �2:�� ( �-���� �-	� �
����C ���� N �� ���2�� ��
��#��	) �� 
�� ��2��� 7� ��
��� ��� �� ��#��	 /C ��� &�	����� &������ �� ��#��	 N−1� *��������
�� ������� ���������	� ��� ��	) ��6�������� >�� ��:( ��	����� �-	�� ����C �-��6������� >��
( 	� ��#��	 E�� ��#��	 N − 1 �� �-�

	����
�F 
������� ����� ������ EB6	�� 
��+F '

� �������������� �	 ��#��	 N − 1�
�� �����&��� �	 ��#��	 N − 1 ����� 
���	��� ���"#��������
�� ����6������ �	 ��#��	 N − 1�
�-�	��� ����C �-��6������� >�� ( ��	) ��#��	) E��� ��#��	) N − 1 �� N − 2F 
�������

��) ������ EB6	�� 
���F '


� �������������� �	 ��#��	 N − 1�
�� ������ #��� �� ��#��	 N − 2�
�� �����&��� �	 ��#��	 N − 2 ����� 
���	��� ���"#��������
�� ���
���� �	 ��#��	 N − 1�
�� �����&��� �	 ��#��	 N − 1 ����� 
���	��� 2�����	���
�� ����6������ �	 ��#��	 N − 1�
7�� ������ �������� �� B���� ���� ��� �D���� $�	� ������ �	 ������� �-��6������� �	 ��
���C

�� � ���������� ������
� '

�����&��� �	 ��#��	 d ����� 
���	��� ���"#�������

��� '
������ #��� �� ��#��	 d− 1
�����&��� �	 ��#��	 d− 1 ����� 
���	��� ���"#�������
���
���� �	 ��#��	 d
�����&��� �	 ��#��	 d ����� 
���	��� 2�����	��
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���� 
��� I )��
������ ��� 1 . ������3

�#�
 d = N − 1 2��� �J�� 1� ��	� 	������� 	�� �	2����	���� �� 
� ���� �	� �-����� � E�#�

d = N − 2F �� �2����� ����� 	� ��6������� ( � ��#��	)� *���� ��������� ��� �� &��� �)�
������

���� �	� � ��� ��������� ���� �� �� ���
������� �� �� >�� ( ��	) ��#��	) ( �� ��
���� 
���
��

����
��� ( �-��6������� 
�����	� 1� �����	#� �� �T�� �
� �� ������
���� ����� 
���	��� 2�����	��
�� 
���	��� ����������

7� ������� �������� 
�"����	� �� �-������	� ��	� �����	-�� ����#� �	 ��#��	 d = 2� �� �-�
� ��� �� 
���	��� ���"#������� �	 ��#��	 
C ���
 �-����� R �����&��� �	 ��#��	 � ����� 
���	���
���"#������� S �� ��	��� :����� D��� �����&������ ,�� �	��� ������� �� :	���B�� 
��� ��� ��
���� �	-�	 ��#��	 �C R 2�����	� S ��� �������� �� R ���"#������ S� ���� ����� �)���������
�� �-��2��C �� �� ������� ���
 :����� �� ��#��	 �� *��� 
��������� ( �-��6������� �	����=��
R 
������ S� 1� ��������� R ��#��	 ���&��� S �� �� ������ Nplaf �� ��	� ��	� ��#��	 �)�����
���� �-��2�� ���� �	 
��
	� �	����=��� *� ��#��	 ���� ��	:�	�� 
������ ����� 2 E��6�������

������F �� N − 1 E��6������� ����"��#��	F�

�,�,�,�,� ��'��	���� ������� <�	� ������ �
���� �-��6������� �	����=�� �	���"��#��	
���� �� 
�� �� �� &���	������ 0>�0� 1� �� ����� 	� 
�	���� �	�&�
��	� �
������ t(x) �� ������C
�� 	� ��
�	��6� ��
	���& �� Γ ( �-���� �-	� �
���� ( N ��#��	) EN ≥ 3F� 7�� ��#��	) ����
�	������� /C 
C � � � C N − 1� 1� ���� Nplaf �� ��#��	 ���&����

7� ����	�� A.t �� ������� �� ��	) ������� '

��������	��� ������� * ����� ���� �������� �	 ��#��	 N − 1C �)�
������ 
���� ���� �� 
��
����"��#��	 E
&� ��	����� E
�
�FF�

��������	��� (�	���	��� * �� � � 
��� ������ ���� 
� 
��
	��

�, ��	�	��	���	�� * ��	� ��	�� 
���	�� C(N−1) �	 ��#��	 N − 1C �� 
��
	�� �� &��
����
�� ���������

FC(N−1)(�s) =
∫

x∈Γ∩C(N−1)

eik�s. �xM (N−1)
t(x)dx

�� ��	� ����� �s �� ����� �	�����	�� �� S ��	� �� ��#��	 N − 1�
�, !���
�� * ��	� ��	� ��� ��#��	) d = N − 2, . . . , Nplaf E���� 
�� �����FC �� ��	�

��	�� 
���	�� C(d) �	 ��#��	 dC �� 
��
	�� �� &��
���� �� ��������� FC(d) ( ������ ��

����� ��� ��&���� '

FC(d)(�s) =
∑

C(d+1)∈e(C(d))

eik�s. �M (d+1)M (d)FC(d+1)(�s)
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��

�� ��	� ����� �s �� ����� �	�����	�� �� S ��	� �� ��#��	 d� �� � � N − Nplaf − 1
������ �� ��������

�, 7��������� * �� ��#��	 ���&��� ��� ������ ( �����
$�	� �� ��#��	 d = Nplaf C �� ��	� ��	�� 
���	�� C′(d) B)��C �� ����� �� ��#	� ���


���	��� C(d) �
�,�
������ �� C′(d) ��	� 
��
	��� '

GC′(d)(�s) =
∑

C(d) /∈v(C′(d))

TL(d)

�
M (d)M ′(d)

(�s).FC(d)(�s)

�� ��	� ����� �s �� ����� �	�����	�� �� S ��	� �� ��#��	 ��
$�	� ��	� ��� �	���� ��#��	) d = N − 1, . . . , Nplaf + 1C �� ��	� ��	�� 
���	�� C′(d)

B)��C �� ����� �� ��#	� ��� 
���	��� C(d) ��������� �� C′(d) ��	� 
��
	��� �� ��������
������ �� �� &��
���� GC′(d) '

GC′(d)(�s) =
∑

C(d)∈b(C′(d))

TL(d)

�
M (d)M ′(d)

(�s).FC(d)(�s) E
���F

�� ��	� ����� �s �� ����� �	�����	�� �� S ��	� �� ��#��	 ��
�� � � �� ��	� N −Nplaf ������ �� �����&����

�, #�������� * ��	� ��	� ��� ��#��	) d = Nplaf + 1, . . . , N − 1 E���� 
�� �����FC
�� ��	� ��	�� 
���	�� �	 ��#��	 � ����� C′(d)C �� 
��
	�� �� ��	)���� ������ �� ��
&��
���� �� ��������� GC′(d) ( ������ �	 ������ '

GC′(d)(�s) = eik�s.
�

M ′(d−1)M ′(d)GC′(d−1)(�s) E
��+F

�	� �� �	�����	�� �� S ����
��� �	 ���2�� �� �=��� L(d)� *���� ����� �� ��:�	�� (
�� ������ �� GC′(d) 
��
	��� ���� �� ����� R �����&��� S� �� � � N −Nplaf − 1 ������
�� ���
������

��� ����������� �
 C′(d)

"

�
� ����������� �� ��#
�"

#

��� �����
�
� �
 C′(d)

���� 
��! I  
��������
� 
� 	����� �� 
�� ��������� 	
�� �� ������ 
� GC′(d)

3	� �� B6	�� 
��!C �� � ������ ��� 	�� U�
�� 	�� ��
���	� ���	�� ���� C′(d)� 7�
&��
���� GC′(d) ���������� �-�
���� �	� C′(d) �� ��	�� �� ������ ���"#������ �	 ������6�
E�� ��	6� �	� �� B6	�� 
��!�F� 0��� ��� �� ����� ��	) 
�����2	����� '

I �-	�� ���#���� �	 ������ �� C′(d) #�� �-��	����� E
��+F� 0��� ����� �� 
�����
�-��U	��
� �� ��	�� �� ������ �	 ������6� ���"#������ �	 ������ E�� ��	6�
�	� 
��!2F�
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�� ����	��	���� �!

I �-�	��� ���#���� ��� 2�����	�� �� C′(d) #�� �-��	����� E
���F� 0��� ����� ��

����� �-��U	��
� �� ��	�� �� ������ �	 ������6� 2�����	� E�� ��	6� �	� 
��!
F�

�, ���
'���	�� * ��	� ��	�� 
���	�� C′(N−1)C �� ��	� ��	�� &��
���� �� 2��� ϕj ��
������

���� C′(N−1)C �� 
��
	�� �-����6���� '

ik

16π2

∫
y∈Γ∩C′(N−1)

∫
�s∈S
GC′(N−1)(�s)eik�s.

�
M ′(N−1)yϕj(y)d�sdy

7� ���	���� �� 
���� ����6������ 
������	� �� ������ R ������
���� ��������� S �� �� :"
���� 
��������� �	 #�
��	� A.tC �� �� ��:�	�� ���	��������� ( �� ������ R ������
����
���
�� S�

�� � � �� ��	� 3(N −Nplaf) ������ ���� 
� 
��
	�C �L (N −Nplaf ) ��� �� ���2�� �� ��#��	)
�T�
��#����� 	������� ��� �� >��� 1� �����	#� ���
 ��� � ������ �� �� ������� 	�������� 

��#��	C �� ��� � ������ �� �� ������� ( � ��#��	)� 7�� B6	��� 
��+ ( 
��
 �
���������� ���
��T������ ��6�������� �����2��� �� &��
���� �	 
���) �	 ��#��	 ���&����

%	 ��#��	 ���&���C ��� �����&���� ��� ���	 ����� ��	��� ��� 
���	��� ���"#�������C ����� �	-�	)
�	���� ��#��	)C ��� �����&���� �-��� ���	) �	-����� 
���	��� 2�����	��� *-��� �� ��	�� 
���� (
������� �� 
����� �����	-�� &��� #����� �� ��#��	 ���&���� *��� ����	�� �� &��� �	-�	 ��#��	
���&���C �� &�	� ������� ��	��� ��� ������
����� �-����� ��� ��
��� ��� �������� �	) ��#��	)
��&����	��� 1� � ���2����� 
��� �	� ��� 6������	�� 
��+ ( 
��
 �� ������� 	�� U�
�� ��	�
������� ��	� ��� �����&���� �	 ��	� ��	� ��#��	 �)������
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���� 
��/ I )��
������ ��� 1 & ������3 -Nplaf = N − 3/

 �����	��� �	� �-�� ��	�C �� �� �� ��	�����C 
��
	��� ��� &��
����� �� ��������� F �� G
�	 ��#��	 / �� 
� ���� G ������������ �-�
���� ��� 
���	��� ���"#�������C ���� ���� �	���C �� F
������������ �-�
���� �	� ��� 
���	��� ���"#�������C ���� �� ���� ��� �	���C ���� �� ���#��� ( ����
���� �� �	��� �	 
��
	�� *-��� ��	��	�� ��� ��#��	) / �� 
 ���� �� ��������� �	� �� B6	�� 
��
�

�,�,�,� 9��3�� �&��
���	���

*���� ( �� ��
���� 
������C ��	� ������ ������ �-������� �� ���2�� �-���������� U��������
��������� ���� �-	� 
��
	� �	����=�� �	���"��#��	�

�,�,�,�,� 9����	�� 1� ������� ��� ��������� �	 ����6����� 
�������� �� �:�	���� �� �)"
������ �� ��#��	 
�������� 
���	� &��� �	� 
-��� ��
�������� *��
������ ��� ������� �	 
��
	�C
��� ���������� ndlC λC d ������� ��� �D���� 7� ��	� 
���6����� 
��
���� �-��D�� ��� 
���	��� ��
�� 6����� ��������� ����� a(l) �L l ��� �� ��#��	 �� �-�
���� 
��������� 1� � �� �������� '

a(l−1) = 2a(l)
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���� 
��
 I )��
������ ��� �����,������ �
�	��� -Nplaf = 2/

1� � �6������� ��� ��������� �	�#����� '
I <��2�� �� 
���	��� ' 
���	� 
���	�� �	 ��#��	 l − 1 ������� �� ������� �	���� ��&����
�	 ��#��	 lC 
&� B6	�� 
���C ���
 nC(l−1) = nC(l)/4

I <��2�� �� �����6��� ��� 
���	�� ' nc
T

(l−1) = 4nc
T

(l)

I <��2�� �� ��6��� �� ��2���� ��� 
���	�� ' nc
dl

(l−1) = 4nc
dl

(l)

I <��2�� �� ����
����� �	� �� ������ 	���� ' n�s
(l−1) = 4n�s

(l)

I <��2�� �� �=��� ' L(l−1) = 2L(l)

���� 
��� I 7����� ��"���� 	�� 	����� �� �
�����

�,�,�,�,� "�;� ��� ���$����� 
����� 7-��6������� �	���"��#��	 ��� �� K	#�� �� ��	"
#��	) ����� �-���������� 1� �-��������� �
� ( ��	� 
�J�� �����
��&�� $�	� ��� �����&���� �����

���	��� ���"#�������C �� ��� ����� ��� �� &���	�� E
���F �	� �-�� �������� 
�"�����	��  �6������
�� 
�J� ��� �������C ���
�����C �� �����&���� ����� 2�����	�� ���� �� 
�� �-	�� &���	������ ( �
�������

7�������� ����� �������� ���6$�	�	��� *

f
(l)
trans1 = 4n(l)

C (n(l)
C − 9)n(l)

�s

= ndl
96π2

√
3d2

[
ndl√

3d2(a(l))2
− 9
]



���� ����
�� ����	��	���� +


!���
� * ��	� 
��
	�� ��� 2n(l)
C &��
����� �� ���������C �� ������� 	�� ����������� En(l)

�s ×
, 0+FC 	�� ��������� E0 × , n

(l)
�s +F� 1� ������� ���	��� 2n(l−1)

C �	������
������ ���

sin θ En(l)
�s × , 0+F �	�� �	���� �-�)������������� 7� 
�J� �� 
���	� �)����������� ���

4L(l−1)(L(l))2� 0�B�C �� ��#��� ��� sin θ ��� &��
����� �2���	�� En(l−1)
�s × , 0+F�

����� '

f
(l)
montee = 2n(l)

C (2n(l)
�s ) + 2n(l−1)

C (n(l)
�s + 4L(l−1)(L(l))2 + n

(l−1)
�s )

= π2ndl

d2

[
52
√

3 + 96πa(l)
] E
���F

7�������� ����� 3���	���� * 
���	� 
���	�� ��� �����&���� �	� ��	��� ��� 
���	��� 2�����	��
���� 27n(l)

C �����&����� *���	� �����&��� ����� �	� ��	) &��
����� �� ��������� E(FC)θ
�� (FC)φF ( n

(l)
�s ������ 
��
	��C �#�
 (1 × , 1+) ( 
���	� &���C ���� 	� ����� �� 4n(l)

�s
���������� ��� �����&�����
����� '

f
(l)
trans2 = 108n(l)

C n
(l)
�s

= 864
√

3π2ndl

d2

E
��!F

,� ����� ( ��	��6��� ��� �	� 
� 
�J� ��� ����������� �	 ��#��	�

#������� * ��	� 
��
	�� ��� 2n(l−1)
C &��
����� �� ���������C �� ������� 	�� ��#����� ��� sin θ

En(l−1)
�s × , 0+FC 	�� ���	
���� ���� �� 
�J� ��� 4L(l−1)(L(l))2C �� 	�� �	������
����� ���

sin θ En(l)
�s × , 0+F�

$	��C ��	� 
��
	�� ��� 2n(l)
C &��
����� �� ��������� �	 ��#��	 lC �� ������� 	�� �����������

�� 	�� ���������C ���� E2n(l)
�s × , 0+F�

����� '

f
(l)
descente = 2n(l−1)

C (2n(l−1)
�s ) + 2n(l−1)

C (n(l−1)
�s + 4L(l−1)(L(l))2 + n

(l)
�s )

= π2ndl

d2

[
52
√

3 + 96πa(l)
] E
�+/F

1� �����	#� �)�
������ �� �D�� 
�J� �	� ��	� �� �������

�,�,�,�,� �C��� �&�� �	$��� $�	� 	� ������6� ����� Endl �� d B)��FC �� �	����� �#���
�
��� 	�� ������� �	����=�� ���� �� ��#��	 ���&��� ��� lC �� ���� ��	:�	�� a(l) �-��D�� ���
2�M��� ( 
� ��#��	� 7� �	������ ( ���	���� �� ��	����� �������� ��� ' ���"�� �����2�� �� ��:�	���
	� ��#��	 ( ����� >��5 7� ��:�	� �-	� ��#��	 �	 
��
	� �	����=�� ��#���� ( �T�
�	�� �� �	2"
����	���� ��
���� ��6� ��� <�	� ������ 
�����2������ �� 6��� �2���	 ( ���#��� 
���� ����B
�����
�� �-��6�������� a(l) ���� ����� ����������

7� ���2�� �-���������� �	������������� �-�
��� '

∆(a(l)) =
[
f

(l)
montee + f

(l−1)
trans1 + f

(l)
descente + f

(l)
trans2

]
− f (l)

trans1

= π2ndl

d2

[
968
√

3 + 192πa(l) − 24
ndl

d2(a(l))2

]

∆(a(l)) ���������� �� ���2�� �-���������� �	� �-�� ��:�	�� �	 
��
	� �����	-�� �)����� 	�
��#��	 �	������������ �� �-�
����� 3� ∆(a(l)) > 0C ����� �� 
��
	� ����B� ��� ��	� ���6 �	�
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��

�-���6����� 3� ∆(a(l)) < 0C ����� �� ��:�	� �-	� ��#��	 �	 
��
	� ��� 2���B�	�� 0�	����� ���

��� #��������� �� ∆(a(l))� $�	� a(l) > 0C �� ����#�� �� 
���� &��
���� ��� ��	:�	�� ������#� '

∂∆(a(l))
∂a(l)

= π2ndl

d2

[
192π + 48

ndl

d2(a(l))3

]

���
 ∆(a(l)) �-���	�� �� 	� ��	� ������ 0� 	�������� �����C �#�
 �Z
/C �� ���	#� ���
���	����� �	�#����� ��	� ��T������� #���	�� �� ndl E��2���	 
��F� 7�� #���	�� �����	��� ���� ���
������� �� 2�M���C �)������� �� ���2�� �� ���6	�	�� �-�����

ndl  �
��� �� ∆
103 0,356
104 1,023
105 2,696
106 6,536

���� 
�� I ������ 
� ∆(a(l))

3� �� ������ �� 2�M��� �	 ��	� ��	� ��#��	 a(l) ��� ��	� ������ �	� �� ��
���C ∆(a(l)) ���
��6���&C �� ��:�	� �-	� ��#��	 ���� �-��6������� ��������� �-�

������ �� 
��
	�� %	 
��������C
�� a(l) ��� ��	� 6���� �	� �� ��
���C 
� ��:�	� ��� ��
��������� ���� �� ���	�� �L �-�� ��	�����
�������� ��� �����&���� �	 ��#��	 l − 1C �� � &��
����� l − 1 ≥ 2 ���� l ≥ 3�

$�	� �)������� �-��	�� �	� ���
���C �� &�	� 
����M��� (a(0)λ)C 
-��� ( ���� �� ������ E�� �����F
�� �� 2�M�� 
	2��	� ��6��2��� ��	� Ω� 1� 
����M� �� �	�&�
� �	 ������6� ' |Γ| = λ2ndl

2
√

3d2
� 0�

6������C |Γ| ��� ������������� ( (a(0)λ)2 E���� �� �	�&�
� �� �-�2:�� 
���� 
���� �� 
���� �� ���
��������F� 7� 
��9
���� �� ���������������� ������ �� �� &���� �� �-�2:��� $�	� 	�� ������C ��
#�	� π� ���� �� 
�� �-	� �2:�� ����
� 
���� 	� �#���C �� ��� ��	� ���
�� �� 1/2� $�� �)�����C
��	� �-���2	� %�
� ���������� B6	�� 
���C �� �	�&�
� �	 ������6� ��� �� 713 m2C ����� �	� ��
2�M�� ��6��2���� � 	�� ��D�� �� 34,1 m E���������� ��� �-��#��6	�� �� �-��������F� 7� 
��9
����
�� ���������������� ��� ���
 �� 0,61�

���� 
��� I )����� )&*+

$��Q��� ��	� ���� �� 
�� ' |Γ| = 2.(a(0)λ)2 �	� 
��������� ( 	� �2:�� ��	�=� 
����
� E�#���
�� 
�����C ��
���� �� ���
��	�C #���	��F� 1� � ����� '



���� ����
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


a(0) =

√
|Γ|/2
λ

=
1
d

√
ndl

4
√

3
,

a(3) =
a(0)

8

E
�+
F

ndl a(0) a(3)

103 
C� /C
�
104 �C� /C�+
105 
�C/ 
C�
106 ��C/ �C+

���� 
�� I $����� 
�� �
8��� ��3 ������3 9 �� &

7� ��2���	 
�� ����� ��� #���	�� �� a(0) �� �� a(3) ��	� ��� �D��� #���	�� �� ndl �	� ����
�� ��2���	 
��� % 
���	� &���C �� 
������� �	� a(3) ��� ��&����	� ( �� ��
��� �� ∆� �� �� ������
�� �D�� ��	� a(4)C a(5) �� ��	� ��� �	�#����� *� �	� ��6��B� �	� �	�� �	� ���� �� ��#��	 l ≥ 3

�������� ∆(a(l)) < 0C �� 6�6�� �	 ����� ( &���� ������ �-��6������� �	 ��#��	 l − 1�

$�� 
�����	���C �-��6������� �	����=�� �� ��	� ������ ��� �-��6������� 
������C �	� �)�����
��	� ��� ��#��	) ���	�� ��� &�	����� :	��	-�	 ��#��	 �� 8��� �J�C 
-��� 	� ���	���� �2���	 �����
�� ���2��	��� ������B
������� <�	� #������ �	) 
�������� �	�#���� 
� �	-�� �� ��� �� ������	�
E
&� ��
���� ����+ ���� �� 
�� ���	������C �� ����
 ���� �� 
�� ���������F�

�,�,�,�,� 9��3�� ����� �&��
���	��� 1� ���� af �� ������ ��� &�	�����C N �� ���2�� ��
��#��	) �� �-�
����C �� ndl �� ���2�� �� ��6��� �� ��2���� �	 
��
	�� 1� �-��������� �	 
�J�
����� �� �� ������� �	����=�� �� &��
���� �� 
�� ����� �����������

7�� ��T������� ������ �	 
��
	� ��� ��� 
�J�� �	�#���� '

��������	��� ������� * �-����� �� &���	�� E
���FC �� � '

fproche = ndl18
√

3d2a2
f

��	�	��	���	��� * �� ������� �� &���	�� E
���F '

finit = ndl

[
288π2a2

f +
240π2

√
3d2

]

���
'���	��� * �� 
�J� ��� ����6������� ��	� ��� ����� ��� �-��	����� E
���F '

finteg = ndl24π2

[
6
√

3
d2

+ 66a2
f

]

7��������� * �-����� �-��	����� E
��!FC ��� ��� 	� 
�J� ����������� �	 ��#��	� 1� �� �	�������
��� �� ���2�� �� ��#��	) �L ��� �����&���� ��� ���	 ' N − 2C �� �-�� �2����� �� 
�J� �����
��� �����&���� '

ftransfert = 864
√

3π2ndl

d2
(N − 2)
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!���
�� �� ��������� * �-����� E
���F �� E
�+/FC ��� ���������� �� ���
���� �� �� ������
��� �� �D�� 
�J� ' π2ndl/d

2
[
52
√

3 + 96πa(l)
]
� ���� 
���� &���	��C l ����6�� �� ��#��	

��&����	�� ���
 l #���� �� N − 1 ( 3C �� 
��:��������� a(l) #���� �� af ( 2N−4af � 7� 
�J�
����� �-�
��� '

fmont/desc = 2
N−1∑
l=3

π2ndl

d2

[
52
√

3 + 96πa(l)
]

= 2π2ndl

d2

[
52
√

3(N − 3) + 96πaf (1 + 2 + 4 + · · ·+ 2N−4)
]

= 2π2ndl

d2

[
52
√

3(N − 3) + 96πaf (2N−3 − 1)
]

E
�+�F

$�	� �)������� ��	� 
���C �� &�	� �������� �	� af �� N ���� ���� ��� �� 
�������� '

2N−1af = a(0)

 �������� �� #���	� �� a(0) ������ ��� E
�+
FC �� �2����� �� �������� '

2N−1af =
1

d
√

4
√

3

√
ndl

1� ��������� �� #���	� �� N '

N = 1 + log2(
1

d
√

4
√

3

√
ndl

af
)

= 1− log2(d
√

4
√

3) +
1
2

log2(ndl)− log2(af )

E
�+�F

1� �� ���	�� �� ���2�� ����� �-���������� '

ftotal(ndl,af ,d) = ndl

[
18
√

3d2a2
f −

848
√

3π2

d2
+ 1872π2a2

f

+ 968
√

3π2 1
d2

(− log2(d
√

4
√

3) +
1
2

log2(ndl)− log2(af ))

+
48π3

d3
√

4
√

3

√
ndl −

π2

d2
192πaf

]

7� &���	�� ������� �� ���2�� ����� �-���������� ftotal(ndl,af ,d) ��� 2��� �J� ���� ����"
���	�C �� �-�� #���� ��	� ���� 
� �	-�� �� ��� �� ������	�� <�������� ��	� ������ 	������� 
����
�)�������� ��	� �� ���	��� ��� ���	����� ������������ 
��
������ �� ������ �� &�	���� ��������C
�� �� 
�����)��� ����������	� �� �� ��������

�,�,�,�,� "��	/ �� �� ��	��� ��� ���	���� 7-�2:�
��& ��� �� ���������� �� #���	� ��������
�� af ��	� 	� ������6� ������ 7� ��������
� �� ftotal ��� ������� ( af &��� ������M��� ���
������ �� af C �� a2

f C �� log af �� ��� ������ 
��������� 1� ���� ��	� ������B�� '


ftotal(af ) = α1a
2
f + α2af + α3 log af + α4,

α1 > 0,
α2 < 0,
α3 < 0
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$�	� ��	���� ��� #��������� �� ftotal(af )C �� 
��
	�� �� ����#�� '

f ′total(af ) = 2α1af + α2 + α3
1
af

0��� 
��M� �� −∞ ( +∞ ��	� af #������ �� 0 ( +∞� 0��� �� �-���	�� �	� ��	�

af =
−α2 +

√
α2

2 − 8α1α3

4α1
E
�+�F

7� &��
���� ftotal ��� ���
 ��
��������� :	��	-( 
� �����C �L ���� ������� ��� �����	� �#���
�� ��
��M���� ������� ��� #���	�� ��� 
��9
����� αi '


α1 = ndl(18

√
3d2 + 1872π2),

α2 = ndl(−π2

d2 192π),
α3 = ndl(−968

√
3π2 1

d2 ),
α4 = ndlπ

2

d2

(
−848

√
3 + 968

√
3(− log2(d

√
4
√

3) + 1
2 log2(ndl)) + 24π

√
ndl

d31/4

)

7�� ������ �� log ndl ��
√
ndl ���� ��	� ���� α4C ��� ����� �	���� 
��9
����� ���������

������������ �� ndl� ��� ����C �� ��� 
���� �	� �� #���	� �������� �� af ������ ��� E
�+�F ��
������ ��� �	 ���2�� �� ��6��� �� ��2�����

<	�����	�����C �#�
 d = 10C �� ���	#� �� #���	� �������� af = 0,075� ���� 
���� ����
�� 
�� ����"��#��	C ����� ��	�� R &�#����� S ��� ������� 2�M��� �� � ��	�"�������� �� ���2�� ��
�=���� $�	� 2��� &����C 	�� ����� ��	�� ��#�� D��� �������� ����
������ ��� �� ��6�
��� �� >���
0� ������	�C 	�� #���	� �� af 
������� ����� 0,25 �� 0,5 ����� �� 2��� ���	������

�,�,�,�,� "�����/	�
 �� �&��'��	���� $�	� ������B�� ��� �)���������C �� 	������ �� #�"
��	� �	�����	� d = 10� %#�
 	� ��6�
��� 
���� �����C �� �2����� �-�)�������� �	�#���� ��	�
�� ���2�� ����� �-���������� '

ftotal =
[
2,16.104a2 − 59,5a− 9,26.102 − 2,39.102 ln(a)

]
ndl

+ 1,19.102ndl ln(ndl)

+ 0,56ndl
3/2

$�	� ��� #���	�� �� ndl ������C �� ����� ������������ ��� 
��	� �� ndl ln(ndl)� 7����	� ndl

��#���� 6����C 
-��� 
��	� �� ndl
3/2� 7� ���������� �� &��� �����	� 119ndl lnndl = 0,56n3/2

dl C ����
ndl = 1,18.107� *� ��	�� �� ������ ��� �� �� ������ ��� &�	����� af �

��) �������� �-��
���	�� ��	� 	� 
��
	� �� 
� ���� ��� 	�� #���	� 
��������2��� $�� 
����"
�	���C �� � 	� ��6������� ���� �� 
�����)��� ����������	� ��� n3/2

dl C ���� ��	� ��� #���	��
	�	����� E�	 :�	� �-�	:�	��-�	�F �� ���2�� �-���������� ��� ������������� ( ndl lnndl� 3� ��
������� ��� 
��
	�� ��	� #��� �� ���#����
� �� 
�� �)������ 3/2C �� 
������� �	-�� ���#���� ���
���������� �-�)����������� �� �� ���	
����� �D�� �� ����� �� �������� �	:�	��-�	� �	� ��	 ��
�����C �� &�	� ���
 6����� ( �-������ �	� ��	� �� ���� 6������ #���	�� �� ndlC ����� 
������	���
�-����� 
�����	� E�� � �-�����	�� �#��	� �� �����2����� �-� ��
�	�� 	�� >�� 
� ��	� �����	��
�� 
�����)���F�
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�,�,�,�,� "�����/	�
 ���	���� $�	� �� �������� �#�
 �-��	�� �	 ���2�� �-����������C
��	� ������ ��6����� �	���� ������ �� 
�����)��� �� �� ������� �� �� � ������������ 	�� �)���"
��������4���	
���� 	�������� 	�� >�� ����"���������������

7-�)����������� E�� �� ���	
����F ��� ���� ��	� �������������� �
�	���� 	�� 
�����)��� ��
(L(l))3 ���� ( �� ������
� �	 ����	�� �����
�"#�
��	� E
��!F ����B� ��	� �� &���� E
��
F� 3� ��
������� �� ����	�� ��� C #�� 	�� ������� �	����=��C �� 
�����)��� �� ������ ( (L(l))2 log(L(l))�
���� 
� 
��C �� ����� �� a(l) ���� ��� ��	������ E
���F �� E
�+/F ������� �� 
�J� ����#��	��
�-	�� ������ �� ���
���� ��#���� log(a(l))� ���� �-��	����� E
�+�F ������� �� 
�J� 
	�	�� ���
�������4���
�����C �� ����� '

af (1 + 2 + 4 + · · ·+ 2N−4)

��#���� '

log(af ) + log(2af ) + . . .+ log(2N−4af )
= (N − 3) log(af ) + (1 + 2 + . . . + (N − 4)) log 2
= (N − 3) log(af ) + (N − 3)(N − 4)/2 log 2

%#�
 af B)� �� N ����� ��� �-��	����� E
�+�FC �� ����� 
�"����	� � 	�� 
�����)��� �����"
�����	� �� N2 ���� log2(ndl)� ���� �� 
�J� �����C �� ����� �� (ndl)3/2 ��� ������
� ��� 	� �����
�� ndl log2(ndl)� 7� 
�����)��� �� �� ������� �	����=�� �	���"��#��	 
������� ��� ���
 �����"
�����	����� ndl log2(ndl)� 8��� �J�C 
���� 
�����)��� �-��� �������� �	� ��	� �� ���� 6������
#���	�� �� ndl �	�����	��� ( ��) ���������

�,�,�,�,D 2���E�'� 7�� ��	) ����
������ ������� ( ���
;�� ���� �� �����
� ��� ������
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√
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	� ����	�� �����
�"#�
��	� �	� �� �	2����	� �	 ����	�� 
������	�C �� ��	����� &���� �� �����	�
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�� ������ �����C 
�� ����

���	����� ( R ��U�
��� S �-��6������� ( 
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�"#�
��	��

1� � 
����� 	�� �����
�� �	� ������ �� 
������� �� �-��6������� �� ��� �)�
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���� �� ��������� F ���� �	� 
����"
� �-� ���
��� 
��
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������ ���������� �� ��#��� ( 
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ε = 10−3 1,29.10−3 1,39.10−3 7,30.10−3 8,53.10−3

ε = 3.10−3 1,29.10−3 1,39.10−3 7,30.10−3 8,53.10−3

ε = 10−2 1,29.10−3 1,39.10−3 7,30.10−3 8,53.10−3
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ε = 10−1 1,27.10−1 1,32.10−1 2,34.10−1 2,54.10−1
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l (k.R)
]
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∑
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∑
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���� �	) 
�	���� (α,ε) ������� �� 
������ ����
� ' log2(Eα,ε/E1,0) ∈ [0,1]� 7� 2���� 6��� 
����

��������� �	 
������ ���6� ' log2(Eα,ε/E1,0) ∈ [1,3]� 0�B� �� A��� 6��� &��
� 
��������� ( ���
#���	�� �� (α,ε) �� �����&������ �	
	� 
�������

 �6������ ��	� �-�2��� �� ������ ( 
+��� ��
���	�� EB6	�� ���F� 7� 
������ ε = 0 �	������
�� ��	����6� �� ������ �� ������ �� ��	� ��������� α� 1� � #��� �	� �-����	� ���� ( �	6������
�#�
 α� 7�� 
��2�������� (α,ε) ������� �� 
������ ����
� ���� (α = 1,0; ε ≤ 3.10−2)C (α =
1,2; ε ≤ 3.10−3)C (α = 1,4; ε ≤ 3.10−3) �� (α = 1,6; ε ≤ 10−3)� $�	� �� 
������ ���6�C �� ��:�	��
��� 
��2�������� (1,2; 10−2)C (1,4; 10−2)�� (1,6; 3.10−3)� 3	� 
� 
��C �� ��:���� ��B����#�����
�� #���	� α = 2,0 �� ε = 0,1�

 �6������ ���������� �� 
�� �� �-�#��� ( ���+� ��
���	�� EB6	�� ���F� *�� �2:�� ��� 2��	"

�	� ��	� 6��� �� 
�����)� �	� �� ������ ���
�������� ������� 7� ������6� ��� ����� B�
Eλ/7,5 
����� λ/10 ��	� ��� �������FC ����� ��6	����� 7-����	� ������#� � ��� ��	� �����������
<�������� �� 
������� �	� ��� 
�	���� (α,ε) ������� �� 
������ ����
� �	 ���6� ���� ��� �D���
( �	���	�� �)
������� ���� ' ��	� �� 
������ ����
�C �� ��:�	�� ��� 
��2�������� (1,2; 10−2)C
(1,4; 10−2) �� (1,6; 3.10−3)� $�	� �� 
������ ���6�C �� ��:�	�� ��� 
��2�������� (1,6; 10−2)C
(1,8; 10−2) �� (1,8; 3.10−3)�

$������ ���������� ( ��� ������6�� ��	� �����������  �6������ ��	� �-�2��� �� 
�� ����"
���	� ( 

�!/� ��
���	�� EB6	�� ��+F� �� ��� ��������� �� ��	��6��� �	� �	� ��� ��
����� ��
����� E��	) �������� �0* �// �@A �� �����	FC �� ����	�� �	����=�� ��
������ ��	������ �/
��
�����C 
����� ���� �� �/ ��	��� ��	� �� ����	�� 
������	�� 1� 
������� �	� ��� 
��2��������
EαC εF ������� ��� 
������� ���6�� �� ����
�� ���� �)�
������ ��� �D��� �	� 
� ������6� �	� �	�
�� ������ ( 
+��� ��
���	���

 �6������ ��B� 	� ������6� �-�#��� ( !�+/� ��
���	��C 
������������ ( 	�� ��#��6	�� ��
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α ε = 10−1 ε = 3.10−2 ε = 10−2 ε = 3.10−3 ε = 10−3 ε = 0

�/ 1,27.10−1 1,66.10−3 1,29.10−3 1,29.10−3 1,29.10−3 1,29.10−3


�� 1,90.10−1 4,82.10−2 4,61.10−3 1,30.10−3 1,29.10−3 1,29.10−3


�� 2,60.10−1 9,69.10−2 9,24.10−3 1,33.10−3 1,33.10−3 1,33.10−3


�� 3,01.10−1 1,29.10−1 2,03.10−2 3,43.10−3 2,20.10−3 2,21.10−3


�� 3,47.10−1 1,53.10−1 5,23.10−2 1,77.10−2 1,74.10−2 1,74.10−2

��/ 2,80.10−1 1,77.10−1 1,21.10−1 1,06.10−1 1,05.10−1 1,05.10−1
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α

���� ��� I 0	���� *<&.+ 2 ������ 
�� ��3 �����"����

α ε = 3.10−2 ε = 10−2 ε = 3.10−3 ε = 10−3 ε = 0

�/ 7,62.10−3 7,30.10−3 7,30.10−3 7,30.10−3 7,30.10−3


�� 6,96.10−2 1,02.10−2 7,31.10−3 7,32.10−3 7,32.10−3


�� 1,74.10−1 1,68.10−2 7,45.10−3 7,44.10−3 7,44.10−3


�� 1,83.10−1 3,57.10−2 9,31.10−3 8,28.10−3 8,28.10−3


�� 2,23.10−1 8,37.10−2 3,17.10−2 3,13.10−2 3,13.10−2

0.03
0.01

0.003
0.001
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α ε = 3.10−2 ε = 10−2 ε = 3.10−3 ε = 10−3 ε = 0

�/ 2,04.10−3 1,39.10−3 1,39.10−3 1,39.10−3 1,39.10−3


�� 4,66.10−2 5,04.10−3 1,40.10−3 1,39.10−3 1,39.10−3


�� 1,05.10−1 1,09.10−2 1,56.10−3 1,42.10−3 1,42.10−3


�� 1,19.10−1 2,33.10−2 3,44.10−3 2,27.10−3 2,27.10−3


�� 1,40.10−1 4,98.10−2 1,68.10−2 1,64.10−2 1,64.10−2

0.03
0.01

0.003
0.001
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α

���� ��+ I 0	���� **.>9+ 2 ������ 
�� ��3 �����"����

α ε = 3.10−2 ε = 10−2 ε = 3.10−3 ε = 10−3 ε = 0

�/ 8,94.10−3 8,53.10−3 8,53.10−3 8,53.10−3 8,53.10−3


�� 8,13.10−2 1,23.10−2 8,53.10−3 8,53.10−3 8,53.10−3


�� 2,05.10−1 2,05.10−2 8,67.10−3 8,61.10−3 8,61.10−3


�� 2,09.10−1 4,17.10−2 1,06.10−2 9,40.10−3 9,40.10−3


�� 2,47.10−1 9,60.10−2 3,27.10−2 3,20.10−2 3,20.10−2

0.03
0.01

0.003
0.001

0
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1.8
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3

4

5
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ε

α
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29λ EB6	�� ���F� 7�� 
��2�������� (α,ε) ������� �� 
������ ����
� ���� (α = 1,0; ε ≤ 3.10−2)C
(α = 1,2; ε ≤ 10−2)C (α = 1,4; ε ≤ 3.10−3) �� (α = 1,6; ε ≤ 3.10−3)� $�	� �� 
������ ���6�C ��
��:�	�� ��� 
��2�������� (1,4; 10−2)C (1,6; 10−2) �� (1,8; ε ≤ 3.10−3)�

�,�,�,�,�,� 25������ ��� �
������� 1� � ���	�� ��	� 
�� ���	����� ���� �� ��2���	 ���
�� �������� ��	� 
���	� 
��2������� (α,ε) �� 
������ �� ��	� ��#��� �	� ��� � 
�� ��	����� 1� �
������	�� ��	� ��� 
�� ���������� �� ��	) �� ���������6� ��� �����
�� �� �����&��� ��	� r = 16λC
4λ C λ�

α ����� ε = 10−1 ε = 3.10−2 ε = 10−2 ε = 3.10−3 ε = 10−3 ε = 0

�/ �	
	� ����
� ����
� ����
� ����
� ����
�

r = 16λ ���/� ����/ !���� !!��� 
//�
r = 4λ �/��� �!��! !��!! !!�!� 
//�
r = λ �+��� !���
 !!�!� 
//� 
//�


�� �	
	� �	
	� ���6� ����
� ����
� ����
�
r = 16λ 
���� �/�!� ���/� 
//�
r = 4λ ����� ���// !
��� 
//�
r = λ +!�+! !+�/� !!�+� 
//�


�� �	
	� �	
	� ���6� ����
� ����
� ����
�
r = 16λ 

��� 
��/� ����� 
//�
r = 4λ ����� �+�!� +!�/+ 
//�
r = λ ���/� !���� !!��+ 
//�


�� �	
	� �	
	� �	
	� ���6� ����
� ����
�
r = 16λ 
���� ����+ 
//�
r = 4λ �/��/ �!�!
 
//�
r = λ �!��! !��+� 
//�


�� �	
	� �	
	� �	
	� �	
	� �	
	� �	
	�
r = 16λ
r = 4λ
r = λ

��/ �	
	� �	
	� �	
	� �	
	� �	
	� �	
	�
r = 16λ
r = 4λ
r = λ

���� ��� I  ������ 
� 	������
� �� $��3 
� ���	������� �� "
����
� 
� α �� ε

7� 
���) ������� ��� 
��	� �	�C ��	� 	� 
������ �� ���
����� �����C �������� �� ��	) ��
���������6� ��� �����
�� �� �����&����

I $�	� �� >�� R ����
�� SC �� 
���) ������� ��� (α = 1,4; ε = 3.10−3)�

I $�	� �� >�� R ���6� SC �� 
���) ������� ��� (α = 1,4; ε = 10−2)�

$�	� ��� ����� ��#��	) ��� ��	� 2�� �� �-��2��C �	���� �	� ���� �� #���	� �� αC �� ��	) �� ���"
������6� ����� ���
�� �� 100%� 1� ����� ���
 (α = 1; ε = 0) ( 
�� ��#��	) E���� �� � 	������
��� �����
�� �� �����&��� 
������	��F�
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*���������� �� 
�� �� ����� ������6� �-�#��� ( ���+� ��
���	��� ,� ����	�� �����
�"#�
��	�
�	����=�� �	� 
� ������6� &��� ����� ( ���� �� 
�/�/// ���������� �� �����&���C �� ( �	���� ��
�����
�� �� �����&��� ( 
��
	���� $�� ��&�	�C 
��� #� ����������� �/ [ �	 ����� ��
������� ( 	��
��������� �� >��� <�	� ������ ��������� 	�� ����� �-������������� �	� #� ������� �� ���2��
�� �����
�� �� �����&��� 
��
	���� ( 
�+ E��	� 
� 
�� ( ���+� ��
���	��FC �� ��#���� �� �����
��
������� �	) �����&���� ��� 
/�

�,�,�,� 1
�������������� ��� ��
���	���

7� #�
��	� �� �����&��� �R ����� �� 
����� �� �� 
���	�� ��	�
� �	 
����� �� �� 
���	�� �������"
����� *�� ��������� ����� ����6���� ( �� ���	
�	�� �-	� �
����C ��	�� 
������ ���� ���
�� �	� 	��
6����� ����������������� ���� �� ��� ���� ��� ����
����� )C �C �� A ��� �6��� ( �-��D�� ����� a ���
� 
���	��� 
��
������� $�� 
�����	���C �� #�
��	� �R � ��� 
���������� �	� ���� ��� �	�������
������� �� a� 1� ��	� ���
 �
���� '

�R =


 nx.a

ny.a
nz.a




�L nxC ny �� nz ���� ������� ������&�� 7� ������ �� �-�2:�� ����� B���C �� �)���� 	� ���2�� B�� ��
�����
�� �� �����&��� ( 	� ��#��	 ����� �� �-��2���

���� �� 
�� �-	�� ������� �	����=�� �	���"��#��	 
�������C 
-���"("���� �)������� �� ��"
������ �� �-��2��C �� #�
��	� �� �����&��� �R ����� ��	) 
���	��� ���"#������� ���� ��� �������
�����
��&� ���� #������� 7� &��� �	� ��� 
���	��� ������ ���"#������� ������	� '

(nx,ny,nz) /∈ [−1,+ 1]3

N	� ��� ����� ������ #������ ������ �� �	���

(nx,ny,nz) ∈ [−3,+ 3]3

7� ���2�� �� �������� (nx,ny,nz) #���B��� 
��� ��� 73 − 33 = 316�
���� �� 
�� �-	�� ������� �	����=�� ������������� �	���"��#��	C �� ���	����� ��� ��6�������

��T������ �	 ��#��	 R ���&��� SC �	���	� �� 
�������� �	� ��� ����� �������M�� 3� �� ��� �	 ��#��	
n �� �-��2��C �� ��	� :	��� �9���� �	�

(nx,ny,nz) ∈ [−(2n − 1),2n − 1]3

7� ���2�� �� �����
�� �� �����&��� ��T������� ��� ���
 ��&����	� ( (2n+1 − 1)3 − 33�
���� ��	� ��� 
�� �� ���2�� �� �����
�� �� �����&��� 	�������� ��� ���6����� ��&����	� �	

���2�� �� �����&���� �T�
��#����� ��������� $�� 
�����	���C 
���	� �����
� �� �����&��� ��"
���2��� ���� ��	#��� ���#�� ��	���	�� &���� �� �	9� ��	� 
��� �� ���������� ��� �����&���� ��
&�Q�� ( ��6��	��� 
�	) 	�������� �� �D�� �����
�� *��
��������C ( 
���	� ��#��	 �� �-��2��
E
-���"("���� ��	� 
���	� ��	�"����� �� �����&���F �� ��	� 
���	� �����&��� �-	�� 
���	�� C1 #���
	�� 
���	�� C2C �� 
��
	�� �� #�
��	� �� �����&��� �R = MC2 −MC1 C �	�� �� ������� (nx,ny,nz)�
1� ���� ���	��� ��	��� 
�� ���������� ( �-�������	� �� �� ��	�"����� �	� �� 2��� �� 
� ������� E	�
��6������� �� ��� ������ 
���� �	�
;���� &��� Q� ���� 2���F� 7� 6��� ��� �������� ' �	 ���	 ��

��
	��� 	�� �����
� ��� �����&��� E���� ��#���� �/ �����
�� ��� 
���	��FC �� 
��
	�� �	 ��	� �
�
�����
�� ��� ��#��	 E���� �� 
�� �-	� 
��
	� �	���"��#��	 
������F�
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�� �)���� 	� �	��� ����� �� �����	�� �� ���2�� �� �����
�� �� �����&��� 
��
	�����  �6��"
���� ��	� 
��� �-�)�������� 6������� �� �-�������	� TL

�R
'

TL
�R
(�s) =

∑
0≤m≤L

(2m+ 1)imh(1)
m (k.R)Pm(cos(�s, �R))

���� 
���� �
���	��C �s ���������� ( �� ������ 	���� S� 1� ��	� ���
 �-�
���� ��	� �� &����

�s =


 sin θ. cosφ

sin θ. sinφ
cos θ




�#�
 �� �������� �2��6�� �s = (θ,φ)� 1� ���� ��� �����	�� �� #�
��	� �� �����&���

�R =


 rx
ry
rz


 = a.


 nx

ny

nz




3��� P 	� ���� ������� ��� �-���6���C �� SP �� �������� �����6����� ��� ������� ( 
� �����
1� � ����� ' {

‖SP (�R)‖ = ‖�R‖,
cos(�s,SP (�R)) = cos(SP (�s), �R)

�-�L �-�� ���	�� �� ���	���� �	�#��� '

TL
SP (�R)

(�s) = TL
�R
(SP (�s))

%	������� ���C �� �-�� 
����M� TL
�R
C �� 
����M� ������������� TL

SP (�R)
��	� ��	� ���� P

������� ��� �-���6���� ���� �� ������	�C �s ���������� ( 	�� 6����� (θi,φj) ���
 �� &�	� 
������ P
��	� �	� SP (�s) ���� �	��� ���� 
���� 6������ 1� �	����� ���� �� �	��� �	� �-�� 	������ �� 6�����
���� 	�	���� �� �� ��
���� 
����������� �� &�	� 2��� �J� 
������ P ��	� �	� SP (�R) ���� �	�"�D�� 	�
#�
��	� �� �����&���� 7�� 
���������� �� �R ����� ��� �	������� ������� �� �-��D�� ��� 
���	��� aC
��	�� �������� SP �	� �
���6� � 
���������� �� �RC �	 �	� 
���6� �� ��6�� �-	�� 
����������
�� �RC �����&������ �R �� 	� �	��� #�
��	� �� �����&��� R 
������� S� X��
� �	���� ����� P
��������� ( 
���� ��	2�� ������� '

���� (xOy) * 7� �������� SxOy 
���6� �� ��6�� �� �� 
���������� zC �� �����&���� θ �� π−θ '
{
SxOy(�R) = (rx,ry,− rz),
SxOy(�s) = (π − θ,φ)

���� (xOz) * 7� �������� SxOz 
���6� �� ��6�� �� �� 
���������� yC �� �����&���� φ ��
2π − φ ' {

SxOz(�R) = (rx,− ry,rz),
SxOz(�s) = (θ,2π − φ)
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���� (yOz) * 7� �������� SyOz 
���6� �� ��6�� �� �� 
���������� xC �� �����&���� φ �� π−φ '{
SyOz(�R) = (−rx,ry,rz),
SyOz(�s) = (θ,π − φ)

(π − φj) ���� ���� �� 6����� (φj) ��� ���� �	� �� ���2�� �� ������ ����� φ ���� �����
���� (zOd) * 1� ���� d �� 2����
���
� �� �-��6�� E)1�F� 7� �������� SzOD �
���6� ��� 
���"

������� x �� yC �� �����&���� φ �� π/2− φ '
{
SzOD(�R) = (ry,rx,rz),
SzOD(�s) = (θ,π/2− φ)

(π/2− φj) ���� ���� �� 6����� (φj) ��� ���� �	� �� ���2�� �� ������ ����� φ ���� �	������
�� ��

��	) �����
�� �� �����&��� TL
�R
�� TL

�R′ ��	#��� D��� ���	���� �-	�� �� �-�	��� ��� �	-�� �)����

	�� 
��2������� �� 
�� � ��������� �	� �����&���� �R �� �R′� �� ��� ��
������� �� �	9���� ��	�

��� �-�#��� ' 


max(|rx|,|ry|) = max(|r′x|,|r′y|),
min(|rx|,|ry|) = min(|r′x|,|r′y|),
|rz| = |r′z|

0� �T��C �� 
�� ����� �6������ ���� #���B���C �-�����
����� �� SzOD ������ �-=��� ��� ���"
����	�� max �� minC �	�� ��� � �	���� ��������� ���������� �-=��� ��� #���	�� �2���	��� %	
B���C �	 ���	 �� ��#��� 
��
	��� ��� &��
����� �� ��������� ��	� ��	� ������� (nx,ny,nz) ����
[−3, + 3]3 − [−1, + 1]3C �� ��	� �� 
�������� �� 
��
	��� 
�� �����
�� ��	� (nx,ny,nz) ∈
[0, + 3]3 − [0, + 1]3 �#�
 nx ≤ ny� *��� ���������� ��	������ �� �������� �����2��� E�	 ���	 ��
�
�F� % ������ �� 
�� �� �����
�� �� �����&���C �� ��	� ��� ������ ����	������ ��� ��������

��
	��� ��	��� ��� �	�����

���� �� 
�� E�#��	� �� ������	
����F �-	� �#��� ( ���+� ��
���	��C �� >�� 	������ �T�
��"
#����� � ��#��	)C ���
 �� ���2�� �� &��
����� �� �����&��� ��� ������ ( E�	 ��	�F 5×34 = 170�
0� ������	�C �	� 
� 
�� �� �� 
��
	�� ��	������ 
�+�
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$�	� ����� ���������� ������ �� 
���C �	 ���	 �� ����� ��� ���������� �� �����&��� ���� 
���	�
��	�"����� 
���� �)����	� �	 ����6����� ���
����� �	� �� 2��� �	 ������� (nx,ny,nz)C �� �������

� ��� �	� �� 2��� �	 ������� (max(|nx|,|ny|),min(|nx|,|ny|),|nz|)�

<��������C 
���� 
���� ������������ ������ �� ������� 	� ���2�� �� ������ ����� φ
�	������ �� �C ��	� �#��� 
����� �� �� ��� �-�
��#�� �	) ��	� 2�� ��#��	) �� �-��2��� 0� �T��C
�� ��� �)����� L = 8 �	 ��	� 2�� ��#��	C �� ���
���������� 	�	���� 
���	�� ( 	�� 6����� (θi,φj)
�� ������ (L + 1) × (2L + 1) = 9 × 17 �	� ��#���� 9 × 20 ����� ������� �	 �	������ �� �
�	�����	�C ���� �����	� �/[ �� ������ �� ��	�� 7� 6��� �	� �� 
��
	� ��� �����
�� �� �����&���
���� 
����������� ������� ��� �� �	�
�J� ��� �����&���� ���������� ���� 1� �
��#��� 
����
	���������� ��� ��������� ��	������ ��	� L ≥ 50�

�,�,�,� "�����$��	�� ��� ����	��� ���
�	�����

7� ������� �	����=�� ��� 	������� ( �-�������	� �-	� ���#�	� �������&� �� ��� ���
 ���	���
�� #�	���� ������#�� ��� ������� �-	�� ��������� ( �-�	���C 
���� ��� �)����� ��� �����
��
�� �����&���� ������������ ���2��	��� E:	��	-( �
� ��� ��#��	F �� �������C �� #���� �� #���

������ �� �����	�� ��	� ���2�� E�	 ��	� �� ��� ��#��	F �� ��	� ������� �� ��� ���
 ����������
���� �
������	� �� 
�����#�� 
�����"
� �-	�� ��������� ( �-�	����

��	) �	���� ��6	����� ( ���6 ����� ���
���� �� &�#�	� �� �-�������������� �� 
����
&��
����������� ��	� �-�2���C ���� ������ �-��������� �� �
���2����� ��������� �	 
���� 0� �T��C
�� 
��
	� �-	�� �����
� �� �����&��� ������ � �� 6������ 
���
�� �� �� ����	��� �	� ��	���	��
���
����	��C #���� �	� ��	�� *-��� 	�� ������ �	 
��
	� �	� �-��� ���
 ��� �	 ��	� �������������
�D�� �� ���� ���������� 	�� ��	�� ������ ���� �	 ����� ����� ���� 	� 
��� ���	������C ���
��U	��
� #� ����� �� 6���������� �#�
 �� ���2�� �� ���
����	���

$�� �����	��C �� ����� �� 
��
	� �-	�� �����
� �� �����&��� ��� ������������� ( L3 �L L
��� �� ���2�� �� �=��� �	 ��#��	 
��������� 0� �T��C ��� ���2��� �� ��6�� �� �� 
������ ����
�������������� ( LC �� 
���	� ������� ��� 	�� ����� �� L ������ E�� &��� �	� 
�� �����
��
�	������ D��� ����	�� 
��	��� �-� 
���6� ����C 
�� �� ��	����6� �-�����#���� �	-����� �-�����"
2��6�F� 1� L ��� �	��� ������������� ( �� ������ ��� 
���	���� 7� ���2�� �� �=��� �	 ��#��	 l
��� � &��� 
��	� �	 ��#��	 l + 1C �� ����� �-�����2��6� ��� �����
�� �� �����&��� �	 ��#��	 l
��� � &��� 
��	� �	 ��#��	 l + 1� $�� 
�����	���C ( 
���	� ��	2������ �� �� ������ �� �-�2:��
E�� ���6	�	�� �-����FC �� �:�	�� 	� ��#��	 ( �-�
���� �� �� �	������� ��� � �� ����� 6��2�� ��

��
	� ��� �����
�� �� �����&��� E�	� � 	�� 
�����)��� �� (kd)3F� �� �-��� ���
 ��� ��	�����2��
�� �����
�� 
� 
��
	� ( 
���	� ���������C �	���	� ��	� ��� ��#��	) ���#��� %	) ��#��	) 2��C ��
����� �-�����2��6� ��� �����
�� �� �����&��� ��� ��� 
����� ��6��6��2��� *-��� ��	��	�� �� ��

�����#��� ��� �����
�� �������	��� �	� ��	� L ≥ 30 E
��:��������� ���
 �#�
 �-	���������� ���
���������F�

�!�!�  "�����


7�� ������ �� �����&��� ������������ ��� ��&�	� �� ������ �� ��	� 
�J��	�� �� ����� ��
����� ���� �� ������� �	����=��� *-��� ��	� 
���� ������ �	� �� ���2��	) ��#�����������
��� ��� �������� �	��	� �	 
��
	� �� �� �-	���������� ��� �����
�� �� �����&����

%B� �� ��	��6��� �� 
���
���� ����������2�� ��� ����B
������ ������	���� �
�C ��	����� ��

�� �-	�� ������ �� ����� 7,5λ ������� �#�
 ����+!� ��
���	��� 7� ��2���	 ��� 
������ ��
>�� R �#��� S �� R ����� S �-������������ ��� �����&����� 1� � �����	� �� ����� *$, ��	�

 ��������� �� >�� E�	� 	� �����	� ��� +�� �@AFC �� ���� �� 
� ����� 	������� ��	� �� ��	�
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���������� ��� �����&����C �� ���2�� �� �����
�� �� �����&��� 
��
	����C ��	� ������ 
	�	��� ��
������� #�#� E���� �� 
�� �L ����� ���� ���
;���FC �� �� ���
����� �	 
��
	� E( ��#��� �
� �-�
���
������& �� ����� L2 �#�
 	� ����	�� �����
�"#�
��	� R 
������	� SF�

%#��� %����
*������ R ���6� S *������ R ����
� S 3��� ��	����6�

����� *$, �/! � �� � �� � �+ �
���� �����&��� �� [ �
 [ �/ [ �+ [
<��2�� �� �����
�� !���/�/ 
+/ 
+/ 
+/
������ 
	�	��� " 
+��/�+ �+/���� ����!��
$��
����� 1,29.10−3 7,59.10−3 1,66.10−3 1,29.10−3

���� ��� I 0	���� 1 .?9�999 ���
����� 2 ����� 
������

7� 6��� ��� ��6��B
���&� % ����� �� 
����������C �� ����	�� �����
�"#�
��	� 
������	� 	������

���� ��&����
� �
� � ��
������ ! :�	�� �� 
��
	�� �	� 	�� ������� �0* %���� �// �@A�
7-������������ �	 ���2�� �� �����
�� �� �����&��� 
��
	���� ��� &�����������C �	���� �	� ����
�� ������ �	 ���2����� 7� �����2����� �� 
��	��� �� 
�����#�� 
�� �����
�� ���� �	���	� ��	� ���

��
	�� �� ���� 6����� ������ E�����	����� ( ������ �� 106 ��
���	��F�

��� ���	�
�
�� �
� ������	��� �
 �����
 �
��
��


1� �������� ���� 
���� ��
���� �� ���������� ��� ���������� �� ������ �� �� ���
���� ����
�� 
���� �� �� ������� �	����=�� ������ ��	� ��� ��	������ �� ��)H����

�!�!� ,(��
��
��� ����
��
� 	
� �����
�/	
��
��
�

3��� 	�� 
���	�� C �� 
�����MC C �� ������ p(C) 
����� ��Mp(C)C �� 	�� &��
���� �� ���������
FC ����
��� ( 
���� 
���	��� 7-��������� �� ������ 
������� ( 
��
	��� '

Fp(C)(�s) = eik�s. �MCMp(C)FC(�s)

1� � #	 ( �� ��
���� 
���
�� �	� 
���� ��������� 
��2����� �� &��� ��	) ������ ' �� 
���6�"
���� �� 
����� E�	��� ������ �����������FC �� �� 
���6����� �� 6����� E������ �)�����������F�
$�	� D��� ��	� ( &��� �)�
�C �� &�	� ��	��6��� �	� �� &���	�� 
�"����	� �� ����� ��� ����
��"
���� Fp(C) ���� ��	������ �� ������ �� 
���� &��
���� ���#����� �� C� *���	� ��&��� �� p(C)
��������� 	�� 
�����2	�����

���� �� 
�� �-	�� ���
����C �� �� ����� Gp(C) �� &��
���� �� ��������� ����
��� ( �� 
���	��
������ p(C)C �� �� 
��
	�� �� 
�����2	���� �� p(C) ( GC '

GC(�s) = eik�s. �Mp(C)MCGp(C)(�s)

*���� &���"
�C �� 
��2��� 	�� ����������� �� 	�� ���	
���� E��������� ���������� �� �-�)"
�����������F� <�	� ������ #��� ���� �� �	��� 
������ ������� 
��
	�� �� 
�� ����������C �� ����
�	�� ����� ��� 
��2�����



���� ���	������ ��� 
�����	
�� �� �
������������� 
/


�!�!� )�������
��
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1� ���� �r �� #�
��	� �� �� �����������C ������� MC �� Mp(C) E���� 	� ���� �	 ���� �-�	���
�	�#��� �	� �-�� ������ 	�� ������ �	 	�� ���
����F� 1� ���� (�sj) �� �	�����	�� �� S �	 ��#��	

�������� E�	� ���� 
��	� �� C �	 
��	� �� p(C) 
&� �����F� 0�B�C �� �� ����� ��	) &��
����� ��
���������� F1 �� F2� 7-�)�������� ���
���� �� �-��������� �� ����������� ��� '

F2(�sj) = eik �sj .�rF1(�sj)

1� ���� τ�r �� �����
� �� ����������� ��B��� �	� ����� �	�����	�� (�sj) ��� τ�r(�s) = eik�s.�r�
7-�����
����� �� τ�r ( F1 ����� �)�
������ �� �D�� &���� �	� ��	� 	� �����&��� E
&� ��
����
����
�
F�

���� �� 
�� �L �� �	�����	�� �� S 	������� ��� 	�� 6�����C �� ��	� �)������� �� &��� �	� τ�r(�s)
��� �� 
�����)� 
��:	6	� � �� τ�r(−�s) ��	� �

������ �� ���������6� �� τ�r� 1� ��	��� &���� 
���
( 
�������� �	� �� ���2�� �� ������ ���� �� ����
���� φ ���� ����� 0� �T��C ���� 
� 
�� ��
�s = (θ,φ) ��� ���� ����� 6����� R 	�	���� SC ����� −�s = (π − θ,φ+ π) � ���� �	����

�,�,�,� "�����$��	�� ��� ����	���

*���� ���� �� 
�� ��� �����&����C �� ���2�� �� �����
�� �� ����������� ��T������� ��� ����
��&����	� �	 ���2�� �� ������������ ( ��������� 0� �T��C �� #�
��	� �� ����������� ����� �� 
�����
�-	�� 
���	�� �	 
����� �� ��� ������� $�� 
�����	���C �� �� ������ ��� ������� �	 ��� ���
�����
����� ��� ��#��	) l �� l − 1C �� �-�)���� �	� � #�
��	�� �� ����������� �����2��C ( ��#��� '

�r =
a(l)

2


 ±1
±1
±1




1� ��	����� ���������� ��� ��	�"������ �� ������� �� �� ���
����� ��	� ������2��� ��� �����"
������� 	�������� �� �D�� #�
��	�� ���� 
����� ���	 �	 ����� ���2�� �� �����
�� ��T�������
E��	������ �FC �� � 
����� �� ��	��� ��� 
�����#�� �� ������� :	��	-( �� B� �� �� ��	�"����� ��

�	�� �-�)�
	����� 0���� ���� ���	��� ���������C �� �-��� ��� 	���� �� ��� 
�����#�� ��	� �-���������
�	����=�� �	�#���� 
�� ��	� 
��
	� ��� ���� ������ E
������������ �	) �����
�� �� �����&����F�
X	 �� &���� �	 #�
��	� �rC �� �	���� �	 �6������� 	������� ��� ���������� �� �������� ��	�
���	��� ��� �����
�� �� ����������� ��� 	��� ��� �	����C ���� �( ��
��� �� 2���B
� ( �� ����� ���
��6��6��2���

3����� ���!+� %��2	� !�+/�
2��� ������$��	��

����� 
�C� � 

C� �
[ �	 ����� 
+C! [ ��C
 [

�$�� ������$��	��
����� 
/C! � !C� �
[ �	 ����� 
�C! [ ��C
 [

���� ��� I @��� 
����� �� �
�������� ��� �������� 
� ���������
�

�$ %
�� �&
�" �#�� '�
 �� �
 ��(
#
 �&���
� 
�" #�
�) �� k 
�" ��(��
*
 ���#� τ�r(�s) 
�" �&���
#�
 �
 τ�r(−�s)
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7� ��2���	 ��� �����	� �� 6��� �� ����� �2���	 �� 
�����#��� ��� �����
�� �� ������������ 1�
� �����	�C ��	� 	�� ��������� �	����=��C �� ����� 
����
�� ( &���� ��� ������� �� ��� ���
�����
�� ��
����� �� �� ��	�
����6� �	 ������ 7� 6��� ��� �������C ���� �� ��� ������ ( �����������C
�� �� �-�

����6�� �-�	
	�� ����� �� ���
������

�!�!� ,(��������
�� 
� ��	���
��

<�	� ������ ���������� ��6����� �� ������� �� ������� 	�� �)����������� �� �-���������
����������C �� ���	
����� 7�� ����B
������ ������ ���������� ��	� ��� �)������������C ���� ��
��� ��	�"������	 �	-����� �-������	��� �� �D�� �	) ���	
������ 1� 
�������� �� �����6� �����
��� ��#��	) l �� l − 1�

�,�,�,� !
����� �� 3���

7� ������� �� 2��� 
������� ( 	������� �� ����	�� �����
�"#�
��	� �� �-��	����� E
��+F� 7�
�����
� 
������� �	���� �� ��6��� �	-�� � � �� ������ ���� �� �	�����	�� �� S �	 ��#��	 lC ��
�	���� �� 
������� �	-�� � � �� ������ ���� �� �	�����	�� �� S �	 ��#��	 l − 1C ���� �	 �����
��#���� 4L(l)2L(l−1)2� 7-������� (k,k′) �� �� �����
� #�	� '

Mk,k′ =
∑

−l≤m≤l

0≤l≤L(l)

Y ∗
l,m(�sk

(l))Yl,m( �sk′(l−1))

=
∑

0≤l≤L(1)

2l + 1
4π

Pl(cos θ)

�L θ ��� �-��6�� ����� ��� #�
��	�� �sk
(l) �� �sk′(l−1)C �	������� ��� '

cos θ = �sk
(l). �sk′(l−1)

�	���	� 
�� ��	) #�
��	�� ���� 	��������� 3�	� �� ��	)���� &����C 
-��� ����A ������ ( 
��
	����
3� ��� ������ �sk

(l) �� �sk′(l−1) ��T�����C �� ��	� �D�� 	������� �� &���	�� E
���F ��	� ������B��
��
��� �-�
���	�� �� �� �����
�� *�
� ���C #	 �� ���2�� �-���������� ����� �� :�	C 
-��� 	��
������� �)
����#����� ����� 
������� �	) �	����� $�� �)�����C ���� �� 
�� �� �� ������
���+!� �	 ��2���	 ���C �� ���������� ����� ��� ��	) ��#��	) ��� ��	� ��	�� 	������ 	�� �����
�
�� ��������� 6612× 2244 �	� ���� 
�/ ��C �� ��� ������� ���� 

� ����	��� �����
�"#�
��	��
7� ��	� �����D� �� 
���� �����
�� ��� �� ������
��� �� ���6����������

�,�,�,� !
����� ���	�� �������
�

7� ��	)���� ������� ������ ��� 
���� ��
���� ( �� ��
���� 
���
������� 0��� 
������� �����
������ ' 	�� �����&����� �� >�	���� ����
��C 	� ����	�� �����
�"#�
��	�C 	�� >>� ��#����� 0���
��	� �-�
���� �� ��	) ��������C �	�#��� �� &���� �	� �-�� ����� �	 ����	�� �����
�"#�
��	��
<�	� ��� �#��� �������� R �����
��� S �� R 
�������� S� <�	� ��6������ �
� �� ��
�����
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� ��  ���	�� $�	� �� ���������� ��� >>�C ��	� �#��� 	������ ��
2�2�������	� >>�V O�
P� 0��� �T�� ��� ���&�����
�� �)
��������C ���&��� �	�����	��� �	) ��"
2������� �	 
�����	
��	� �� �� ��
���� 	�������C �� ����� ������ ( ������ �� K	#��� 7� ;��������
����	�� O�/P ������� 	� ��6������� ��	� ������C ���� �	� ������ ��� ������� �� #�
��	� �	� ������
��� �	�����
�� �� ��

�,�,�,�,� !���	�� ��� Qm
l  �������� �-�)�������� E
��!F �	 ����	�� �����
�"#�
��	� �	�

��	� ��������� '

F̃
(l−1)
i′,m =

∑
i


 ∑
|m|≤l≤L(l)

Qm
l (cosθ(l)

i )Qm
l (cosθ(l−1)

i′ )


 F̃ (l)

i,m E���F

1� #��� ������M��� ��� 
��9
����� Qm
l (cosθ) = Cl,mP

m
l (cosθ) �	� ���#��� D��� 
��
	���

�#�
 ����� 0� �T��C ��	� �� 6����� ����
��C Cl,m ��#���� ���� ����� �� Pm
l (cosθ) ���� 6�����

3� �� �� &��� �� ����	��C ��� ����	�� �-������� #��� ������M���� *-��� ��	��	�� �� 	������ 	��
&���	�� �� ��
	����
� ����#�� �� �� &���	�� �	�#���� '


(l −m)Pm

l (x)− (2l − 1)xPm
l−1(x) + (l +m− 1)Pm

l−2(x) = 0 0 ≤ m ≤ l,
Pm

m (x) = (−1)m(1− x2)m/2 (2m)!
2mm!

,

Pm
m+1(x) = (2m+ 1)xPm

m (x)

7� 
�� m < 0 ��� �2���	 ��� ������� 7� &���	�� ���	��� ��	� Qm
l �-�
��� '




√
l2 −m2Qm

l (x)− (2l − 1)xQm
l−1 +

√
(l − 1)2 −m2Qm

l−2 = 0 0 ≤ m ≤ l,

Qm
m(x) = (−1)m(1− x2)m/2

√
(2m)!

2mm!
,

Qm
m+1(x) =

√
2m+ 1xQm

m(x)

?�.
� ( 
���� ��
	����
�C �� �#��� ��	� ���2���� ���� �� 
��
	� ��� Qm
l �

*���� ������� �-�)�����������4���	
���� ����� �� �D�� ���
����� �	� �� ���
������� 7�
��2���	 ��� ����� ��� ����� �2���	� �#�
 
���� �
���	��C �� ��	� #��� �	-��� ���� ���������
������	���

�,�,�,� !
����� ���	�� �	����	
�

*���� ������� ��� 	�� #������� �� �� ���
������� 1� 	������ �� &���	�� �� *������&���"
���2�	) E
��/F ��	� ������B�� �� �����
� ��� Qm

l '

∑
|m|≤l≤L(l)

Qm
l (x)Qm

l (x′) =

√
(L(l) + 1)2 −m2

4(L(l) + 1)2 − 1

×
[
Qm

L(l)+1
(x′)Qm

L(l)(x)

x′ − x −
Qm

L(l)+1
(x)Qm

L(l)(x′)

x′ − x

] E���F

7� ����	�� �����
�"#�
��	� ��� �����
�� �� ����� ������� E��������� ��6� ��F ' �� �	�������
��� 
���������� �	 #�
��	� �� ������C �� &��� �� ����	�� ��� �� �����
� CC ��B� �� �	�������
��� 
���������� �	 ���	�����
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7� �����
� CC �� ������ (L(l−1) + 1)× (L(l) + 1)C ��� ��B��� ��� '

Ci′,i =
1

cosθ
(l−1)
i′ − cosθ(l)

i

E���F

7-�#����6� �� 
���� �����
������ �	 ����	�� �����
�"#�
��	� ��� �	� �-�� �-� ��� ( �����2���
�� �����
� E���F ��	� 
���	� #���	� ��m� 0� �	���C �� ��	� 	������� 	�� >�� 
� ��	� &���� ���
����	��� ��� C� 1� � #	 �	� 
��� ��� ����������2�� ��	� �����	�� �� 
�����)��� ����������	�
�� �� ��������

7-��
��#������ ��� �	� ���� E���F �� &��� ��	) ����	��� ��� C ��	� 
���	� ����	�� ��������

�� �	�
��M�C �� cosθ(l−1)
i′ = cosθ

(l)
i C �-������� Ci′,i ��� ����B��� 1�C 
��� � �� 6����� ����	��

�� �� ����	���� 0� �T��C �� �� ���2�� �� �=��� ��� ����C �� ���2�� �� θ ��� ������ E�#�
 ��
���
���������� ���� 	�	����FC �� �� ����� cos θ = 0 &��� ������ �� �� �	�����	��� �	 
�	�C �� ��
���2�� �� �=��� ��� ���� ( ��	) ��#��	) 
����
	��&�C �� #� ���
������ �� ���	����� cosθ(l−1)

i′ =
cosθ

(l)
i = 0� �� &�	� ���
 6���� 
� 
�� ( ����� 0� ������	�C �#�
 ��� cosθ(l)

i 
��
	��� ��� ��
������� �	 ����6����� 
����������C �� �� ���	#� :����� cos θ = 0 ���� cos θ = εC �� ��
���2���� ��������� �-����#� :������ <��������C �� ��� ��	� ��	���� �-������� �� 
����	����

�� �
	��� ' �	) ��#��	) ��� ��	� ��	��C �� �	9� �-������� ( L(l) �-D��� ���������#����� ���� ��
������ E�#�
 	�� ����� �� ���&�����
� ������FC �	) ��#��	) ��� ��	� 2�� �� 
��
	�� �� �����

����� 
��
���� ���� E���F �� ������� �)���
��� �����	� cosθ(l−1)
i′ = cosθ

(l)
i = 0�

�,�,�,� !
����� ������

7� �������� ������� ��� :	��� �#��	�� �
�� 0��� ������� �� ������� ���� R �� 2��� SC ��
�.
���� �� ������ 
��	�� �� �����
� M � 1� 	������ ��	� 
��� �� �D�� �����
�� �	� ��	� ���
�����
�� �� �����&���� 1� ������	� 	� �����6� ��	� 	� ��	����6��

Mk,k′ =
∑

0≤l≤L

2l + 1
4π

Pl(cos θ)

+
∑

L+1≤l≤L′
CL,L′

l

2l + 1
4π

Pl(cos θ)

�#�
 ��	:�	�� �� 
��9
���� �� �����6� '

CL,L′
l = cos2(

l − L
L′ − L

π

2
)

0� ��	�� ��6��	�C �� &�	����� &���� �� �D�� ��	�� �
� �	� ��	� ��� �����&����� *��� �-� ���
��� :	6� ����������� 
�� ( 
� :�	� ��� �������4���
����� ����	���� 2��	
�	� ����� 
�J��	���
�	� ��� �����&����� 1� � ���� L′ = 1,2L �� ��	� �� ��	����6� ε = 10−3� %#�
 
�� ����������C ��
�2����� ��:( 70% �-�������� �	�� ���� �� �����
� 6612 × 2244 �#��	�� �	 ����6����� �	� ��
������� �� 2����

*-��� �������	����� �� ������� �	� ����� �� ��	� &��2�� 
�����)��� ����������	�C ����
��#���� ���
 D��� 	������� ��	� ��� ��	� ��	�� ��#��	)� *������������ �	) �	���� ��������C

���� �����
�� ���	�� 	�� ����	� �	� �	 ��	����6��
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7� ��2���	 ��� �������� ��� ���	����� �� ��� ����� �	� 
�� �	���� ����� �-�)�����������4���	
"
����� $�	� 
���	� �������C �� ��	� 
���	� ������6�C �� ����� �� ����� �� 
��
	� E�� ��
�����F
��	� ��� ��	��� ���������� �� ������4���
����C �� �� ��	�
����6� �	 ����� ����� �-	� ����	��
�	����=�� �	� 
��� ����������� 7�� ����� ��������� �������� E�� 2���C ������ 
�������� ��
������ �����
���F ���� ����������	����� ��	�#�������C ����� �-������	����� ��� �-�	��� ����	�
�	� 
���� �	� ( �� ���
����� B��� ��� ��
������ 7� ������� 
��	�� �	 
�������� ��:�	�� 	��
����	� �� ������	����� 	� ��	����6��

7� ������� �� 2��� ��� ���������� ������
��� 7� &��� �� ��#��� �����2��� �� �����	��� ���
�����
�� ������� �� 6����� ������ ���� 
���� �����
�� ��	������2��C �D�� ��	� ��� 
�� ���������
7� ������� 
��	�� ��� ��6������� ��	� ������C ���� �� &�	� ��	��6��� �	-���� �-� ��� ��� ������
�� ��������� ( &��� 
������������ �	) �	����� 0� �	���C �� &�	� 6����� ( �-������ �	� 
����
�����
�� ���������� ��	� ��� ��������� �	� �� ���� 6����� 
�� �� 
��
	�� 7�� �������� �����
������� ���� 
��������� ��	� � � � �������� 7� ������� �����
��� ��� ����#�� ��
���� ' �� &��� �� ��
��� �#��� ( �����2��� �� �����
� �� �	9� ��� ( 
�������� ��� ��	) ����	��� �����
�"#�
��	�
��� �� K	#��� 0�B�C �� ������� ������ 
�������� ��� �� ��	� ���&������� �
�� 0��� 	������ ��
&���	�� �� *������T��"���2�	) 	���	����� ��	� �����2��� �� �����
� ��� Qm

l � *���� �����
��
��� �� ��	� �9
�
��

�!�!$ �%��� �� �����0

1� ��#���� �	� �� ����� �2���� �	 ����6����� 
���
����C �� ��
��� �	� �� B6	�� ��
/� 7��
������� �� ���
����� ���� 
�������� �� ��	) ������ ������
�� ' �� 
���6����� �� ��#��	 �� ��

���6����� �� 
������ 7� �	������ ��� �� ��#��� ���� �	�� ����� �� ������� 
�� ��	) 
���6�"
������

$������ �� 
�� �-	�� ������C ���������� B6	�� ��
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∫
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λiϕi(x) x ∈ Γ
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x∈Γ
eik�s. �xM
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	� �� FC �	� �� �	�����	�� (�sk) 
������� ����� ������ '

� $�	� 
���	� ����� Gj C 
��
	��� pj.�tC(Gj)�
�� �	�������� �� �����
� τ �GjM ��� 
���� �	�������

�� 3����� ��� 
�����2	����� �� 
���	� ����� �� ?�	�� Gj �

7�� 
��9
����� �ϕi(Gj) �#�
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∑
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GR ��� ���2��� �� 6��	��� �	) ��	) ��#��	) 
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��� �-���
�����6������� �	 B� �	

��
	�� 7-	���������� �� 
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+�- 7�������� �� �	$��� � * �� ��
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���� ����� E�� ��/ ( �// ��F �� �� �����
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���	�� (
����	�� ��	��� ��� &��
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���� �	� �� A���
E�FC ���� 	� ��#��	 ��	� ��	�� 1� �����	#� �� �D�� ���B� �� ��	� �����C 
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����� F �	 ��#��	 �C �� �� ����	� ��� &��
����� F �� G
�	 ��#��	 �C �-�L 	�� ��	��� �� 2× 44,3− 71,0 = 17,6�
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�� ��	� �� ��	� ����� �	 &	� �� ( ���	�� �� �� ������ ���� �-��2��� % �-����#�� �	 ��#��	
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���=�� �	� ��	� �#��� �������� ���� �� 
��� %3^07>�$ �� �� ��
���� 0%�3� *� ��6�
��� ����	�
��� ��	������ �� ��)H��� ��	� ��	� &���� ����6���� ��� ��� �������� ����
��� E&�
����������
L.D.tLF �	 �������#�� E���#�	� ?� 03 �� �>N� ����� �	����F�
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����	� �	 ��6�
���C ��	� ���������� ��� ����� ����� �-�2"
:��� �	� ��	� �#��� 	������ ��	� ��� ������ <�	� ������������ ���	��� �-�����D� �� �� �������
�	����=�� �� �� 
�������� �	) �������� 	�	����� �	� ��� 
�� �� 
��
	�� �������� 7� ��
����
�	�#���� ������� �� ��#	� ��	� ��� ���������� �:	���2��� �� ����� >�� �� ������� �� �����"
����� ( 
���	� &��� ��� ������	�� 
��������� 7�� #���	�� ����� �2���	�� ������ 	�������� ��	�

������� ��� ��T������� ��
����� 	��������C �	�� ��	� �������� �� �
���2����� �	�����	� �� �����
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� �� 
���� �������C �D�� ���	���������

��
 $���
����	�� �
���	��


�!�!� ���2�2
�
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��������� �� *� *��� ���	��� ( �� &��� �-	� 
���) ��������� ��
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��������� ������� ��� �� ���������� ���	������ E0%�3F� 7� ������ R 6������ �� ��6�"
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 ����6�� ���� 
� ���6�6�C �D�� �� � ���������� �� ���2������ �	-	�
���6�6� ������� �2:�� 
���� �� *]] �J� ��� ���&���2���

7�� ������� �� R 
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	� �	� S �	 ��6�
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���� �� >1 � %< ++C ��	� ��� �������
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%B� �-D��� �	�������	����� �������� �	� ��	��� ��� ��
����
�	���C �� � ����� �-	������� 	�
��)��	� �� ��2������� ���������� 1� � 	������ ��� 2�2�������	�� �	�#����� '
B(�2% �7(�2% .22( * ���� ��	� ��	��� ��� ���������� �-��6�2�� �������� �� 2����
(���"I * 	������ ���� ���
�	�������� E�	�����	�� �� ?�	�� ��� �)�����F�
=!1��"I * ��	� � &�	��� 
������� ��� ���#�	�� �������&� 	��������
  7J * ��	� ��� �����&������ �� >�	���� ���� ��� ���������� �� ������4���
�����
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7�� ������� 	�������� �
� ���� 
����� ����
������ ��� ��� ������ 7� ������6� ��� ����6���C
�	���	� ��� ��D��� &��� ��	��� �� �D�� ������ ±20%� ��	��� ��� ������� ��� 	� ����� �6�� ( 

�����C �� &��� #����� �� ���6	�	� �-���� �� �� B����� �	 ������6��

���� ��
 I 0	���� 1 .9.+ ���
�����

7-�#����6� �-	������� 	� �2:�� �	��� ������ �	-	�� ������ ��	� &���� ��� ����� ��� �	� �-��

����M� �� ���	���� �)�
�� �	 ���2����� 0� �����
	���� ��� ������ �� ��� O�P ��	� ������� ����
"
������ �� 
���� �������� ��T��
��� 1� ���� hn ��� &��
����� �� @��;�� �������	�� �	 �������



���� ���������	
� ��� ��� ����� 
��

����C �� ���� jn ��	�� ������� �������C �� P l
n ��� &��
����� �� 7�6����� E��	� ��� �)��������� ��


�� &��
�����C #��� O
PF� ���� �� 
�� �-	�� ������ ���&�������� 
���	
���
� �� ����� r ���	�����
��� 	�� ���� ����� ����#��� �� �� ����
���� (θ = 0,φ = 0) �� ��������� #����
�������C �� �	�&�
�
��	�#����� ����� ���������� ����� ���� �� ����
���� (θ,φ) ��� ������ ��� σ(θ,φ) '




ψn(x) = xjn(x),
ζn(x) = xhn(x),

an =
ψn(kr)
ζn(kr)

,

bn =
ψ′

n(kr)
ζ ′n(kr)

,

S1(θ) = −i
∞∑

n=1

(−1)n
2n+ 1
n(n+ 1)

[
bn
∂P 1

n(cos θ)
∂θ

− an
P 1

n(cos θ)
sin θ

]
,

S2(θ) = i

∞∑
n=1

(−1)n
2n + 1
n(n+ 1)

[
−an

∂P 1
n(cos θ)
∂θ

+ bn
P 1

n(cos θ)
sin θ

]
,

σ(θ,φ) =
4π
k2

[
|S1(θ)|2 cos2 φ+ |S2(θ)|2 sin2 φ

]
%	��� �#����6�C ��� �����
�� ���� 2��� ���	) 
������������ �	-�#�
 ��� �2:��� ��	� ���������C

�� ��� ���#�	�� �������&� 
��#��6��� ��	� #���� ������� �#����6�C �� �-�� ��	����� ������ �� >��
�	� ��� 
�� �� 6����� ������C �� &���� �� �-�2:�� �� 
����� ���C ���
 	�� ������ &��� ���� 2���
�-�T����� ��
��#������ ��:�	� ' 
� ���� �� 
��
	� �-��� ��� ������������& �� 
� �	� ��� 	��������	��
���������� �� 
���� ������� ����������

�!�!� +
��&

7� ���	���� *���& ��� 	� 
�� �� 
��
	� �������� ��	� ���	�� �� �-�)���� ��� �� ���	����
��������	�� 7� ������6� ��� ���������� �	� �� B6	�� ���� 7-�2:�� � 	�� &���� �-����C �� 
�������
	�� &����� 3�� ���������� ���� 50 cm× 30 cm× 5 cm�

���� ��� I  ���" 1 ?&>* ���
�����
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7� ������6� 
������� ��!
 ��
���	�� �� ��!� �����6���� �� ��� ����������� ����6���C
�	���	� ��� ��D��� ���������C ��������C �� ��)������ ���	���� �����
��#����� /C�� 
�C 
C�

� �� 
C� 
�� 1� ������� ��	:�	�� 	�� ���6	�	� �-���� �6��� ( +C! &��� �-��D�� �������C ����
��	������ �C� &��� �-��D�� �� ��	� ���6	� E
� �	� ����� ��	��&��� 
����
�F�

�!�!� �%
��

0�B�C ��	� �#��� ( ����� ����������� 	� ������6� �-�#���� �� �-�6�� �-	� %��2	� %�
� ����
��� ���������� E	� ��	 ���������F ���� ��#���� 1,8 m × 1,9 m × 0,65 m� �� � � 	� &�
��	�
�-���������� �� 
� ��� ������� ( �� �������� 7� ������6� ��� ���������� �	� �� B6	�� ����

���� ��� I )����� )&*+ 1 .&=<= ���
�����

7� ������6� 
������� ���+� ��
���	�� �� 
�+�� �����6���� �� ��� &�������� ������6���C
�	���	� ��� ��D��� �����	�4�������4��)��	� ���	���� /C� ��C 
C+ 
� �� +C� 
�� 3� ��

������ 	�� ���6	�	� �-���� �6��� ( +C� &��� �-��D�� �������C �-��D�� �� ��	� 6����� ���	����
λ/1,7 
� �	� ��	� D��� 	�� ��	�
� �-�����
������

�!�!$ ��5�
�
�� 	
 ��
���2
�

7�� ������6�� �� ������� ����� 6������ �	�������	�����C �� ��	� &�
������� &���� #����� ��
���2�� �-��
���	��� 0� ��#��
��C ��� ������6�� �	 
���& �� �� �-%�
� ��	� ��� ��� ������ ���
����� ���������� ���	������C �� �� ��	� ���
 ��� ��� &���� �#��	�� &�
�������� *-��� ��	��	��
��	� �#��� 
��� 	� �	��� �� ��9������ �� ������6� �	�C ������� �-	� ������6� �)������ ��
�-	� ��������� ������ nC �	2��#��� 
���	� ��D�� �� n ���
��	) �6�	)C �	�� 
���	� �����6��
�� n2 ������ �����6��� �������	�� E( 	�� �������� ����C 
&� B6	�� ���FC �#��� �� ��	#�6����� 
�
��	#��	 ������6� ��	� 	� &����� �)������2��� %����C �� ������� n = 2,3,4, . . . �� �2����� ���
*���& ( �
���C ���
!C ����� ��
���	��C �� ��� %�
� ( !�+/�C �
�/��C �+��
�C � � � ��
���	���

7-��
��#������ �� 
���� ��
����	� ������ ��� �	� �� ������6� ��9�� �� �	�� ��	� �� 6��������
�� �-�2:��� *��� �-��� ��� 6D���� ���� �� 
�� �	 
���& �L ��	��� ��� �	�&�
�� ���� ������C 
-���
�� ��#��
�� ��	� ��2D���� ��	� �-%��2	� %�
�C ��	� ���	�� �� ������6� ��9�� 
��������� ���
&�
������ ��
����	�����C ��	� �� >�� 
��� �� 
���6� ����C ���� �� &�	� 6����� ( �-������ �	�
��� ���	����� ������	�� �2���	� ����	��� �-D��� ��&������

$�� �)�����C �� � ���
� �	� �� B6	�� ��� ��� 30 �2���	�� �#�
 '

I �-	�� ���� 	�� ������ ������� �#�
 �// �����6��� �	�� ��9��� �#�
 n = 10 ��	� �2�����
�/�/// �����6���� *-��� ���
 	�� ������ R ��6	��	�� S�

I �-�	��� ���� 	�� ������ ������� ����
������ �#�
 �/�/// �����6����
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� ���� ��� ����
��� �����	���� 
��

���� ��� I %��
�	��� 
'�� �������� 
��� ��� ��� n = 3 �� n = 6

7�� ������6�� ���� ��	� 
��Q	� �#�
 
/ ������ ��� ���6	�	�� �-���� E�� �������FC �� ������
��6	��	�� � ���
 ��� &�
����� ���� �-��D�� ������� ��� ��#���� 	�� ���6	�	� �-����� 1� #���
�	� �	� �� ������ 6�	
�� �	 6������	�C �� 30 �� �� ������ ��6	��	�� ��T��� ��6�������C
����� �	� ��� ��	) 
�	�2�� 
�G�
����� �	� �� ������ ������� 3� �� �#��� ���
� �� �	� �� ���	����
�)�
�� ���	� ��� ������ �� ���C �� �	���� 
������� �	� �� 
�	�2� �� �� ������ ���6����� 
�G�
���
�)�
������ �#�
 
���� ��������� 7� ��&�������� ��� ���	����� ���	� �	 ��9������ ��� �
� �������C
���� 
-��� 	� ���2���� �	� ��� �� �	6������� �#�
 �� #���	� �� n� �� ��� ���
 ���&���2�� �-��
D��� 
���
���� �#��� �� &���� ��� 
��
	�� �#�
 ��� ������6�� ��9����

0.01

0.1

1

10

100

1000

0 20 40 60 80 100 120 140 160 180

Sphere anguleuse

Sphere originale

���� ��� I 0�� �
�	���� ����� ��� �	���� ����� �� ��� �	���� ���������

��� �������	��� ��
� �
� ������
� �����	��
�

�!�!� -.6
��
&

%#��� �� ������ �� ������ �� >��C ��	� ������ ���� 
���� ��
���� 
������� ��� ��T������
����� �� �����	���� �	 ������� �������� 
��������C ( ��#��� ' ���#�	� ����
�C ���#�	� �����"
��& 
������	� �� ���#�	� �	����=�� E����� ����6���� 	� ���#�	� �������& 	�������� 	� ����	��
�����
�"#�
��	� �	����=��F� 7� ���#�	� ����
� ����� ������� 	�� &�
���������� L.U �� �� �����
�
�	 ���2����� 7� ���#�	� �������& 
����� ��� 	� ?� 03 O
/P �#�
 �����	 ��������� 10−2� 1� 	��"
���� �� &���	������ *>�0� *���� �������� ������ �	) ���#�	�� �������&� �� 
��#��6�� �� �����
�-����������C ���� �������� ��� ���#�	�� ����
�� ��� �� �����
� ���"��������	� E��� ����� ��

��
	� ���� �	�������� ��� �	 ����� � ��� ������� ( �� &���	������ 0>�0F�

1� #� 	������� ��� ����� ������6�� �	�#���� '

I 3����� ( 
��� ��
���	�� W

I *���& ( ��!
 ��
���	�� W
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$�	� 
��
	� �� 
�� ����� 
�� �� 
��
	�C �� ����� ���� �� ��2���	 ��
 �� ����� �-��������������
�� �� ����� �� �����	���� �	� 	� $����	� ��� ��� �@A� 1� ���� ndl �� ���2�� �-��
���	��
�	 ���2����C Niter �� ���2�� �-���������� �	 ���#�	� �������&C �� Nrhs �� ���2�� �� ��
����
���2���� 1� ����� ���� �� �������� 
������ �� 
�������
� ����������	� �������	� ��� �����
�-�������������� �� �� �����	���� ��	� 
��
	� ��� ����� ���#�	��� $�	� �� ���#�	� ����
�C �-������"
�������� 
������� �-�����2��6� �� �� &�
���������� �� �� �����
�C �� �����	���� ��#���� ( &����
	� ����	�� ��� �� �����
� &�
�������� $�	� �� ���#�	� �������& 
������	�C �-�������������� 
�������
( �����2��� �� �����
�C �� �����	���� 
������� Niter ����	��� ��� 
���� �����
�� 0�B�C ��	�
�� ���#�	� �������& �#�
 �	����=��C �-�������������� 
������� ( �����2��� �-��2�� �� �� �����
� ���
������
����� ���
���C �� �����	���� 
������� Niter ����	��� �	����=����

3�����
��� *���&��!
 %��2	����+� *�������
�
2��$��� �	���� *

�������������� 
�/C+ � ���+ � �+���/ � ndl
3

�����	���� /C� � �C� � ��/ � Nrhsndl
2

2��$��� 	�
���	� *
�������������� �� � !�+ � 
�
�/ � ndl

2

�����	���� �C� � ��! � �
��/ � Nrhs.Niter.ndl
2

2��$��� ����	�)�� *
�������������� 
�C� � �+ � �+� � ndl

�����	���� �C�� !� � ��� � Nrhs.Niter.ndl log ndl

���� ��
 I $��	� 
'�3�����
� 	
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������� ��� ����6����� �	� Γ ∪ C� 1� 
������ ��� &���	��� ( 
 ��
� ������ �� ?�	�� ��� �����6��� ���� �� ������� 
��C �� ����� �-����6������ 	���	� ��� �� 
�����
�� 6��#��� �	 �����6��� ���� �� ��
��� 
��C ��� ����� ������ �� ?�	�� ��� ��	� 
���������� 2�"
��
������	�� (2/3,1/6,1/6) E�� ����	������� 
��
	������ �� 
� �������F� 1� #� ��	���� �-����
�
�	� �� ����� �� �	� �� ���
����� >�� �	 
���) �� �-	�� �	 �-�	��� �� 
�� &������� �� ������
�� ?�	��� 3�	��6���� �	� 
� 
���) ��� ����������� �� 
��	� &��� ��	� �� 
��
	� ��� ������
�����
���
��� E�	� 	������ ����� ������ �� ?�	�� ��	� ��� ������
����� ����� �����6��� ��������C �� �
�	 + ������ �� ?�	�� ����� �	� ��� &���	��� ��������	�� ��	� ��� ������
����� ����� �����6���
���
��� �	 
��&���	�F�
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���	��C 
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���	��C �#���
( �
�/�� ��
���	��FC �� ����� ���� �� ��2���	 ��

 �� ���
����� �� �� �	��� ��� ����	���
�	����=��� �������� �� 	�������� 
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�� ������ �
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�� �	)
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 � ������ �� ?�	��C 
�� ��������� ������������ ����� �/ [ ��
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 ����� �� ?�	�� �-�#��� ����A 
�����	���
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$������������C �� ���
����� �� ��������� �-	� &�
��	� � ( �� ���� �� 
�� �� �-%��2	�C �-����	�
�	� ( �� ������� �	����=�� ����� �	 ����	� �	 ��	�"
���� 1� � #	 �	� �� ������
� �� �����6���
��������� �	������������� �	� 
� ������6� 
���	����� �� >�� ( ������� 
���� ���������� ���
������
����� �	� ������� �� ������� ���
���� 7� &��� �-	������� � ������ �� ?�	�� ��� �����6��
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��
	��� ��	� ���
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�� ������
����� R ( ���2���� S� $�	� �����	�� 
����
����	�C �� ������ ����� 
�J��	) �� ��9��� ��#����6� �� ������6� �	) �������� 
�����	��C ��	�=�
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���� �� �� &��� �
�� 0� ������	�C ���� 	� 
����)��
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�� ?�	��F� ��	� ����� �� 
���� B6	�� �	� �� ���	#� ( �� &��� �	 ����	� �� ( ������ �-	� �	���
����� ��� ���9
�
�C 
�� �� ��� ( �� &��� ��	� ���� �� ����� ���
��� <��	���������C ��	� 
���������
��� ���������� ������	) ����� ��� ������ �9
�
��� 1� #��� �	-�� ��� �����2�� �-��������� ��
���
����� �� ������� ( � ������ �� ?�	�� ��� �����6��C ���� �	� �� �	�
�J� ��� ����������
<��������C �� &�	� ��	��6��� �	� 
� �������������� �-�T�
�� �	� ��� ������ �-�������������� ��
�-����6������C �	� #��� ��#���� �� ��	� �� ��	� ��6��6��2��� �#�
 �-�	6��������� �� �� ������
��� �2:����
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6����� ���
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 � ������ �� ?�	��� $�	� �-%��2	� ( �
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�����
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������� �	����=�� ������� 1� ���� a �-��D�� ��� &�	����� �� �-�
���� ���	��� �� ���2�� ��
���6	�	�� �-����� 7�� &�	����� ���� ���
 ��� 2�M��� 
	2��	�� �� 
=��� aλ E�� �����F� 7����	�
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���C ( 
���	� ��#��	 �� ������ ��� 2�M��� ���
�	�������� ��� ��	)� $�� 
�����	���C �� ������ ��� &�	����� ��������� �� ������ ��� 
���	��� ( ��	�
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��� E�������� 
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���� �	���������� ��� ���
� ��	� 	� ���2	�
%�
� �� 	� *���& �	� ��� B6	��� ���� �� ���2� 3	� 
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���&C �-�)� ����������� �� �	����������
EOx �
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��� ���� �-����
� ��� ��� 
�	��	�� ���
���� *���� 
���
��������	� ��� ��:(
���� �������� �	� ��� B6	��� ���� �� ���2�

�,�,�,� 9��
�����	�� �	
�����	���

7� �	���������� ������
���	� ���	�� �� �	���������� �	 ��#��	 n �� 
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�� ��F� 7-�#����6� �� 
���� ������� ��� �	-�	 B��� ��� ��&���� ��� �� 6������ 
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�����	
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��#��	) 
C � �� � �� �-�
�����

7� ����& �� �	���������� 1→ 2→ 3→ 4 �	 ��#��	 n− 1 � 	� ����� �� ������ �	 �����
�-������ E���� R � S �	� �� B6	��F �� 	�� ����#�� �	 ����� �� ������ E���� R � SF� 7�� ������
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���	��� � �� �C �� �#�
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�#�
 	� ��6�� �#����6� ��	� �-��6������� 
�������� ����� (Ox) E�	� ��� �-�)� �� �-�#���F ��	�
��� ������ ���2��� �� ���
����	�� E
� �� �����F�

$�	� �� 
�� ��������C ��� ���	����� �� ���	#��� �	� �� B6	�� ��

� $�� ��������C ��� �����
�	����������� 
����������� ������� ��� �D��� ���	�����C ����A ��	#���� 7�� ��6�������� ���"
���
���	�� �� $���� �-��������� ���������C �#�
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7� �	���������� ������
���	� ����� ���
 �������C ��	� ������ ��6����� ��	� B��� �	���� ���
�� �	������ �� ������� �
���6��� ��� ���
����	� �� ��	�
����6� �� �� ������ ������ �� �-�
����
E���	� �	 ��2���	 ��
F� *� ��	�
����6� ��� ���
� �	� �� B6	�� ��
� �� &��
���� �	 ���2�� ��
���
����	��� 1� #��� �	� ����� �� ������6� �� �� ���2�� �� ���
����	��C 
���	� ���
����	�
��#��� E�� ��Q���F �-��	�#����� �� � ( 

 [ �� �� ������ ������ �� �-�
����� *� ��	�
����6� ���
�-�	���� ��	� 6���� �	� �-�2:�� ��� B� �� ����
��

$!�!� ������
�
��

7�� 
���	��� ����� ���������� �	�������� ( 
���	� ��#��	 �� �-��2��C �� ��	����� ������"
���� ��� �������� ����� ��� ���
����	�� 
��&�������� �	 ���
���	� ���	���� �	� �� B6	�� ��
� ,�
���
����	� �	� 6��� 	�� 
���	�� C � �� 
���6� �� 
��
	� ��� ��	) &��
����� �� ���������� FC ��
GC ��B���� ��	� 
���� 
���	��� <����� �	� 
��� ���	��� �-	� 
���) �� ����� ���� �� �-��� ��� �	
��	� �2��6������� $������ �� �(C �� ��	� &�
������� 
��
	��� ��	� 
���	� 
���	�� �� �	������ ��
���#��� ����
����

I $�	� 
��
	��� FC ' 3� C ��� 	�� &�	����C 	�� ������������
�� 3����C �	���� �� �
����� �	�
C � �-��&�����

I $�	� 
��
	��� GC ' 3� C ��� �	 ��#��	 ���&���C �	���� �� �����"���� �	-�� � � �� ���"#�������
3����C 	�� 
������� �	�� �	���� �� �����"���� �	-�� � � �� 2�����	��� 0�B�C �� C ��� 	��
&�	����C 	�� ���������
��

7� 
��
	� �T�
��& �� �� 
���6� �� ���#��� �	� 
��� ���������� ��	� D��� &��� �� ��	) ���������
7� �������� ������� 
������� ( 
������ �� ���2�� �-��������� �� �� �	������
������ ��	�

���	� ��������� ����������� E
���� ( �� ��
���� 
������F� 7� ��
���� �����
�� 
������� (
���	��� �� ����� *$, �T�
��#����� ���� ��� 
��
	�� �� 
�� ���������� �	 ���#��� �� ������
����� ������2���� 7� �������� �����2����� ��� ��	� ������C �� ��
���� ��� ��	� ���
��� �� ��	�
��������� ,�� &��� �	� 
���	� 
���	�� ������� �-	�� 
���6�C �� ����������� ��� 
���	��� ����� ���
���
����	�� �� &��� �	��� ��	���2������ �	� �����2��C ( 
���	� ��#��	� <����� �	� 
��� ���	��
	� 2���� ����������� �	 ����� �� 
��
	�C ���� ��� &��
����� ��� 
���	��
�������

���� ��	� 
��� ����� �������	�C �	���	-( 
� :�	� ���� ����� ��6�
��� ��� 
���	��� �� #�����
��	��� �����2	�� �� �D�� 
���6� �6��� ( 
� 7� ������2	���� �� �-��2�� ����� ���
 	� ���2��
�	������� �6�� �� 
���	��� ( 
���	� ���
����	�� $�	� �	����C 
���� ��	� �� #������ ��	� ����C

��� �� �	�� ��� ���� �	) ���&�����
�� �� �� �����	���2�� �� �� 
���6� ��� ������� ?������
���������� ( �-������ �	� ��	� �#��� �( 	�� ������ ���6� �� ���6��������

0� ��#��
��C �� ��� 	�� ������������ ���� ������ ( ������ �� K	#�� �	� 
������� ( ���
��
�-�9
� ��� ��&���� �-	�� 
���	�� �	� �� �D�� ���
����	� �	� �� ������ ��� ���� �	� 
� ������ ��
���	#� �� �����	� �-	� ��#��	 ����� ������ R ��#��	 �� ���������� S� 7-�#����6� ��� �� �	�"
������ ���������� ��� 
���	��
������ ������� ��� ������ �� �������4���
����� ( 
� ��#��	�
1� � 6�6�� ���
 �� ����� �� 
���	��
����� ���� I �	���	� I �� �	������ 	�� ���
�����"
������ ������� ( ��	� ��� ���
����	��� 7-��
��#������ ��� �	� �� ����������� ��� 
���	��� �����
��� ���
����	�� �	 ��#��	 �	 ������ ������ �� ����������� �	 ��#��	 ��� ��&����� �	 
�	� ��
����	� �� ���������� �� ����������� �� �� 
���6�� 0� ������	�C �� �� ��#��	 �� ���������� ���
���
�� �	 ��#��	 ��� &�	����� E� �	 � ��#��	) �-�
���FC �� 6�6�� �	���	�� ��	�"
���� �	� 	�
����	�� �����
�"#�
��	� �	����=��� *� ��������� &��� �-�2:�� �-	�� ��	�� ( �� ��
���� ������
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0� ��������� ��� ��B������� �� �� �����)� �� �� ��
���� ��
C ��	� ������ ���������� ���"
������ ��� �.
��� �� ��� ������ �� �.
��� ����� ( �� ��������������� �� ����� ������� �	����=��
������� ���� 	� ������� �����C ��	� ��6�������� �� ��������������� ��� 
���	��C 2���� �	� �� ���"
���2	���� �� �-�
���� ��������� ���
��������� $	�� ��	� ������������ �� ������� 	������� ��	�
��������� ��� 
���	��
������ �	� �� ��
�	����� 0�B� ��	� ������	����� 	�� ����B
����� (

���� �����
�� ������� ��������������� ��� ����
����� �	� �-������	��� ��������������� �	) ��	�
��	�� ��#��	) �� �-��2���

$!�!� ��������
���
�� ��� �
����


�,�,�,� 9��$���� �G���

���� 	� ������� �����C �� �-�� ����� ����
������ ( ����� ����
��� ������� ' 	� ���
����	�
�	� 6��� 	�� 
���	�� C ������� ��	� ��� 
��
	�� ��
�������� ( �-�2������� ��� &��
����� �� ���������
FC �� GC � 1� ������ ��������� nC �� �	���� �	 ���
����	� 6����� �� 
���	�� C� 1� ������	��
	�� ��	#���� �.
�� ��B��� �� �� ������� �	�#���� '

���E (TC ,ndest)
$��������� ' ,�� 
���	�� CC

	� ���� �� &��
���� �� ��������� ET = F �	 GFC
	� �	���� �� ���
����	� ������������ ndest�

%
���� ' $������ �-��#�� �� �� &��
���� TC �	 ���
����	� ndest�
*�����2	���� ' ��
������� C ⇓

TC �	� �� ���
����	� ������������ ndest�

,���������� ' ��
������� C ⇑
TC �	� �� ���
����	� ��	�
� nC �

3�	�� ��� ���
����	�� nC �� ndest ���� 
��
����� ��� 
���� �.
��� *���� �.
�� �� ����"�D��
�� ������� ��� �� 
���	��
������� 0��� ������� :	��� �-��#�� �-	�� &��
���� �� ��������� TC
#��� 	� ���
����	� ndest� <�	� #������ ( �� ��
���� �	�#���� ����� 
������ ���� �T�
��#�����
�������� 
�� �
���6��� <����� �	� 
-��� �� 
������� �� ���2�� �� %��&! �������� �	� �-�� �
�2���	 ��� �	������� �� ������� �
���6��� ���
��� �	� ��� B6	��� ��
/ ( ��
��

�,�,�,� 9��$����� ����6�	����

% �-������ �	 
�� ���	������ �� �� �� ��
���� ��
��C ��	� ������ ��������� �� 
������� ��� ��	�"
������ �� 
���	��
������ 7�� ������ �-�������������� �� �-����6������ �� ���� ��� 
��
������ '
����� �� ��
�������� ��� �� 
���	��
����� �	���	-����� �-�6������ �	� �	� 	�� ��	�� &��
���� ��
���������� $�	� ��� �	���� ������C ( 
���	� ��	�"����� �� 
��
	� Li �#�
 1 ≤ i ≤ 3(N −Nplaf )
�� #� ����
��� 	�� ��	�"����� �� 
���	��
����� ����� L′i� %	 
�	�� �-	� ����	�� �	����=��C 
��
��	�"������ ���� �)�
	���� ���� �-����� �	�#��� '

L′1, L1, L′2, L2, . . . , L′3(N−Nplaf ), L3(N−Nplaf )

*���	� ����� �� 
���	��
����� L′i ���
��� �� ����� �� 
��
	� ����
��� Li� <�	� ������ ���������
���� �� �	��� �� 
�����	 ��� ��	#����� ������ L′iC ���� ���
����� ��	� �-�2��� �� 
�� ��� ������
Li�
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�,�,�,�,� 2���6�	���� ��� ������� 7�� ��	�"������ 
����� ( �� ��
���� ��
�� #��� ��#��� D���
����B��� ��	� ����� 
����� �	 ������������� 0� �-�

	����
�C �� �	9� �� #���B�� �	� �� &��
����
�� ��������� �	� �-�� �-����D�� ( 
��
	��� ��� 2��� ��
���� $�� �)�����C �-��6������� ��
 
��� ��
��	�"����� �-���������������

L1 ← ∅

��� ��� C 
���	�� �	 ��#��	 N − 1 ��
	� EC ��� ��
���F ����
L1 = L1∪ ������	�
�����ECF

��� 	�

��� ���

��'��	���� �,�* �������������� �� ���������

�,�,�,�,� 2���6�	���� ��� ������	���	��� �$��� ��������� $�	� l = N−1, . . . , Nplaf C
�� ��	�"����� ��� �����&���� �	 ��#��	 l ����� �� �	���� i = 2(N − l)� ���� �-��6������� ���C ��
� ������6	� �� ��#��	 ���&��� E�L ��� �����&���� �� &��� ����� 
���	��� ���"#�������F �� ��� �	����
��#��	) E�L ��� �����&���� �� &��� ����� 
���	��� 2�����	�� F�

L′i ← ∅

	� (l = Nplaf ) ����
��� ��� CC C′ 
���	��� �	 ��#��	 l ��
	� EC ��� ��
���F ��� EC′ �-��� ��� ��
���F ����
	� EC ���"#������ �� C′F ����
L′i = L′i∪ %��&!EFC ,nC′F

��� 	�

��� 	�

��� ���

����

��� ��� CC C′ 
���	��� �	 ��#��	 l ��
	� EC ��� ��
���F ��� EC′ �-��� ��� ��
���F ����
	� EC 2�����	� �� C′F ����
L′i = L′i∪ %��&!EFC ,nC′F

��� 	�

��� 	�

��� ���

��� 	�

��'��	���� �,�* *���	��
������ �#��� �����&���

$�	� 
���	� �����&��� �-	�� 
���	�� C �	� 	�� 
���	�� C′C �� �� �������� ��� ��
��� �� ��� ��
��
����C �� ��#��� �	����#��� �� &��
���� �� ��������� FC �	 ���
����	� nC′ �
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�,�,�,�,� 2���6�	���� ��� ������	���	��� �$��� ����
� $�	� l = N−1, . . . , Nplaf +
1C �� ��	�"����� ��� ������� �	 ��#��	 l �	 ��#��	 l− 1 ����� �� �	���� i = 2(N − l) + 1� 0���
��� 
�����	��� ��� �-��6������� ����

L′i ← ∅

��� ��� C 
���	�� �	 ��#��	 l ��
	� EC ��� ��
���F ��� Ep(C) �-��� ��� ��
���F ����
L′i = L′i∪ %��&!EFC ,np(C)F

��� 	�

��� ���

��'��	���� �,�* *���	��
������ �#��� ������

%	������� ���C �� 	�� 
���	�� ��� ��
��� ���� �	� ��� ������ �� �-��� ���C �� &�	� ��#����
FC �	 ���
����	� �	� 6��� �� ������� �� �� ��	� �	� 
�� ��#�� ��� ��:( ��� &��� ��	� �� ����� ��
�����&��� ���
�������

�,�,�,�,� 2���6�	���� ��� ������	���	��� �$��� �������� $�	� l = Nplaf+1, . . . , N−
1C �� ��	�"����� ��� ���
����� �	 ��#��	 l − 1 �	 ��#��	 l ����� �� �	���� i = 2(N −Nplaf ) +
l −Nplaf � 0��� �� 
�����	�� �� �	�#��� �-��6������� ����

L′i ← ∅

��� ��� C 
���	�� �	 ��#��	 l ��
	� EC �-��� ��� ��
���F ��� Ep(C) ��� ��
���F ����
L′i = L′i∪ %��&!EGp(C),nCF

��� 	�

��� ���

��'��	���� �,�* *���	��
������ �#��� ���
����

3� �� ������ �� C ��� ��
��C ���� ��� CC �� &�	� ��#���� Gp(C) �	 ���
����	� �	� 6��� C ��	�
�	� 
� ������� �	���� 
��
	��� GC �

$!�!� -��
�
���
�� 	
� �����2
�

�,�,�,� ��
������	��

���� �� ��
���� ���
������C ��	� �#��� #	 
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?��2�������C ��� 2������ ������� ���� ������	�� �����	-�� �-�6�� �� ��������� ��� ���2���
�� ��	�� ����	� ' 
-��� ��6��	� ���� �� ���	�� �LC 
���� �� �-� #	C 
�� ��������� &�#�������
��� ���
����	�� ����� ��	 �� �����6�� �B� �� ��� ��2���� ��	� �=�� %���� ��� 2������ 
� ��

� ������� ��� ��	� ������ ���2��� �� ��	�� ����	� ���6�� ��� #���	�� �� Ntour ���#���� *���
��6��B� �	� �� ��	���� ��� ���
����	�� ��������� 	� ���2�� �� ��	�� ���
�� �� ��	� �����	�C ��
�	� �	���	�� ���
����	�� E
�	) �	� ��� �� ��	� �� �����6��F ��������� �	 
�������� 	� ���2��
�� ��	�� ���� �� ��	� �����	�C 
� �	� �	 B��� �������� ��	� �� ������ 0� �T��C 
��� �	�� ��	�
�T�� �� 
���� 	� �������6� �� ����� ����� ��� ���
����	�� ��� ��	� ������� �� ��� ��	� ������
<�	� �#��� �	 
�������� 
����� �� &�#������ �� ���
����������� ����� ��� ���
����	���

%���#� ( 
� ����� �� �-��6�������C 
���	� ���
����	� 
����M� �� ���2�� �� ��	�� �� 
��"
�	��
����� Ntour ����� �	� �� ����� ��� �������
	��	�� �� �������� (DESTk) �� �� ��
������
(SRCk) ��	� k = 1, . . . ,Ntour� 3� DESTk �	 SRCk #�	� −1C 
��� ��6��B� ���������� �	� ��
���
����	� 
�������� �-��#��� �	 �� ��Q��� ���� �	 ��	� �	���� k� �� �� ����� ���
 ��	� �	-(
���
���� ��� ������ �� �.
��� %��&! ��	� ������� �� 
����� 
� ��
������ �� 
���	��
�����
��� ��	��

�,�,�,� 7����������	�� ��� ����6�	����

0� ������	�C �� 
������� �$� 	������� ��	� �������� ���	��������� �-��#�� �� �� ��
������
�-	� �����6� ��� '"�(�������)� 7� �.
�� ����������� 
������������� ��� ��B��� �� �� �������
�	�#���� '

2���1��$(nsrc,ndest)
$��������� ' 	� �	���� �� ���
����	� ��	�
� nsrc�

	� �	���� �� ���
����	� ������������ ndest�
%
���� ' ��#�� 	� �����6� �	 ���
����	� ndest

�� ������� �� ��
������ �-	� �����6� ���#����� �� nsrc�

7� �.
�� %��&!(TC ,ndest) 
���� �� &��
���� �� ��������� TC ���� 	� 2	T��C �� �� �.
��
����*��)(nsrc,ndest) ��#��� �T�
��#����� 
� 2	T�� �	 ���
����	� ndest ��	� �� ��������� ��
��
������ �-	� �	��� �����6� �� ���#����
� �� nsrc� $�� 
�����	���C 	�� ��	�"����� �� 
��"
�	��
����� L′ �� ���
��� �� L′′ �� �� ������� ��
���� ��� �-��6������� ����




�� ����	��� �� 	����������	
� ������
��

L′′ ← ∅

44 5
���� ��� ��� �
��� 
� �
���������
�

��� k = 1, . . . , Ntour ��

44 ���	�����
� 
� ������� 1 ���
���

Taille← 0
0�	�� Taille < TailleMax ��

44 5
���� ��� ��� �H���� 
� L′
��� ��� %��&!(TC ,ndest) ∈ L′ ��
	� Endest = DESTkF ����

44 C� �����"��� �'
	�����
� 	���� 
� L′ 1 L′′
L′ = L′\ %��&!(TC ,ndest)
L′′ = L′′∪ %��&!(TC ,ndest)
44 C� ���������� �� ������ 
� �������

������ Z������]sT
��� 	�

��� ���

��� 0�	��

44 ���
� ������" 
� �������

L′′ = L′′∪ ����*��)(SRCk,DESTk)
��� ���

��'��	���� �,�* �����&�������� ��� 
���	��
������



���� �
������� ������ �� �
������� �
����	���� 
��

$�	� 
���	� ��	�C �� �2���#� ��	) ������ ' �	 
�	�� �� �� �������� �����C �� 
��� 	�
�����6� �� �����&����� ��� %��&! ������� ( DESTk �� L′ ( L′′ �� �� �-���D���� ��� �	� �� ������
�	 �����6� ������� TailleMax E�/�/// ��� ��&�	�F� 7� ��	)���� ����� 
������� ( ��������
�-��#�� �T�
��& �	 �����6� �� ��:�	���� 	�� �.
�� ����*��)� % �� B�C �� ����� L′ ��� #����

�� � � 	� ����� �	� ��� �
� ����� ��	� �����
� ' �-�)���������� ��� �����6�� ��Q	�� % 
���	�
��	�C 
���	� ���
����	� ���� ��� #� �	� ��#���� 	� �����6�C ���� �� �� 
����M� ��� �� 
�����	
�	 �����6�� 7� ��	� ������ ��� �-����
��� ( 
���	� &��
���� �� ��������� 	� ��"�D�� 
��������
�� ��#��	 �� �-����) �� �� 
���	�� CC �� �� ���� �� &��
���� F �	 G� 3� 
�� ��"�D�� ��� ��#���
�� �D�� ����� �	� �� &��
����C �� ���
����	� ������������ ��	�� ����
������ �� 
�����	 �	
�����6� ��Q	C �� ��	��� �� ���
�� �� ������� ����	��� ���� ��� �
����� �� 
���� �������C

���	� ���
����	� ���� ��	������ �� ��	
��� �� 
� �	-�� ��#���C �� ��� �� 
� �	-�� ��Q����

$!�!� ��������
���
�� ��� 	
�
��
��

�,�,�,� ��
��3���

<�	� ������ �������� 
���� ��
���� 
����
��� ( �� ��������������� �T�
��#� �� �� �������
�	����=�� ������ ��� �� ������������ �-	�� �	��� �����
�� �����
	��������� 	���� ��	� ��� 
��"

	�� �� ���� 6����� ������ E�	"���( �� 
/ �������� �-��
���	��F �	 ��	� �� 6����� ���2��� ��
���
����	�� E�	"���( �� �/F� <�	� #������ �� ������� ��	� ���
��� ���� �� 
������� �	�#���
�-����
� �� 
�� ����B
������ �	� ��� ���&�����
��C ���� ��	� �������� ��� ���������� �-�����"
���� �	 ��
��	� �	� �� &��� �	� 
�� ��#����������� �� ���#��� ���������� �	� ��	� ��� 
�� ��

��
	� �-	�� 
������� ��������
��

�,�,�,� (	�	���	��� �� �� �
�����

%	 ��#��	 ���&���C ��	��� ��� ������
����� �	� �-��� ��� ��
��� ��� ������ �� 
����� �	)
��#��	) ��&����	�� ���#��� �-D���� %	��� ��� �����&���� �� &��� ��� ����� ��	��� ��� 
���	��� ���"
#�������� 3� 	� ���
����	� 6��� 	�� 
���	�� CC �� #� ��#��� �������� �� �����&��� �	� C �� ��	���
��� 
���	��� ���"#�������C 
-���"("���� �� �	��� �������� �	 ��#��	C ( �	���	�� �)
������� ����� 3�
�� ���#����� �� ���������C 
��� � ����
��������� ��	) 
�����	��
�� '

I �-	�� ����C 
���	� ���
����	� #� ��#��� ��2��6�� ��
������� �� �����	� �������� �	
��#��	 ���&��� W

I �-�	��� ����C 
���	� ���
����	� #� ��#��� ��#���� ��� 
���	��� �	-�� 6��� �� ��
�� ( �	�"
������ ��	� ��� �	���� ���
����	���

0� ����� �� ���
;�6� �� �-�
����C �� ��#��	 ���&��� ���� �����	� ����������� ������� �	�

���	� ���
����	� �	 ���	 �-D��� �����6�� *��� �	�� ��	� �T�� �� ������ �	������� �2��6������
�-	���������� �	 ���� �	�"�&"
���C �#�
 	�� 
�	�� �� ���&�����
� ( �� 
��� 0� ����� �� �������"
�����C 
���	� ���
����	� #� ��
�#��� ��	� �� ��#��	 ���&���C 
� �	� ������	� �	� �� �	������ ��
������� �
���6��� #� 
��M��� ������������������� �	 ���2�� �� ���
����	��� *��� �	�� 2���
�J� 	� �T�� ��������	) �	� �-�9
�
��� ����������

$�	� �#���� 
� 6���� �� ���2����C 	�� ������� ���	
��	�� E�������� ��������� ���� O��PF

������� ( ������������ ��� ��	� ��	�� ��#��	) �� �-��2�� ��� ��	� ��� 
���	��C ���� ��� ����
����
�	� �� ������ 	����� <�	� ������ �)���
���� 
��� ���� �� �	��� �� 
���� ��
�����




�� ����	��� �� 	����������	
� ������
��

�,�,�,� 9��$���� �	���	3��	�� ��� ����
��

7-���� �� ������ ��� ���� ������ ' �� ���� ������������ ��� &��
����� �� ��������� F(�k)� %	)
��#��	) ���
��� ��� &�	�����C �L �-�� � 2��	
�	� �� &��
����� F �� ��	 �� ����
����� �kC ��
������2	� ��� &��
����� ����� ��� ���
����	��C �	� 6����� ����� ��	��� ��� ����
������ %	 ��#��	)
���#��C �L �-�� � ��	 �� &��
����� F �� 2��	
�	� �� ����
����� �kC �� ������2	� ��� ����
����� �k
����� ��� ���
����	��C �	� 6����� ����� ��	��� ��� &��
����� F �	 ��#��	 
��
�����

����
���� �k1
�k2 � � � �kn

F1 F1(�k1) F1(�k2) � � � F1(�kn)
F2 F2(�k1) F2(�k2) � � � F2(�kn)
���

���
���

� � �
���

Fm Fm(�k1) Fm(�k2) � � � Fm(�kn)

���� ��� I ��	���������
� ���	��#�� 
�� "
����
�� 
� ��
����
�

3� �� ���������� ��� #���	�� ��� &��
����� �� ���������� Fi(�kj) E�#�
 1 ≤ i ≤ m �� 1 ≤ j ≤ nF

���� ���� �� ��2���	 ���C �� #��� �	� �� ��������������� ��� 
���	�� ��� 	� ��
�	��6� �����
��� ��6���C 
� �	� ��� ���	��� �� m � n E��	� �� &��
����� �	� �� ����
����� ' ��#��	) 2�� ��
�-�
����F� % �-��#����C �� ��������������� ��� ����
���� 
��������� ( 	� ��
�	��6� �� 
������C 
�
�	� ��� ���&���2�� �� n� m E��	� �� ����
����� �	� �� &��
����� ' ��#��	) ��	�� �� �-�
����F�

 �6������ 
������ �� 
��������� 
�� ��	) ����� �� ��������������� #��"("#�� ��� �.
���
������������ �	� 
�������� �� >��� 7�� �.
��� �-��������������C �� ������C �� ���
���� ��
�-����6������ ���#������� ( 
���	� &��� �	� I �	 ��	� I ��	) &��
����� �� ���������C ���� 	��������
��	��� ��� #���	�� �� 
�� ���������� 7� ��������������� ��� 
���	�� ��� ����� ���� ���&���2���
$�� �)�����C ��� �������4���
����� ���� 
������	��� �-	�� >>� ����
�� �	� ��� ��6��� �� ��
&��
���� �� ��������� �� ������C �-	� ����	�� �����
�"#�
��	�C �� �-	�� >>� ��#����� 1�
���6��� ��� �������� 	� ��� 
��
	� �� �� 
�����	 �� �� &��
���� �� ��������� ��� ������2	� �	�
N ���
����	��� 0� ��#��
��C �� ��������������� ��� ����
���� ��� ������ ��	� ��� �.
��� ��
�����&���� 0� �T��C 
���� �������� ���#����� �	� 
���	� ����
���� ��������������C ���� ��	�����
���
 �-�)�
	��� ���� �
���������
� ( 	� ��#��	 ����������� ��� ����
����� 1� �� #���C ��� ��	)
����� �� ���������������� ��� ��	�� �#����6�� �� ��	�� ��
��#�������� <�	� ������ ����������
��������� �� �	���� ������� ��	� �� �#��� ���� �������

�,�,�,� 9��$����� �G���� �� ���$����� ����6�	����

<�	� �#��� 
����� �� &�#������ 	�� �����
�� ��)��C �� 	�������� �� ��������������� ��� 
���	��

���� ������� ��� ��&�	�C �� �� 2��
	���� #��� �-�	��� ���� �� ������2	���� 	���	����� ��	�
������� ��� ������ �� �����&��� �	) ��#��	) ��� ��	� ��	��� $�	� ��	� ��� ��#��	) ���	�� �����
�� ��#��	 ���&��� �� 	� ��#��	 ������������� ������ R ��#��	 ������2	� SC ��� �����&���� ����
������� �� �� ������� �	�#���� '


� $����6� �� �� ������2	���� ��� 
���	�� ( �� ������2	���� ��� ����
���� ��	� ��	��� ���
&��
����� �� ��������� F �	 ��#��	 
�������� W

��  ���������� ��� �����&���� ���� 
���	��
����� W

��  ���	� ( �� ������2	���� ��� 
���	�� ��	� ��� &��
����� �� ��������� G�
$�	� ��� ��#��	) ���	�� �	"���( �	 ��#��	 ������2	�C ��� �����&���� �� ��� 
���	��
������ ����
��
���6���



���� �
������� ������ �� �
������� �
����	���� 
�+

0� 
�����#��� �� ��������������� ��� 
���	�� 
���� ��������������� ��� ��&�	�C �� ��������
��� ����B
������ ( &���� ���� �� 
���� 3�	��� 
�������� ������ �� �����&��� E��B���� ( �� ��
"
���� ����
����F #��� D��� ����B���� $�	� 
���C �� #� �#��� 2����� �� ��	) ��	#����� �.
���
������������C ��������� �� �����6� �-	�� ������2	���� ( 	�� �	����

2������ (C)
$��������� ' ,�� 
���	�� C
%
���� ' ������2	� ��� ����
���� �� &��
���� FC ����� ��	� ��� ���
����	���
*�����2	���� ' ������
,���������� ' ��
������� C ⇑

FC �	� �� ���
����	� nC�

7� �.
�� ����������� �������! ������� �� �����6� �� �� ��������������� ��� 
���	�� ( ��
��������������� ��� ����
���� ��	� �� &��
���� FC � %#��� �-�)�
	���� �� 
���� �.
��C �� &��
����
FC ��� ����������� ���
;�� �	� �� ���
����	� nC� %���� 
���� �.
��C ��� #���	�� ������ ��� FC
���� ��	���2������ ������2	��� ����� ��	� ��� ���
����	��� 7� &��
���� 	������� ��� �� ��	���� ��
�� ��2������ �$� ������� '"�(�������� �	���� 
���� 
���	��
�����C �� � � 	� ��	� ���
����	�
��	�
�C ���� ��	� ��� ���
����	�� ���� ��������������
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�� ����� ���� ��������� �	�
�� B6	�� ���� ' �-���� ����� ��
������ ����#� �� �� ����
���� (θ = 45,φ = 180)C �� �-�� �-���������
�	 
���� �������� ��T��
�� ���� ��	��� ��� ����
����� �	 ���� (xOz) ' φ = 180 �� θ #���� �� /
( ��/ ��6��� ��� ��� �� /C��
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� ���2����C �� 	������ 	�� &���	������ *>�0 E�����
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��#��6��
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� ��#���� ���� ��9
���C �� �	� ���� ���
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1� #��� �	� �� ������ ���� �	 ������������ E
���	��
����� �� 2�������F ���������� �/ [ �	

����� ����� �-	�� ���������� $�� 
�����	���C �-�9
�
��� ��������� �� 
���� ������ �	 
��� ���
�� �/ [� 3� �� ��6���� 
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��� �.
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I + [ ��	� ��� �������4���
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����� ���
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 �����	��� �	� �� ������ �	� ��� �	������ D��� E����������	�����F �� ��	� 
�J��	�� I

( ��#��� ��� �������4���
�����C �� O(n3/2
dl ) I ��� �
� �� ��	� ������ E
-��� ( ������
��� �	

���	���� �� �� ��
���� ����
����F� ���� �� ��� #��� �	� �� ��#��	 ���&��� ����� �� ��#��	 �C ���
�������4���
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 ���� �� ����
���� θ = −45

������������ ( �-���� ��U�
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1� �-��������� ( �� �����	���� �� �-��	����� �� @�������A ���� 	� ������� ��� 2���� ��
�-����
� ��� �� ������� ��� ��	������ ����6������ 1� �� ������� �-	������� ��� ��#�����������
�������� �	��	� �� �� ������� �	����=�� ��	� �

������ �� �����	���� �������#� �� 
� ���� ��
������� ��������� ���� 	� ������� �����C �� 
���
���� ( ����	��� 	� ���2���� �
�	����	� ��
������
� �-	�� ���� ��
������� ���� 	� ��
��� �����C �� �������� �� 
�� �-	� 6	��� �-������ %

���	� &���C �� ���������� �	

��
������ �-�
���	�� R 
������	� S E
-���"("���� ��� �	����=��FC
�	�� �� ������	��� ��� ��	#����� &���	������� �	����=��� �������� ( 
��
	� �� 
�� ���2������
$�� ������� ( �� >�� �
���� ���� �� 
�� ���
�����6�����	�C ��	�� �	���	�� ���	��� E�� �����"

	���� 
�	) �-�������������� �� �-����6������F ��� �J D��� ����B��C ���� ��	� #������ ������M���
	� �
�����6� ��	#��	 �	� 
������� ������ �� �� ������� �	����=���
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7� ������������ �������	� �	� �-�� #� &���� �
� 
������	� :	��� 	� ������ ������� ( ������	���
��� ��#����������� ���
�B�	����� >��� $�	� ��	� �� �������C �� �������� ��� �)����� ( O
+P�

�!�!� ��	��
 ��"�
��
 ����
	���

1� �� ����� 	� �2:�� �	��
���	� Ω− ��6	���� E
&� B6	�� ��
F �� ���	#��� ���� 	� U	���
���&��� 2�������� E�� ��	� ��	#��� �� �-���C �#���	�������� �� �-��	F� ,�� ���� ����� �
�	����	�
��
������ uinc �� &���	��
� f �� �� �	������� ω = 2πf ��� ��T��
��� ��� �-�2:��� 1� 
���
��
( 
��
	��� �� 
���� ����� ��T��
�� udiff ���� �� ������� �)�����	� ���� Ω+� 7� &�������� �	
�������C ����� 3C ��� 
������	�� �-	�� ������ ������� ΓC �-�������
� ηC �� �-	�� ������ ��6���
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Σ� 1� � S = Γ ∪ Σ� 1� ���� �ν �� ������� 	������� �
������ �� ��	� ����� �� �� &�������� ��
�-�2:���

Ω

Ω

Γ
Σ

+

−

Uinc

Udiff

Γ ΣS= U

ν

���� ��
 I ��
����� ��
������� 2 ��� 
'��� 
�
� ����
����

�!�!� ��	��
���
�� ��������
��


�,�,�,� .����	��� �� L�������M

���� �� ������� ���"2���� Ω+C �� 
���
�� ( ����	��� �� ���2���� (P+) �	�#��� ' ���	#��
u+ ∈ H1

loc(Ω
+) ��� �	�

(P+)




∆u+ + k2u+ = 0 dans Ω+,
∂u+

∂ν
= −∂uinc

∂ν
sur Σ,

∂u+

∂ν
+ i

k

η
u+ = −

(
∂uinc

∂ν
+ i

k

η
uinc

)
sur Γ,

lim
r→+∞

r

(
∂u+

∂r
− iku+

)
= 0

1� ���� c �� 
������� ��� ����� �� �������� ���� Ω+ E�����	����� c = 340 m/s ���� �� 
��
�� �-���FC �� k = ω/c �� ���2�� �-�����

1� ���� G(x,y) �� &��
���� �� ?���� ���	���� �� �-��	����� ∆u+ k2u = −δ0 ����
��� ( ��

�������� �� ��������� ������������ ���� �� ���2���� (P+) '

G(x,y) =
eik‖x−y‖

4π‖x− y‖

% 
� ���2���� (P+)C �� 
������ �-����
��� �� ���2���� (P−) ���� �� ������� �������	� Ω−

��B�� ��� ' ���	#�� u− ∈ H1(Ω−) ��� �	�

(P−)




∆u− + k2u− = 0 dans Ω−,
∂u−

∂ν
= −∂uinc

∂ν
sur Σ,

∂u−

∂ν
− ik

η
u− = −

(
∂uinc

∂ν
− ik

η
uinc

)
sur Γ
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7�� ��	) ���2����� (P+) �� (P−) ����� �����C ��	� ������ ���� 
���� ��
���� ���������
��� ���	����� �	 �������� �� �������������� �	� ������ �� ���������� ��� ���	����� u+ �� u−�
$�	� 
���C �� ���� φ �� p ��� ��	�� ��� ���
�� ���6��������� �� u �� �� ∂u/∂νC ��	� �)�
������ '


φ(x) = u−|S(x)− u+

|S(x) x ∈ S,

p(x) =
(
∂u−

∂ν

)
|S

(x)−
(
∂u+

∂ν

)
|S

(x) x ∈ S

1� ���� �	� �-�� � φ ∈ H1/2
S �� p ∈ H−1/2

S � % ����� �	� 
����� ���	 ��� 
��������� �	)
������� �������� �	� ΣC p � ��� �	�� 7� ���	���� ( ����� ���2���� ����� ��	� �-�
���� ��	� ��
&���� �	�#���� �� ��	� ����� x �� �-����
� E#��� O�!PF '

u(x) =
∫

S

(
G(x,y)p(y)− ∂G(x,y)

∂νy
φ(y)

)
dy E��
F

%	������� ���C �� 
���������
� �� p �� φ �	� �� &�������� �� �-�2:�� Ω− ����	� �����������
����� ���2�����

1� ��	� �6������� �)������ �#�
 p �� φ ��� ���
�� �� u �� ∂u/∂ν �	� 3� $�	� 
���C ��
������	�� ��� �������	�� �	�#���� '



Sφ(x) =
∫

S
G(x,y)φ(y)dy,

Kφ(x) =
∫

S

∂G(x,y)
∂νx

φ(y)dy,

K ′p(x) =
∫

S

∂G(x,y)
∂νy

p(y)dy,

Dp(x) =
∮

S

∂2G(x,y)
∂νx∂νy

p(y)dy

E���F

∮
��� 	�� ������ B��� �	 ���� �� @������� �� �-����6���� ���6	������ 1� ��	� ����� �)������

��� ���
�� u �� ∂u/∂ν �	� 3 ( ������ �� p �� φ '


u+ = Sp− (
I

2
+K ′)φ,

u− = Sp+ (
I

2
−K ′)φ,

∂u+

∂ν
= (−I

2
+K)p−Dφ,

∂u−

∂ν
= (

I

2
+K)p−Dφ

E���F

$�� �����	��C ��� 
��������� �	) ������� ��� ���2����� (P+) �� (P−) ��	#��� D��� ���
�����
�� �� ������� �	�#���� '



∂u+

∂ν
= −∂uinc

∂ν
sur Σ,

∂u+

∂ν
+
∂u−

∂ν
+ i

k

η
(u+ − u−) = −2

∂uinc

∂ν
sur Γ,

∂u+

∂ν
− ∂u−

∂ν
+ i

k

η
(u+ + u−) = −2i

k

η
uinc sur Γ

E���F



��� ����	��� !� ��
���	���

1� #� 	������� �� ���	���� �	 �������� �� �������������� E���F ��	� ��&���	��� ��� 
���������
�	) ������� E���F� 1� �2����� �� ������� �-��	������ �	�#��� '



−Dφ+Kp = −∂uinc

∂ν
sur Σ,

−Dφ+Kp− i k
2η
φ = −∂uinc

∂ν
sur Γ,

− η

2ik
p+ Sp−K ′φ = −uinc sur Γ

1� ����� 	� 
���6����� �� #����2�� �� ������ λ = −p/ik� 1� ������	�� 	�� &���	������
#������������� ( �-���� �� &��
����� ���� φt E��	� ��� ��	) ��������� ��	������F �� λt E��	� ��
���������F� 1� �2����� B�������� �� ������� ( ����	��� ' ���	#�� (φ,λ) ���� �	� ∀(φt,λt)C ��
���




−
∫

Σ×Γ

∂G

∂νx
λ(y)φt(x)dydx− 1

ik

∮
Σ×S

∂2G

∂νx∂νy
φ(y)φt(x)dydx

= − 1
ik

∫
Σ

∂uinc(x)
∂ν

φt(x)dx,

− 1
ik

∮
Γ×S

∂2G

∂νx∂νy
φ(y)φt(x)dydx− 1

2η

∫
Γ
φ(x)φt(x)dx

−
∫

Γ×Γ

∂G

∂νx
λ(y)φt(x)dydx = − 1

ik

∫
Γ

∂uinc(x)
∂ν

φt(x)dx,

η

2

∫
Γ
λ(x)λt(x)dx− ik

∫
Γ×Γ

Gλ(y)λt(x)dydx−
∫

Γ×S

∂G

∂νy
φ(y)λt(x)dydx

= −
∫

Γ
uinc(x)λt(x)dx

E���F

<����� �	� �-�������	�D ����� ��������6	����C �� 
��
	� ��� ������ �L ������M� ∂2G/∂νx∂νy

���� �	���	�� ��9
	����� 0� ������	�C �� 
��
	���� 
�� ����6����� ��	� �� &���� �	�#���� '∫
S×S

G(x,y)
[
− �rotSφ(y). �rotSφt(x) + k2νx.νyφ(x)φt(y)

]
dydx

�L �rotS ��� �� ����������� �	�&�
��	� ��B�� ��� �rotSφ = νx ∧ �gradxφ� $�	� ������B��C ��

�����#��� ��� ������ ��

∮
��	� ��	� &���� �
�	���� ���� �� �	��� �	 
��
	��

�!�!� #
�����
���
��

$�	� ����� ���
����������C �� 	������ 	�� ������� �-�������� B��� �� 7�6���6� �� 	�
������6� �����6	����� �� �� �	�&�
� S� 1� ���� NT �� ���2�� �� �����6��� �� NS �� ���2��
�� ������� �	 ������6��

$�	� φ E�	� ���������� �� ��	� �� ��������FC ��� &��
����� �� 2��� ������ ������ ωj �#�

1 ≤ j ≤ NS � *�� &��
����� ���� �9���C #����� 
 �	� �� ������ Sj �� / �	� ��	� ��� �	���� E
&�
B6	�� ���2F� 7-�����)������� �� φ �-�
��� ����� '

φ(x) =
∑

1≤j≤NS

φjωj(x)

1� ���� φΣ
j �� φΓ

j ��� 
��9
����� �� φ ����
��� �	) ������� �	 ������6� �����������
�����
��#����� ( Σ E������ ��� ������� �� SF �� Γ E������ ������� �� SF�



!��� ��� ����� 
��� 	��	����� ��+

$�	� λ E�	� ���������� �� ��	� �� �� ����#�� ������� �� ��������FC ��� &��
����� �� 2���
������ ������ χj �#�
 1 ≤ j ≤ NT � *�� &��
����� ���� 
��������� ��� �����6��C #����� 
 �	� ��
�����6�� Tj �� / �	� ��	� ��� �	���� E
&� B6	�� ����F� 7-�����)������� �� λ �-�
��� ����� '

λ(x) =
∑

1≤j≤NT

λjχj(x)

λ ����� �	� �	� ΣC �� ������ ����T�������� λj �	 λΓ
j ��� 
��9
����� �� λ �	� Γ�

Tj

0

10
0

��� 6��(
�"� 3�

Sj

1

O

O

O

O
O

�
� 6��(
�"� 3�

���� ��� I �
����
�� 
� ���� 	
�� �'��
�������

���� �� ������� E���FC �� ���
��� �� �������� ��	����� �#�
 φt = ωΣ
i C ��	� �� ��
���� ��

����� φt = ωΓ
i C �� ��	� �� ��������� λ

t = χΓ
i � 1� �2����� �� ������� �	�#��� '



−
∫

Σ×Γ

∂G

∂νx
λ(y)ωΣ

i (x)− 1
ik

∮
Σ×S

∂2G

∂νx∂νy
φ(y)ωΣ

i (x)

= − 1
ik

∫
Σ

∂uinc(x)
∂ν

ωΣ
i (x),

− 1
ik

∮
Γ×S

∂2G

∂νx∂νy
φ(y)ωΓ

i (x)− 1
2η

∫
Γ
φ(x)ωΓ

i (x)

−
∫

Γ×Γ

∂G

∂νx
λ(y)ωΓ

i (x) = − 1
ik

∫
Γ

∂uinc(x)
∂ν

ωΓ
i (x),

η

2

∫
Γ
λ(x)χΓ

i (x)− ik
∫

Γ×Γ
Gλ(y)χΓ

i (x)−
∫

Γ×S

∂G

∂νy
φ(y)χΓ

i (x)

= −
∫

Γ
uinc(x)χΓ

i (x)

���� ��� ����6����� ��	2���C �� ��� ��	�"������	 �	� �� #����2�� x ���������� �	 �������
�����2�� �-����6������C �� y �	 ��
���� 0� �	���C �� ����	 �� ?���� ���� G ��6��B� ��	:�	��
G(x,y)C �� ��� dx �� dy ���� �����	� �����
�����

�!�!$ �������
�� �����
��
 �����
��


�,�,�,� .��	���� ����	�	����

1� ��
���
�� λ �� φ ��	� �� &���� �	�#���� '



��� ����	��� !� ��
���	���




φ(x) =
∑
Sj∈Γ

φΓ
j ω

Γ
j (x) +

∑
Sj∈Σ

φΣ
j ω

Σ
j (x),

λ(x) =
∑
Tj∈Γ

λΓ
j χ

Γ
j (x)

1� �2�	��� ( �-�
���	�� �����
����� �	�#���� '




−
∑
Tj∈Γ

λΓ
j

∫
Σ×Γ

∂G

∂νx
χΓ

j (y)ωΣ
i (x)− 1

ik

∑
Sj∈Γ

φΓ
j

∮
Σ×Γ

∂2G

∂νx∂νy
ωΓ

j (y)ωΣ
i (x)

− 1
ik

∑
Sj∈Σ

φΣ
j

∮
Σ×Σ

∂2G

∂νx∂νy
ωΣ

j (y)ωΣ
i (x) = − 1

ik

∫
Σ

∂uinc(x)
∂ν

ωΣ
i (x),

∑
Sj∈Γ

φΓ
j

{
− 1
ik

∮
Γ×Γ

∂2G

∂νx∂νy
ωΓ

j (y)ωΓ
i (x)− 1

2η

∫
Γ
ωΓ

j (x)ωΓ
i (x)

}

− 1
ik

∑
Sj∈Σ

φΣ
j

∮
Γ×Σ

∂2G

∂νx∂νy
ωΣ

j (y)ωΓ
i (x)

−
∑
Tj∈Γ

λΓ
j

∫
Γ×Γ

∂G

∂νx
χΓ

j (y)ωΓ
i (x) = − 1

ik

∫
Γ

∂uinc(x)
∂ν

ωΓ
i (x),

∑
Tj∈Γ

λΓ
j

{
η

2

∫
Γ
χΓ

j (x)χΓ
i (x)− ik

∫
Γ×Γ

GχΓ
j (y)χΓ

i (x)
}
−
∑
Sj∈Γ

φΓ
j

∫
Γ×Γ

∂G

∂νy
ωΓ

j (y)χΓ
i (x)

−
∑
Sj∈Σ

φΣ
j

∫
Γ×Σ

∂G

∂νy
ωΣ

j (y)χΓ
i (x) = −

∫
Γ
uinc(x)χΓ

i (x)

3� �-�� ������� ��� �������	�� SC KC K ′ �� D ���� �	-��� ��� ��� ��B��� ��� E���FC �� ��	�
�
��������� �� ������� 
�"����	� �� �� ������� �	�#���� '


 − 1

ikD − 1
ikD −K

− 1
ikD − 1

ikD −
1
2η Idφ −K

−K ′ −K ′ −ikS + η
2Idλ


×


 φΣ

j

φΓ
j

λΓ
j


 =


 − 1

ik
∂uinc

∂ν |Σ
− 1

ik
∂uinc

∂ν |Γ
−uinc|Γ


 E���F

7� �����	���� �� 
� ������� 
���	�� ( �� 
���������
� �� φ �� �� λ = −p/ikC �	� ����������
( ��	� ��	� �� 
����M��� u+ 6�.
� �	 �������� �� �������������� E��
F�

�,�,�,� 2��$��� �	���� �� 	�
���	�

1� ��� ���
 ��	� ���	��������� ����� ( ����	��� 	� ������� ��������� *���� ���� ��

�� ���
�����6�����	�C ��	) 6������ 
������ �� ���#�	�� �)������ ��	� ������� 
� ���2���� ' ���
���#�	�� ����
�� �� ��� ���#�	�� �������&�� ��	��� ��� ������	�� ��� ��
����� 
�
���� �� 
�
����
( 
� �	:�� ������� ���������� #���2��� �
�� $�	� ��� �D��� �������C �� #� ���
 �-�������� #���
�-	���������� �� ���#�	�� �������&�C ����
��� ( 	�� ������� ������ ���������� �-�

������ ���
����	��� �����
�"#�
��	� ' �� ������� �	����=�� �������

�!�!1 �������
�� �����
��
 ����
���


1� #� ��������� ���� 
���� ��
���� 	�� �
���	�� �	����=�� ���������� �� �������� ��� ���"
�	��� ��� �� �����
� �	 ���2���� E���F�



!��� ��� ����� 
��� 	��	����� ��!

�,�,�,� 9
����	�
 �� ��  !!

%#��� ��	�� 
����C �� 
��#���� �� #��� �� �� ������� �	����=�� ������ �������� 	� �����D�
��	� 
� ���� �� ���2����� $�	� 
� &����C ���� �� ��2���	 ��
C �� �������� ��� ������ �� 6�����	�

���
��������	�� ��� ���2����� �� 6����� ������ �	� �-�� ��	��������� ������� ���� �� �������
�� �-���
�����6������� �� �� �-�
�	����	�� $�	� �-���
�����6�������C �� �-�6�� E��� �)�����F
�� 
��
	��� �-������
���� �-	�� ���� ����� �� &���	��
� � ?@A �#�
 �� ���	
�	�� �-	� �#��� ��
�������� �/ �� ���� �� 
�� �
�	����	�C �� �-��������� �	 2�	�� 6����� ��� ��� ���
��	�� �-	�
�#��� �	) &���	��
�� �	��2����

0�	����� 
��������� 0��
�����6������� %
�	����	�
>���	��
� �� �// �@A ( � ?@A �� 
// ( �/// @A
*������� ��� ����� 3.108 m.s−1 340 m.s−1

7��6	�	� �-���� �� 
 � ( 
/ 
� �� �C� � ( 
+ 
�
������ ��� �2:��� E�� �F :	��	-( �/ � :	��	-( �/ �
������ �� ���6	�	�� �-���� :	��	-( �// :	��	-( 
�/

���� ��
 I @���
���� ���������������� 
�� 	�
������ �������

���� ��� ��	) 
��C �� �2����� ��� ���2����� ���� ��� ������� �� ����� �� ���6	�	�� �-����
���� �� �-����� �� �� 
�������C ���� 2��� �	"���( �� 
� �	-�� ��� �����2�� �� ������� �#�
 	�
���#�	� 	�	��� �� 
���� ������ �������C �� ��	� ���	��� �	� �� >�� �������� ���������� 	�
�����D� ��	� �� �����	���� �� 
� ���� �-��	�������

�,�,�,� ���	�	�� �� ���3����

1� �� ����� ��	) &��
����� φ �� λC ��B���� �����
��#����� �	� S �� ΓC �� ������������ ���
�� #�
��	� �� ��	�� 
���������� ���� X '

X =


 φΣ

j

φΓ
j

λΓ
j




1� ��	����� �������� 	� ����	�� �����
�"#�
��	� ��� �� �����
� A ��B��� ��� '

A =



− 1
ik
D − 1

ikD −K

− 1
ik
D − 1

ikD −
1
2η Idφ −K

−K ′ −K ′ −ikS + η
2Idλ


 E��+F

%	������� ���C ��	� 
���	� &��
���� �� 2��� ωΣ
i C ω

Γ
i �� χΓ

i C �� ������ 
��
	��� ��� �����
�	������� �	�#����� '



− 1
ik

∮
Σ×S

∂2G

∂νx∂νy
φ(y)ωΣ

i (x)−
∫

Σ×Γ

∂G

∂νx
λ(y)ωΣ

i (x),

− 1
ik

∮
Γ×S

∂2G

∂νx∂νy
φ(y)ωΓ

i (x)− 1
2η

∫
Γ
φ(x)ωΓ

i (x)−
∫

Γ×Γ

∂G

∂νx
λ(y)ωΓ

i (x),

−
∫

Γ×S

∂G

∂νy
φ(y)χΓ

i (x)− ik
∫

Γ×Γ
Gλ(y)χΓ

i (x) +
η

2

∫
Γ
λ(x)χΓ

i (x)

E���F
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�,�,�,� 2�������	�� ��� 	�������	��� �������

1� �� ����C �� ������� �	����=�� �-���	�� �	� 	� �
����C �� �� ������ �	� ��� ������
�����
����� ��6��� �� ��2���� �� �� ���	#��� ��� ���� ��� &�	����� #������� �� 
�� ��2��� 7�� �	����
������
����� ���� �������� 
������	����� ��� �� 2���� �-	�� �����
� 
��	��� 1� ���� �� �����
� A
���������� 
�"����	� E��+F ������������ ��	) �����
�� �-������
����� ���
��� Idφ �� Idλ ����
��� 
��9
����� #����� �����
��#����� '




(Idφ)i,j =
∫

S
ωj(x)ωi(x),

(Idλ)i,j =
∫

Γ
χΓ

j (x)χΓ
i (x)

���� �� �����
� IdλC 
����� ���	 �� �� ��B������ ��� &��
����� χj E
&� B6	�� ����FC ��	��
��� ������ ���6���	) ���� ���"�	��� *���� �����
� �� ���� ���
 ��� ������� ��� �� >��� ����
�� �����
� IdφC 
����� ���	 �� �� ��B������ ��� &��
����� ωj E
&� B6	�� ���2FC ��� ��	�� ������
(Idφ)i,j ���"�	�� ���� 
�	) 
������������ ( ��� ������� Si �� Sj ������ ��� 	�� ��D�� �	

��&���	�� *� ���� �� �T�� ��� ��	) ��	�� 
�� �L ��� �	������ ��� &��
����� �� 2��� ωi �� ωj

���� ���"���:������ % ������C ��	) ���� ������� #��� �� �����	#�� ���� �� �D�� &�	����C �	 ����
��	) &�	����� #������� �� �-�
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��� �-�#��� 	�� ��D�� [SiSj] �� ��������� �	�����	�� ( �� ������ ��� &�	����� E
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S
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���� ��� I  �� 	������� 2 ����� �
������ 
��� Idφ
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 	�� ������ �� &�	���� �� �-����� �-	� �	��� �� ���6	�	� �-����C 
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���6	�	� �-���� ��	� ��� ��D��� �	 ������6�C 
� 6���� �� ���	����� ��#���� ��	��&��� �� &����
����� $�� ��	
� �� ������B
�����C ��	� ������ ������ �� 
=�� 
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�� �)
����������C �� 
���������
�	� ��	� ��� ������ �� �� �����
� Idφ ���� R ���
��� S �	 ���� �� �� >��� �� 
��#���� 2��� �J�
�� #���B�� �	� 
���� ��������� ��� :	���C �� �� ������� �)���
������� ��� �#���	��� 
�� ���������
���
�������

��������� 
�� ������	��C �� ��	� �	������� Idφ �� Idλ �� �-�)�������� E��+FC �� �� ��	�
������6	�� ��� &��
����� �� 2��� φΣ

j �� φΓ
j � ��� ����C ��	� ��� ����������� ��� ������
�����

����������C �� ��	� 
��������� �	� �� �����
� A �	� �� >�� #� ������ �-�����
��� �-�
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��	� _ ����
�� '

A =

[
− 1
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D −K

−K ′ −ikS

]
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λj
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�� &���	�� ��+ �	-�� &�	� �� ���������

0� �����C ��� ������ �-������
����� ���������� ( 
��
	��� ��#������� '

− 1
ik

∮
S×S

∂2G

∂νx∂νy
φ(y)ωi(x)−

∫
S×Γ

∂G

∂νx
λ(y)ωi(x),

−
∫

Γ×S

∂G

∂νy
φ(y)χΓ

i (x)− ik
∫

Γ×Γ
Gλ(y)χΓ

i (x)
E��
/F

�,�,�,� ��
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<�	� ������ ���� 
���� ��
���� ��#���� �	� ��� ������ ������������� �� �� >��� ��	�
�-�2���C �� ���� 
���� 	� ��
�	��6� ������
���	� �� �� �	�&�
� S� $�	� 
���C �� 
�����	��
	� �
���� �	��	� �� �-�2:�� Ω−C �� �� �������� ��� ��6��� �� ��2���� ����� ��� &�	����� �� 
��
��2�� E
&� ��
���� 
������F ' ��� &��
����� �� 2��� χj ���� ��
������� �	 
����� �� 6��#��� �	
�����6�� TjC �� ��� &��
����� �� 2��� ωj ���� ��
������� �� ��	� ������ Sj E
&� B6	�� ���F� %

���	� ��#��	 �� �-��2��C �� ��������� �� ���2�� �� �=��� 	������� ��	� 
��
	��� ��� &��
�����
�� �����&���C �� �� ���2�� �� ����
����� (θ,ϕ) 	�������� ��	� ���
;�� ��� &��
����� �� �����&����

7�� ������
����� ���
���C ����� ��6��� �� ��2���� ���	�� ���� ��� &�	����� #�������C ����
�������� 
������	������ �� ����� ���
 ( 
��
	��� ��� ������
����� ����������� $�	� 
� &����C ��
�� ����� ��	) &�	����� C �� C′ ���"#�������C �� 
����� M �� M ′C �� �� 
���
�� ( 
��
	��� ��
����� �-������
���� ����� ��	) ��	�"�������� S ∩ C �� S ∩ C′ E�#�
 ��� ���
������ �� �� ��
����

�������
 
��
������ ��� ����6����� �	� S ∩ CF�

�,�,�,� "�� �&�� �3C�� �	'	��

$�	� ������B��C ��	� ������ �-�2��� ��	���� �� 
�� �-	� �2:�� ����������� ��6���C �	� ���	��
�	
	�� �	�&�
� �-��� �������� ���� 
� 
��C Γ ��� #���C �� S = Σ� 7� #�
��	� X �� �� �����
� A
�� ���	����� ( '

X =
[
φj

]
A =

[
− 1
ik
D

]

���� E��
/FC �� ��	� ����� ( 
��
	��� �-�
��� ����� '

− 1
ik

∮
S×S

∂2G

∂νx∂νy
φ(y)ωi(x)

$�� 
�����	���C �� ����� �-������
���� ����� ��� &�	����� C �� C′ #�	� '

− 1
ik

∫
x∈S∩C′

∮
y∈S∩C

∂2G

∂νx∂νy
φ(y)ωi(x)dydx

1� #� 	������� �� ��
���������� �	 ����	 E��

FC �#�
 	�� ������ ��T����
� ��� �������
�	) 
�������� ���
������ ' �
�C y ��� �� ����� R �� ������ S �� x ��� �� ����� R �-����#�� S �	
�����&����

G(x,y) =
ik

16π2
lim

L→+∞

∫
�s∈S

eik�s. �yMTL
�MM ′(�s)e

ik�s. �M ′xd�s E��

F

7� #����2�� �-����6������ �s ���
�	�� �� ������ 	���� S E( �� ��� 
��&����� �#�
 �� �	�&�
�
�� �-�2:�� S �	� ��� ���
�	�	� ��� ��� #����2��� x �� yF� �� &�	� 6����� ( �-������ �	-�� ������	�C
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7�� ��������
�� �� x �� y ����� ��������C �� 
��
	� ��� ����#��� �� G ��� ����� ������B��
1� � �� �T�� ' 


∂(eik�s. �M ′x)

∂�νx
= �gradx(eik�s. �M ′x).�νx = ik�s.�νxe

ik�s. �M ′x,

∂(eik�s. �yM )
∂�νy

= �grady(eik�s. �yM ).�νy = −ik�s.�νye
ik�s. �yM

E��
�F

1� �� ���	�� �� ��
���������� �	�#���� ��	� �� ����#�� ��	2�� �	 ����	 '

∂2G

∂νx∂νy
=

ik

16π2
lim

L→+∞

∫
�s∈S

k�s.�νye
ik�s. �yMTL

�MM ′(�s)k�s.�νxe
ik�s. �M ′xd�s

1� � ���������� ��	� ��� �������� ��	� �
���� ����� ��6������� �	����=�� �
�	����	� ����
�� 
�� �-	� �2:�� ��6����

��	�	��	���	�� * �� 
��
	�� �� &��
���� FC ��B��� �	� �� ������ 	���� S ��� '

FC(�s) = −
∫

y∈S∩C
k�s.�νye

ik�s. �yMφ(y)dy E��
�F
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	� ���� ��
���6��� ��� ������� �	
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�����6�����	��
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'���	�� * �� ������� �� 
��
	� �� ����6���� �� ���	���� �	 �����&��� ( �� &��� �	� �� ������
	���� S �� �	� S ∩ C′ '

1
16π2

∫
x∈S∩C′

∫
�s∈S
GC(�s)k�s.�νxe

ik�s. �M ′xωi(x)d�sdx E��
�F
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F �� E��
�FC �� �2����� ��� ��
�����������
�	�#����� ��	� ��� ����#��� ��������� �� G(x,y) '


∂G(x,y)
∂νx

= − k

16π2
lim

L→+∞

∫
�s∈S

eik�s. �yMTL
�MM ′(�s)k�s.�νxe

ik�s. �M ′xd�s,

∂G(x,y)
∂νy

=
k

16π2
lim

L→+∞

∫
�s∈S

k�s.�νye
ik�s. �yMTL

�MM ′(�s)e
ik�s. �M ′xd�s

1� �� ���	�� &�
������� �-�
���	�� >�� 
������������ �	) �	���� ������ ( 
��
	����
$�	� �� ����� −

∫
S×Γ

∂G
∂νx

λ(y)ωi(x)C �-�������������� �� �-����6������ �-�
��#��� '

FC(�s) =

∫
y∈Γ∩C

keik�s. �yMλ(y)dy,

*��
	��� '
1

16π2

∫
x∈S∩C′

∫
�s∈S
GC(�s)k�s.�νxe

ik�s. �M ′xωi(x)d�sdx
E��
�F
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7� ����� −
∫
Γ×S

∂G
∂νy

φ(y)χΓ
i (x) ��� �2���	 �#�
 ��� ������ �-�������������� �� �-����6������

�	� �	�#��� ' 

FC(�s) = −

∫
y∈S∩C

k�s.�νye
ik�s. �yMφ(y)dy,

*��
	��� '
1

16π2

∫
x∈Γ∩C′

∫
�s∈S
GC(�s)keik�s. �M ′xχΓ

i (x)d�sdx
E��
�F

0�B�C �� ������� ����� −ik
∫
Γ×ΓGλ(y)χΓ

i (x) �� 
��
	�� �� �� ������� �	�#���� '

FC(�s) =

∫
y∈Γ∩C

keik�s. �yMλ(y)dy,

*��
	��� '
1

16π2

∫
x∈Γ∩C′

∫
�s∈S
GC(�s)keik�s. �M ′xχΓ

i (x)d�sdx
E��
+F
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������� ( �	���� 
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������	� �	� ��� ������ �-�������������� ���� �������	�� ���� E��
�F �� E��
�F �-	�� ����C ����
E��
�F �� E��
+F �-�	��� ����� 0� �	���C ��� ������ �-����6������ ���� �������	�� ���� E��
�F ��
E��
�F �-	�� ����C ���� E��
�F �� E��
+F �-�	��� ����� 1� ��	� ����� ������ �� 
�� �������	���
��	� �������� 	�� &���	������ �	����=�� ( 	�� ��	�� 
����������

��	�	��	���	�� * �� 
��
	�� �� &��
���� FC ��B��� �	� �� ������ 	���� S ��� '

FC(�s) =
∫

y∈S∩C
k [λ(y)− �s.�νyφ(y)] eik�s. �yMdy E��
�F
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�% 7��������% #������� * ��	��� 
�� ������ �� 
��
	� ���� ��
���6��� ��� ������� �	
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����� �� ��������� ( 	�� ��	�� 
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'���	�� * �� ������� �� 
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	� �� ����6���� �� ���	���� �	 �����&��� ( �� &��� �	� �� ������
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&��
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/FF �	 χi E��
���� ��6�� �� E��
/FF '


1

16π2

∫
x∈S∩C′

∫
�s∈S
GC(�s)k�s.�νxe

ik�s. �M ′xωi(x)d�sdx,

1
16π2

∫
x∈Γ∩C′

∫
�s∈S
GC(�s)keik�s. �M ′xχΓ

i (x)d�sdx
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1� ��	� ������
��� �� &���	�� �-�������������� E��
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��������� E��
F �	� �-�� �������� �
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u(x) =
∫

S

(
G(x,y)p(y)− ∂G(x,y)

∂νy
φ(y)

)
dy E��
!F
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�	���	�� ����� �� #������ �� �� ���
����� �	� ��� 
�� �� 6����� �������

�,�,�,� "������	��� �$�� ��� �
������ ��������

1� ��	��� �� 
�� �� ������� ��6���� ���	������ ��� 	�� ���� ������ 7�� ��	) ������6��
	������� 
��������� 
��� �� �++� ��
���	��C ���� �� �������� � �� � ���6	�	�� �-����C �� ����
������� �#�
 
/ ������ ��� ���6	�	� �-�����  �6������ ��	� �-�2��� ��� ����� �-�)�
	���� �	�
	� $* ( ��� �@A ��	� 
��
	� ��� ����� ���#�	�� �����2���� 1� ���� ndl �� ���2�� �-��
���	��
�	 ���2����C Niter �� ���2�� �-���������� �	 ���#�	� �������&C �� Nrhs �� ���2�� �� ��
����
���2��� ENrhs = 1 ��	� �-�)����� 
��������F�

7�� ���	����� �	 ��2���	 ��� ���� 2��� �J� ( ������ �� ��������� �#�
 ��	� ��	�#����� ���
"
�����6�����	� �	 ��2���	 ��
� *���� ���#	C �� �����	���� ��� ������� �	����=�� ��� �� ��	�
������C �� 
-��� �� ��	�� ���� �� 
�������
� �������	� �-�	6	�� ��� �� ����� �� 
��
	� �������"
���	� ��	� ndl 6����� 7�� ���#�	�� �������&� ��� 	������ Niter = 27 ���������� ��	� 
��#��6��
�#�
 �� ������ ������C Niter = 86 ���������� �#�
 �� 6����� ������C �#�
 	�� �������
� ε = 10−3

���� ��� ��	) 
��� 7�� �
���� �T�
��&� ����� �� ���	���� �	 ���#�	� ����
� E
�������� �
� 
����
��&����
�F �� ��� ��	) �	���� ���� ������ ���� �� ��2���	 ��� '

*�� ���
������ ���� �)
��������C ������	��� ��
��� �	� ���� �� 
�� ���
�����6�����	�� <���"
�����C ��	� �� ����� ��� 
��
�	����� �� &�	����� &���� ��� ����� ��	� ���2��	) E
� �	� ��	�
�-�#��� ��� ��
��� &���C &�	�� �� ����� �� �� ������6�� �������F�
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 � � � Nrhsndl
2

2��$��� 	�
���	� *
�������������� 
// � 
+�/ � ndl

2

�����	���� 
/ � ��� � Nrhs.Niter.ndl
2
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1� #� 	������� ��	) ������6�� ���� 
���� ��
����� 7� ������� ��� �� ������6� �-	�� ������
��6���C �� �������� �� ���6	�	�� �-����C 
��������� ���
!� ��
���	��� 7� ��
��� ��� 	��
��
���� �� ����	� �-�#���C ������������� �������C 
��������� !!��! ��
���	��C �� ��������

�C� ���6	�	�� �-����� 0�#���� � [ ��� 
�//// �����6��� ���� ������� �� ������� ��	) ����� ��
��6��� �� ��2�����

3��������
!� <�
����!!��!
����� �� �������6� �/�/ � 
+�� �
����� ��� ��������� ��
 � ��� �
������� #�#� �+� �� �� ��
0���
� ����	� �C� ?� �C
 ?�
$��
����� �� �� >�� 7,3.10−4 1,8.10−3

���� ��� I  ������ ��
�������� 
� ����
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1� �2���#� �� ��	#��	 	�� ���� 2���� ���
�����C �� ��� ����� �� 
��
	� ���� �����&�������C

����� ���	 �� �� ������ ��� ���2����� �������C �� �� �� ��
���� 	������� E	� ������ $* $����	�
��� ( ��� �@AF�

'�� ��� ���� .�	�
 �����
�

1� #� ���������� ��	���� 	� ������ ������	� ��	� ���2��� ��#������ ��� ����� ����������
���	������ E0%�3F�
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1� �-��������� �
� �	 2�	�� ( �-�#��� �-	� ����	� �-�#��� �� ��6��� 7� ����
����� 
�	�� ��

� 2�	�� ��� �� ��	c���� E
-���"("���� �-�����2�� ����
��C �	�2����C 
��������	�C���F �	� ��	�
������ ��������� ��� 	� 6	��� �-������ *� 6	��� �� ���	#��� ( �-�������	� �-	�� ��
���� �	� �-��
�	������� ������ �� ��6���� 7� B6	�� ��� �
�������� �� ������ ������	� 
���������

Ω−

Ω+

Γg

ν

Σ

+z−z

���� ��� I ��
����� ��
������� 2 ��� 
'�� ���
� 
'
�
��

1� ���� Ω− �-�����2�� ��
����]6	��� �� Ω+ �� ������� ��B�� �)�����	�� 3	� �� B6	�� ���C
�� 6	��� �-����� ��� ���������� �� 6���� ��
�	��C �� ��
���� �� 6����C �� �� ������� �)�����	� ��
2���
� 1� ������	�� 	�� &�������� B
��#� Γg ����	��� �� ���������� ����� �� 6	��� �-����� ��
Ω+� 1� ���� Σ �� ����� �� �� &�������� �� Ω−� 1� ���� S �� &�������� �� Ω− ' S = ∂Ω− = Σ∪Γg�
3	� 
���� &��������C �� ���� ν �� ������� �)�����	�� ( Ω−� 7� �	�&�
� Σ ���� 
��������� 
����
��6����

�!�!� ��	��
���
�� ��������
��


�,�,�,� H�	�� �&�����

��	� �-�2���C �� #� �-���������� �	 6	��� �-����� ��	�� $�	� ������B��C �� #� �� ���
�� ����
�� 
�� �-	� 6	��� �-����� ���� GC ��B�� ���� �� ����
���� �� �-�)� (Oz)C �)���������	� �� ��
����

��
	����� Γg �� �� ����� rg� % �-�������	� �� 
� 
�������C �� 
���
�� ( ����	��� �-��	����� ��
@�������A �#�
 
��������� �	) ������� �� ����� <�	���� E��6���F �	� �� &�������� '

{
∆u+ k2u = 0 dans G,
∂u

∂ν
= 0 sur ∂G

E���/F

1� 
���
�� ��� ���	����� �� 
� ���2���� �� 
���������� 
��������	�� ��	� �� &���� u(x,y,z) =
V (r,φ)eiγz �L γ ��� 	� ���2�� �-���� E�#���	�������� 
�����)�F 
���
�������� �� �����6�����
�� u ���� �� 6	���C �� �	� ����� ( ����������� V ��� ����� ���	���� �	 ���2���� �	) #���	��
������� ' 


∆2DV + (k2 − γ2)V = 0,(
∂V

∂r

)
|r=rg

= 0

1� ���� k2
c = k2− γ2� 7-�������	� ∆2D ����� �	����:����C ��� #�
��	�� ������� E�	��� �������

�

��F &������ 	�� 2��� @��2��������� 1� 
���
���� ���
 ��� ���	����� �� E���/F ��	� �� &����
�� 
��2�������� ��������� �� 
�� ������ 7� ������� �� ���������� ��� #����2��� ��	� 
���	��



!��� ��� ���� #�	�� ��
���� ��+

( ��
���
��� ��� #�
��	�� ������� �� 
���������� �������� (r,φ) ��	� �� &���� Wm(r)eimφ� 1�
���	#� ����� �	� Wm ���� #���B�� '


 W ′′

m(r) +
1
r
W ′

m(r) +
(
k2

c −
m2

r2

)
Wm(r) = 0,

W ′
m(rg) = 0

7� ���	���� �� �� �������� ��	����� �-�
��� Wm(r) = Jm(kcr) �L Jm ��� �� &��
���� ��
8����� �-����� m ���	���� �� f ′′ + 1/rf ′ + (1 − m2/r2)f = 0 E������� ��	����� �� 8�����
�-����� mF� 7� 
�������� �	 2��� ������ �	� kcrg ���� 	� A��� �� J ′

m� 1� ���� (zmn) �� �	���
��B��� �����2��2�� ��� A���� ������&� �� J ′

mC �� �� ���� kcmn = zmn/rg�
7�� ���	����� �� �-��	����� E���/F �� ��
�������� �	� ��� ����� '

Jm(kcmnr)eimφeiγmnz �#�
 γ2
mn = k2 − k2

cmn E���
F

1� ������6	� ��	) ����� �� ����� '

I 7�� ����� �����6���&� ' 
� ���� 
�	) ��	� ����	��� k > kcmn� γmn ��� ����� ����C ��
#�	�

√
k2 − k2

cmn E�	 ��6�� ����F� *�� ����� �� �����6��� ���� �� 6	��� �-����� �#�

	�� ������	�� 
��������� $�	� 	�� #���	� �� k ������C 
-���"("���� ��	� 	�� &���	��
�
������C �� ���2�� �� A���� �� J ′

m #���B��� zmn/rg < k ��� B��C �� � � ���
 	� ���2��
B�� �� ����� �����6���&��

I 7�� ����� �#����
���� ' 
� ���� ��� �	����C ��	� ����	��� k < kcmn� γmn ��� ����� ���6�"
����� �	�C �� #�	� i

√
k2 − k2

cmn E�	 ��6�� ����F� *�� ����� �� �����6��� ���� �� 6	���
�-����� �#�
 	�� ������	�� ��
���������� ��� �)������ �� �	������ ��B��� �����2��2���

$�	� ������B�� ��� ���������C �� #� 	������� �� 
���
���� �����2��2�� �� 
�� ����� ��	�
�-	������� �	-	� ��	� ����
� ' �� ������ ���
 
�� ����� (um)m≥0C ����
�� �	 ���2�� �-���� γmC
��� (um) ����� ���6�� ���� �-����� ��� γ2

m ��
��������� E���� �-�2��� ��� �����6���&�C �	� ���� ��
���2�� B��C �	�� ��� �#����
����F� 0�B�C �� ������6	��� ��� ����� ��
������ E�	� �� �����6���
#��� ��� z ��6���&�C ���� γm < 0F �� ��� ����� ��U�
��� �	 ��T��
��� E�	� �� �����6��� #��� ��� z
������&�C ���� γm > 0F� *�� ����� ������ ���
 ����� uinc

m �	 udiff
m �

<�	� ������ 	������� 
� 6	��� �-����� �� �� ������� �	�#���� ' �� &��
���� �� �� ��������� ��

� 6	���C �� �� �� ���
����� ��
���
��� ���� ����� 
��
	�C �� B)� �� ���2�� �� ����� ��
������
�� ��T��
��� �	� �-�� ��	����� 
�����#��C ���� M inc �� Mdiff 
�� ���2��� E�	� �� ������	�
#����� �	 ��	� �	���	�� 
��������F� 1� ��
������ ����� �� 
���� u �	� �� &�������� �	 6	���
�-����� Γg �� ��	) ������ '

I �-	�� ���� �� 
���� ��
����� uincC �	� �� ��
������ �	� ��� ����� ��
������ uinc =∑
0≤m<M inc αmu

inc
m � *-��� �� ������ �	 ���2�����

I �-�	��� ���� �� 
���� ��T��
�� udiff =
∑

0≤m<Mdiff βmu
diff
m � *-��� 	�� ��
���	� �	

���2�����

7� 
���� ����� �-�
��� 2��� �J� u = uinc + udiff � 7�� 
��9
����� (βm)0≤m<Mdiff ���� ���


��9
����� �� ��U�)��� �	 
���� ��
����� uinc �	� ��� ����� ��T��
��� udiff
m �

1� � �
� �������� �� 
�� �-	� 6	��� �-����� �� ��
���� 
��
	�����C ��	� ���	�� ��� �����
��	#��� D��� 
��
	��� �� ������� ��������	�� ���� ��� 
�� ��	� 
�����)��C �� ���	���� ��������	�
��	� D��� ������
�� ��� 	� 
��
	� �	�����	� �� �����	���� �-	� ���2���� �	) #���	�� �������
�	� 	�� ��
���� �	 6	��� �-������ *��� �� 
���6� ���� ( ����� ������C �� ( 
� �	� #� �	�#���
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1� ��#���� �	 ���2���� ������ ���������� �	� �� B6	�� ���� *���� �� �-� &��� ���� �� 
��
�-	�� ���� ����� ��
������C �� ��B��� 	� ���2���� (P+) ���� �� ������� Ω+ �� �� �������
�	�#���� '

(P+)




∆u+ + k2u+ = 0 dans Ω+,
∂u+

∂ν
= 0 sur Σ,

u+ =
∑

0≤m<M inc

αmu
inc
m +

∑
0≤m<Mdiff

βmu
diff
m sur Γg,

∂u+

∂ν
=

∑
0≤m<M inc

αm
∂uinc

m

∂ν
+

∑
0≤m<Mdiff

βm
∂udiff

m

∂ν
sur Γg,

lim
r→+∞

r

(
∂u+

∂r
− iku+

)
= 0

E����F

1� ��B��� ���� �� ������� Ω− 	� ���2���� ��2������� (P−) '

(P−)
{

∆u− + k2u− = 0 dans Ω−,
u− = 0 sur S

Ω− ����� 2����C �� ���	���� �� (P−) ��� 	��&�������� �	��� ' u− = 0� 7-�����
����� �	 ����"
���� �� �������������� E���F 
���	�� ����� ( �
���� '



−ikSλ+ (

I

2
−K ′)φ = 0,

− 1
ik
Dφ− (

I

2
+K)λ = 0

�#�
 


φ(x) = −u+
|S(x) x ∈ S,

λ(x) =
1
ik

(
∂u+

∂ν

)
|S

(x) x ∈ S

1� ������	�� ��� &��
����� ���� φt �� λt �� �� ����6�� �	� S E��������� �	� S = Γg ∪ ΣF� λ
�� λt ����� �	�� �	� ΣC �� �2����� '



−ik

∫
Γg×Γg

Gλ(y)λt(x)dydx +
1
2

∫
Γg

φ(x)λt(x)dx−
∫

Γg×S

∂G

∂νy
φ(y)λt(x)dydx = 0,

−1
2

∫
Γg

λ(x)φt(x)dx−
∫

S×Γg

∂G

∂νx
λ(y)φt(x)dydx− 1

ik

∮
S×S

∂2G

∂νx∂νy
φ(y)φt(x)dydx = 0

E����F

�!�!� #
�����
���
��

1� 
�����#� 2��� �J� 	� ������6� ( 2��� �� �����6���C ���� �	� Σ �	� �	� �� &�������� Γg �	
6	��� �-������ 1� 	������ ��	:�	�� ��� &��
����� �� 2��� ωi E�	� SF �� χi E�	� Γg 	���	�����F�



!��� ��� ���� #�	�� ��
���� ��!

�� ������� 
������	�C �	� Σ �� ����� ��	� &��
���� ���� φt 	�� &��
���� �� 2��� ωi� 3	�
�-�����&�
� �	 6	��� �-����� ΓgC �� #� ������� ��	� &��
���� ���� ��� ����� ��T��
��� '




φt = udiff
m ,

λt = − 1
ik

∂udiff
m

∂ν

<����� �	-�� � � 	�� ��T����
� �� ���	�� ����� ��� ��	) ����� �� &��
����� ����� ' ���
&��
����� �� 2��� ωi ���� ��
���� E��	�� �	������ ���� ��	� ��T������C �� �� ���	����� ( �	���	��
�����6���FC ����� �	� ��� &��
����� ������� udiff

m ���� 6��2���� E��	� �	����� ��� 
���	�C 
-���

�-�����&�
� �	 6	��� �-����� Γg ��	�� �������F� 1� #� ����� v
diff
m = − 1

ik
∂udiff

m
∂ν � 3	� ΓgC ��

��
������ φ �� λ �� ������ ��
������ E
���	�F �� ��T��
��� E��
���	�F '




φ = φinc + φdiff ,

λ = λinc + λdiff

�#�
 '

φinc =
∑

0≤m<M inc

αmu
inc
m ,

φdiff =
∑

0≤m<Mdiff

βmu
diff
m ,

λinc =
∑

0≤m<M inc

αmv
inc
m ,

λdiff =
∑

0≤m<Mdiff

βmv
diff
m

3	� ΣC ��� �����6�� �� ��
������ φ = φinc + φdiff C ����� ������	 �	� φinc = 0 ��
φdiff =

∑
φjωj�

1� � ����� ��	��� ��� 2���	�� ��	� ���
���� �� ������� E����F� 1� #� ������ ��� �������
��
������� ���� �� ����� �� ������C �� 	������� ��� &��
����� ����� (ωΣ

i ,u
diff
m ,vdiff

m )� 1� �2����� '



��/ ����	��� !� ��
���	���




−ik
∫

Γg×Γg

Gλdiff (y)vdiff
m (x)dydx +

1
2

∫
Γg

φdiff (x)vdiff
m (x)dx

−
∫

Γg×S

∂G

∂νy
φdiff (y)vdiff

m (x)dydx = ik

∫
Γg×Γg

Gλinc(y)vdiff
m (x)dydx

−1
2

∫
Γg

φinc(x)vdiff
m (x)dx+

∫
Γg×Γg

∂G

∂νy
φinc(y)vdiff

m (x)dydx ∀vdiff
m ,

−1
2

∫
Γg

λdiff (x)udiff
m (x)dx −

∫
Γg×Γg

∂G

∂νx
λdiff (y)udiff

m (x)dydx

− 1
ik

∮
Γg×S

∂2G

∂νx∂νy
φdiff (y)udiff

m (x)dydx =
1
2

∫
Γg

λinc(x)udiff
m (x)dx

+
∫

Γg×Γg

∂G

∂νx
λinc(y)udiff

m (x)dydx+
1
ik

∮
Γg×Γg

∂2G

∂νx∂νy
φinc(y)udiff

m (x)dydx ∀udiff
m ,

−
∫

Σ×Γg

∂G

∂νx
λdiff (y)ωi(x)dydx−

1
ik

∮
Σ×S

∂2G

∂νx∂νy
φdiff (y)ωi(x)dydx

=
∫

Σ×Γg

∂G

∂νx
λinc(y)ωi(x)dydx +

1
ik

∮
Σ×Γg

∂2G

∂νx∂νy
φinc(y)ωi(x)dydx ∀ωi

E����F

�!�!$ ,��
���
 ����
�

��


<�	� ������ ������ �� �������� �����
����� ��	� �� �	���� 3����� ���
 ��� �����
�� '

Xinc =
[
uinc

m

vinc
m

]
Xdiff =

[
udiff

m

vdiff
m

]
α = [αm] β = [βm]

Xinc �� Xdiff ���� ��� ���:�
����� ��� ����� ��
������ �� ��T��
��� �	� ��� &��
����� �� 2���
�	� Γg� *� ���� ��� �����
�� ( M inc �� Mdiff 
�������C �� nΓg

dl ��6���� 1� � '

Xinc.α =
[
φinc

λinc

]
Xdiff .β =

[
φdiff |Γg

λdiff

]

3����� �6������� ��� �����
�� E�#�
 ��	:�	�� ��� ��������� E���F ��	� DC KC K ′C �� SF '

B =

[
− 1
ik
D

−K ′

]
C =

[
− 1
ik
D −K

−K ′ −ikS

]

7� ��������� ��	����� �� E����F ��	� �-�
���� '

− 1
ik
Dφj + tBXdiff .β = −tBXinc.α

1� #� ������ ��� ��	) ��������� ��	������ �� E����F�  �����	��� �	� ��� ������ �-����"
6����� ������� �	� Γg ���� ��� ���2��� �� 6�	
�� �-���������� 0� �T��C �� � '

1
2

∫
Γg

φdiff (x)vdiff
m (x)dx =

1
2

∫
Γg

∑
q

βqu
diff
q (x)vdiff

m (x)dx



!��� ��� ���� #�	�� ��
���� ��


3�
���� �	� vdiff
m = − 1

ik
∂udiff

m
∂ν = −γm

k u
diff
m E
&� E���
FFC �� ��
���� �	� ��� ����� 6	����

���� �����6���	)C ��	� �� ����� q = m ������ 7-����6���� 
�"����	� ��� ���
 �6��� ( '

−1
2

∫
Γg

γm

k
βmu

diff
m (x)udiff

m (x)dx

7� 
��9
���� iγm #���� �� �� ��������
� �� udiff
m ��� ������� ( z E
&� E���
FF� 1� �� �D��


��
	� �	� �-����6���� −1
2

∫
Γg
λdiff (x)udiff

m (x)dx E�� �� ��
���� ��	����� �� E����FF ���������
�-�������

0� ��#��
��C ��� ����6����� ��� ��
���� ���2���

−1
2

∫
Γg

φinc(x)vdiff
m (x)dx ��

1
2

∫
Γg

λinc(x)udiff
m (x)dx

���� �6���� �� ��	� ����� #�	� E�	 
���)F '

−
∫

Γg

φinc(x)vdiff
m (x)dx =

∫
Γg

λinc(x)udiff
m (x)dx =

∫
Γg

αm
γm

k
uinc

m (x)udiff
m (x)dx

�
�C �� ������B
����� �-� ��� ���	 
�� ��� ����� ��
������ �� ��T��
��� ��� ��� ��������
��
�� z �#�
 ��� ��6��� ������� Eeiγmz ��	� ��� ��
������C e−iγmz ��	� ��� ��T��
���F�

7� ����� ��� ��	) ��������� ��	������ �� E����F ��	� �-�
���� '

tXdiffBφj + tXdiffCXdiff .β = −tXdiff (C + Ig)Xinc.α

�L Ig ��� �� �����
� ���� �-������� (i,j) #�	�
∫
Γg
ωi(x)χj(x)dx�

%	 B���C �� ��� ���
 ����� ( ����	��� '[
− 1

ikD
tBXdiff

tXdiffB tXdiffCXdiff

]
×
[
φj

β

]
= −

[
tBXinc

tXdiff (C + Ig)Xinc

]
.α E����F

7� �����	���� �� 
� ������� �������� 
���	�� ( ���������� ��	� ��� 
��9
����� φj �� βm�
1� �� ���	�� φ �� λ E�	 pF �	� Γg 6�.
� �	) 
��������� �	) ������� �� E����F� 7� ��������
�� �������������� E��
!F ������ ���	��� �� 
����M��� �� 
���� �� �������� u �� ��	� ����� ��
�-����
��

�!�!1 �������
�� �����
��
 �����
��


1� ���� C ′ = tXdiffCXdiff � 0� ������	�C ��	� ����	��� 
� ������� �#�
 	� ���#�	�
�������&C �� ���� β �� �� ��
���� ��	�����C �� �� �-������ ���� �� �������� '


β = C ′−1

(
−tXdiff (C + Ig)Xinc.α− tXdiffBφj

)
,(

− 1
ik
D − tBXdiff .C ′−1tXdiffB

)
φj

= −tBXinc.α− tBXdiff .C ′−1(−tXdiff (C + Ig)Xinc.α)

7-��#������ �� C ′ �-��� ��� ���� 
�J��	��C 
�� 
-��� 	�� �����
� �� ������ Mdiff ×Mdiff

E��������� �	-�� ������	� Mdiff �� M inc #����� �	 ��	� 
//F� $�� �����	��C �� ��	� ������	��
�	� ��	��� ��� �����
�� ��	#����� ������������ �
� EB �� CF ���� �������	�� ( 
���� 	������� ����
�� 
�� �-	�� ���� ����� ��
������ E&���	�� E��+FF �	 ����� �� η ����� �� �D�� �	� 
���� �����
�



��� ����	��� !� ��
���	���

A ������������ �-�
���� �� S �	� �	�"�D��C B ����	�� �-�
���� �� Σ �	� Γg �� C �-�
���� �� Γg �	�
�	�"�D��C �� ����� �-�������
� �� ������ 7-�����2��6� �� 
�� �����
�� �� �������� ���
 ���
�� ��	#��	��� ��� ������� �	 
�� �-	�� ���� ��
������� 0� 	�������� 	� ���#�	� �������&C �� �-���
�D�� ��� �2��6� �-�����2��� �� �����
� ������� �	 ���2���� −1/ikD− tBXdiff .C ′−1tXdiffB�

�!�!� �������
�� �����
��
 ����
���


 �������� �	� �-�� 
���
�� ( ����	��� �� ������� �����
��� �	�#��� '[
− 1

ikD
tBXdiff

tXdiffB tXdiffCXdiff

]
×
[
φj

β

]
= −

[
tBXinc

tXdiff (C + Ig)Xinc

]
.α E����F

1� ���� ��	:�	��M inc �� Mdiff �� ���2�� �� ����� ��
������ �� ��T��
��� ���� �� 
�����
���� ����� 
��
	�C nΓg

dl �� n
Σ
dl �� ���2�� �� ��6��� �� ��2���� �� ���	#��� �	� Γg �� ΣC �� ��B�

nrhs �� ���2�� �� ��
���� ���2��� �	 �������� 7� ��2���	 ��� ���
��� ��� ���������� ���
��T������� �����
�� ������������ ���� E����F�

<�� ������

D nΣ
dl × nΣ

dl

C n
Γg

dl × n
Γg

dl

Ig n
Γg

dl × n
Γg

dl

B n
Γg

dl × nΣ
dl

Xinc n
Γg

dl ×M inc

Xdiff n
Γg

dl ×Mdiff

φj nΣ
dl × nrhs

β Mdiff × nrhs

α M inc × nrhs

���� ��� I %������
�� 
�� ��������

$��Q��� ��	� ���� �� 
�� �-	� 
��
	� �� 6����� ������ ' nΣ
dl = 106C nΓg

dl = 105C M inc = 100C
Mdiff = 100 �� nrhs = 100� 1� #��� �	� ��� ����� �����
�� BC C �� D E�	� 
���������� �����
1010 �� 1012 ��������F ���#��� �2���	���� D��� 6����� �� ���� �	����=��� Ig �� ���� ��� ��
���2���� �	���	-���� ��� 
��	���

7� ����������� �� ����	�� �	����=�� ��	� ��� �����
�� 
������ D �� C �� �������� ��� ��
��9
	��� ��	#����� 7-	���������� �� �� >�� ��	� C ������ �-�����2��� CXdiff 
������ ���

������ ��Mdiff ����	��� �	����=���C �� �-�� ���	��� C ′� $��
����� �	� ��	� �� ������ �����
����	�� �	����=�� �� ���� ��� &���� �� ������������� ' �� ������ ���
 tB 
���� 	�� �����
� (
����C ������������ �� B�

1� ��	� ��	��6��� ����� ������ ������������ �	 ��#��	 �� �-�������������� '

I ��	� �-�2���C �-���������� ( �� ������� �	����=�� �� 
�� ��6������� ������ �	-�� ���
��	� ( &��� �����2�� �� ������� �#�
 �� >�� ��� &���	������� ���2�����C �	� ������� ��

���� �� �� ������ �����	���� �-	� ������� ���������

I 0��	���C �� ��� ����� ( 6���� ���	��������� ��	���	�� >�� ��������C �	���	� 
�� ��&"
&������� �����
�� EBC CC DF �-���	���� �	� ��� �������� ��T������� �	 ������6�� *����

���2������� �� ���� 2��� �J� �	
	� ���2�����



!��� ��� ���� #�	�� ��
���� ���

I 0�B�C �� ��	#��	�� �� ��	� ����
��� ( 6���� �� ����� �� ���6��������� ��� �-����������
�-	�� >�� ���"
������ <�	� ������ ��	� �������� 	� ��	 ��	� �	� 
� ������� ������

0� �T��C ���� ��	� ��� 
�� #	� :	��	-( ����������C ��� �����
�� 
���������� ������� ��	:�	��

������� 7�� ��6��� �� ��2����� �	� ��� ��6��� �� ��� 
������� ������� ��� �D���C �� �	 ��#��	 ��
�� >��C ��� ��������������� �� ��� ����6������� �� &�������� �	� ��� �D��� ��
���	��� �
�C �#�
 ��
�����
� BC 
��� 
���6� 
�� ��� ��
���	�� R ��6��� S ���� �	� Γg �� ��� ��
���	�� R 
������� S
���� �	� Σ� 1� ��� ����� ����� ( 
�����	��� ��	) �
�����C 	� �
���� ��6�� 2��� �	� �� ������6�
�� Γg C �� 	� �
���� 
������ 2��� �	� �� ������6� �� Σ�

7�� ������ �-�������������� �� �� ������ �� &��� �	� �-��2�� 
������C �	� ��� �� �	���	� �����
�-��2�� �� ������� 7�� �����&���� ����	��� �� �����6� �� �-��2�� 
������ ( �-��2�� ��6��� 0�B�C
��� ������ �� ���
���� �� �-����6������ �� &��� �	� �-��2�� ��6��C �	� ��� �-��2�� �-����#��� %����
�	� ���� �� 
�� 
������	�C �� �D�� ��2�� ����� ( �� &��� ��� &��
����� �� ��������� F �� GC �
�
��� &��
����� F ���� �	� �-��2�� 
������C �� ��� &��
����� G �	� �-��2�� ��6���

�� ��� ��������� �� ��	��6��� �	� 
�� ��	) ��2��� �� ���� ��� ������������ ' ��	� ��	#���
&���� ��� ���������� �� �����&��� �� �-	� �	� �-�	���C �� � 2����� �-�#��� ��� ������� �� #������
�� �� 2�����	�� ��	� ��� 
���	��� ���	��� �	� ��	) ��2��� ������
��� 3� C ��� 	�� 
���	�� �� �-��2��
��6��C �� C′ 	�� 
���	�� �� �-��2�� 
������C �� &�	� ��	#��� ���� �� 
�� ��	) 
���	��� ���� #�������
�	 ���C �� �� ��	�� ������� �����
��&� ���� #������ �	 ���� 7� ��	� ������ ��� �� 
�����	��� 
��
��	) �
����� ( ������ �-	�� 2�M�� �������� 
���	��C ��6��2��� ��� ��	) ������6��C �	�� �� &����
��� �	2��#������ �������� ' �� ������� �-�
����� R ����
��� S� %���� ��� 
���	��� ��� ��	) ��2���
�	���� �� �D�� ������ ( 
���	� ��#��	C �� ������ ���
����� ���� �� �D�� 6����� ���

7� B6	�� ��� ���������� 	� �)����� �� 
�����	
���� ��� ��	) �
����� ����
��� ���� �� 
��
�-	� 6	��� �-������ ���� �� 
������ �� 6�	
��C �� &�������� �	 6	��� �-����� Γg ��� �����������
�� R ����� S E�� ��	6�C �� #�	� �#�A �� 
�	��	�FC ������ �	� �� ����� �	 ������6� Σ ��� �� B� ��
&�� E2��	F� % ������C 
-��� Σ �	� ��� �� ����� EΓg ��� ����� 
�
��F� %	��	� �� 
�� ������6��C ��
� ���������� ��� �������� ��#��	) �� ��	) �
����� ����
��� 
�����	�� �	� Γg �� Σ� *���� ��
��	� �� #���C �� ��#��	 / ��� 
���	� �	) ��	) ��2���C ��� ��#��	) �	�#���� ���� ���
�B�	���

7� ��2���	 ��� ���	�� ��� 2������ �� ����� �-�
���� ��	� ��� � �����
�� ( ������� ���� ��

�� �-	� 6	��� �-������ �� ��� ��������� �� ��	��6��� �	-	� �
���� R ����������� S 2��� �	�
Γg E
���� 
��	� �� CF ���� ��T����� ��� �
����� ����
��� 2���� �	� Γg E
���� 
�	) �� B ��
tBF� �D�� �-��� ���� 
�����	��� �	� �� �D�� ������6�C ��� �-��� � ������ ��� �� �D�� ��
����
<����� ��B� �	-�� ��� ���� ��	�� �����2�� �� �����	�� �� ���2�� �-�
����� ��� �� :�	C ����
�	� 
��� �-� ��� ��� :	6� ������������

�����
� 1
����
D 
 �
���� �	� Σ
C 
 �
���� �	� Γg

B � �
����� ����
��� �	� (Γg × Σ)
tB � �
����� ����
��� �	� (Σ× Γg)
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*���� ���� �� 
�� �-	�� ���� ��
������C ��	� ������ ������� 
���� ��
���� �� ��	) �������

����
���� ( �� 
���������� �#�
 ��� �������� 
������	�� �� �����	����C �	�� ( ��� ����� �	�
��� ���2����� �� 6����� �������

�,�,�,� "������	��� �$�� ��� �
������ ��������

1� ������� �� ��	) ������ ������6�� ( 
�!� �� ���� ��
���	��� ,� ����� �� 
�� ��
���	��
���� ���	��� �	� �� 6	��� �-����� ΓgC �� ����� �	� �� ������ ��6��� Σ� ���� ��� � 
��C �� 
��������
� ����� ��
������ �� � ����� ��T��
���� 1� ����	� �� ���2���� E����F ��	� � ��
���� ���2���
E
���	� ���� ��
�����C 	� ��� 	�F� 1� �2����� ����� 	�� �����
� �� 
��9
����� �� ��U�)���
β �� ������ 6× 6�  �6������ ��	� �-�2��� ��� ����� �� �����	���� E�	� $* ��� �@AF '

?	���
�!� ?	�������
2��$��� �	���� *

�������������� 
�! � ��/ �
�����	���� � � � �

2��$��� 	�
���	� *
�������������� !� � ��� �
�����	���� �� � 
�� �

2��$��� ����	�)�� *
�������������� �� � �
 �
�����	���� ��! � 

�/ �

���� ��+ I $��	� 
'�3�����
� 	
�� ������ ��	� 
� �
����� -��� � +== �JK/

1� � �
� 	������ 	� ���#�	� �������& N� �	��� ��
���� ���2��� O+P �#�
 ε = 10−3 ��	�
�������
�� 7�� ���2��� �-���������� ���� �� �/ �	� ��� ��	) ������6��� 3	� ��� ���2����� ����
������C �� ������� �	����=�� �-��� 2��� �J� ��� �����2�� E�-�	���� �	-���� �-��� ��� ��
���
��������� ��	� ������� ��	���	�� ��
���� ���2��� ( �� &���C 
� �	� �� �������� ��� ������� ( 	�
���#�	� �������& 
������	�C �� � &������� &�
� ( 	� ���#�	� ����
�F� 0� �-�

	����
�C �-�2:�
��& �
�
����� ��	�=� �� #���B�� �� #������� ��� ���	�����C 
� �	� #� D��� &��� ���� �� ��2���	 �	�#��� '

?	���
�!� ?	�������
3��#�	� �������& 2,0.10−4 7,7.10−4

3��#�	� �	����=�� 
C� [ 
C� [

���� ��� I �������
� 	
�� 
�������� ��	�� 
� �
������ �������"�

�,�,�,� 7���� ��� �� ���3���� �� '����� ��	���

<�	� �#��� 	������ �
� 	� ������6� 
��������� !!��! ��
���	��C ���� ��#���� 
�/// ���	���
�	� �� &�������� �	 6	��� �-������ $�	� 	� ���2���� �� 
���� ������C ��� �������� 
������	��
�� ���� ��#���6��2��� �	-( �-���� �� 
��
	����	�� ���������� ����A ����������C �� ������"
� �	�
��	� ���
;�� �� �����
� �� 
�/ ?�� �
�C ��	� ������ ����	��� ����� ���2���� ��	� 	� ��	� ����
��
����� �� 	� ��	� ���� ��T��
�� �	� 	� ������ $*� *���� ��	#��� �	� ��� ���2����� ��
6����� ������C �� �� �-�2���
� �� ���
����������	�C �� ����
���� ���2���� #���� �� �� ��9
	���
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�	-����	#� �� ���#�	� �������& ( 
��#��6��� 3	� 
� 
��C 	� �����	 �� 
/ [ ��� ������� �� ��
����������C � [ �� �� ����������C �� � [ ����� 
// ����������� $�� 
�����	���C ���6�� 	� ����� ��
�������6� �	 
��
	� E���� 
������� ��� ��2��� �� �����2��6� ��� �����
��F ���� &��2��C �-�����2��
�� �� �����	���� ���	���� ���� �� + ��	����

?	��� !!��!
����� �� �������6� 
+�� �
����� ��� ��������� �
� �
������� #�#� �� ��
0���
� ����	� �C
 ?�

���� ��! I @��
� 
'
�
�� 
� ����
� ������ -��� � +== �JK/

7-�2:�
��& �
� ����� �� ��������� �� 
���
��� �� �� ������� �	����=�� ( ������� �� 6��� 
�� ��

��
	� ���� 
���� &���	������ �#�
 6	��� �-����� �D�� �	� ��� �������� �� ���#��� ����������
�� � � �#�������� 	�� 6����� ���6� �� ���6������� �	� �� ���
��������������C �� ���#�	�
�������&C ��� ����������� �	��� ��
���� ���2���C �� >�� ( ���
����� #����2��C ��
�

�������	��

<�	� �#��� �������� �-�������������� �� ����� ������� �	����=�� ������ ���� �� 
���
����6��� &���	������ �
�	����	� �� 0%�3� <�	� �#��� �	 ������ �� >�� �-	�� ���� �	� ���

��
	�� �-������
���� ����� 	� �2:�� E�#���	�������� ������F �� 	�� ���� ��
������C �-�	��� ����
�	� ��� 
�� 
��������� 	� 6	��� �-������ <�	� �#��� ����� ����
�� ����� >�� �-	�� ��	#����
&���	������ �
�	����	� ( 	�� 
���������C ����� �	� �� �� 
���
��� ( ������� ��� �����
�� ���"

������� 7��� ��� �����C ��	� �#��� �����	#� ��� �	������ �� #������ �� �� ���
����� �� 
� 
���
��:( 
��������� ���� �� 
�� ���
�����6�����	�� <�	� �#��� �6������� ���
����� ��� �D���
�����������C ����
��������� ���������� ( �-	���������� �� ���#�	�� �������&�� *�� ������� ��	�����
D��� ��#��� ��� �-	���������� �� ���#�	�� ��	� ������� ( �� >�� �� �� ���
����������	���
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<�	� ������ ��������� �� ��	#��	) 
����� �-�����
����� �� �� ��	#����� &���	������� �� ��
������� �	����=�� ������� >���������������C �� �-�6�� ��	:�	�� �� �� �D�� >�� ����� �	-����
� ��� ��������� ���
��������� <�	� �#��� #	 �	-���� ��	#��� �-������	�� �	) ��	������ ��
��)H��� ���� �� 
�� �-�2:��� ���&�������� 
���	
��	��C �	 ( �-��	����� �-@�������A ���� ��

�� �-�2:��� ��6���� �	 �������� <�	� ������ ���������� �)����� �-�	���� ���2����� ��	#���
D��� ������� ( �-���� �-	�� ������� �	����=���

�-	�� ����C ��	� ������ ��	� ���������� �	) ����"����������� �	� 6����������� �

��"
��6���� �� �����	���� ��� ��	������ �� ��)H��� ' ��� 
��
	�� �� 
����� ���
��� �� �� 
�����
���������� <�	� #������ �	� 
�� �������� &��� �	������� ������ �� �� >��C �� ��	#��� D���
�2���	� �#�
 	� �	�
�J� �����	� �	�� �-�	��� ����C ��	� ���������� �-����
��� ��� ���2�����
���
�����6�����	�� �����	�C �� �2������ �� 
�� ��� �������	) �����
����	�� �	�� ��� �2:���
������6���� 
������� �� ��	���	�� ��	�"�������� ����6����C ���&�������� 
���	
��	�� �	
�����
����	��C ����� �	� �� B���

7�� ������������� &����� �
� ���� ��	� �� ������ �	������ �������	��C �� �-��� ��� ��
���
��� �T�
��#����� ����� �� K	#��� 7� 2	� �-��� ��� �� ��������� �� ��	#��	) ��#�����������
��&�������	��C ���� �� ������� �	� �� ������� �	����=�� ��	� �-������	�� ���� �� ���2��	)

���
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1� �� ���
� ���� �� 
�� ������ �-	� �2:�� Ω ���&�������� 
���	
��	� ���
� ���� �� #���
�� ���	���� ��� 	�� ���� ������ 7� 
���� ���
�����6�����	� (�E, �H) �� 	� ����� y /∈ Ω ��� ��
����� �	 
���� ��
����� �� �	 
���� ������� ��� �� 
�	���� �	�&�
��	� �j ����� ��� Γ� 7�

��
	� �� 
� ������� �� &��� ( ������ �	 �������� �� �������������� ��� ��	������ �� ��)H��� '




�E(y) = iωµ0

(∫
Γ
G(|y − x|)�j(x)dx+

1
k2

�grady

∫
Γ
G(|y − x|)divΓ�j(x)dx

)
y ∈ �3 − Ω,

�H(y) = �roty

∫
Γ
G(|y − x|)�j(x)dx y ∈ �3 − Ω

E+�
F
�L

G(R) =
eikR

4πR
��� �� ���	���� ����������� �� �-��	����� �� @�������A �� ���

7� 2	� �� 
���� ��
���� ��� �� ���	#�� 	�� &���	������ �	����=�� ���������� �� 
��
	���
�� ������� ������ (�E, �H)�

<!�!� ,��
���
 �����
��


7� ����� y ∈ �3 −Ω ��� 	�� ������� �� ��� 
����� ��� �-	��������	�� 7� &��
���� �� 
�	����
�	�&�
��	� �j ��� 	�� �	��� ������ �	 ���2����� 0��� ���� �� ��	� ��	#��� ���	� �� �� �����	����
������2�� ��� ��	������ �� ��)H��� ��� &���	������ ����6����� 0��� ���������� ���
 ( �-����
�
�-�������� B��� �������� ( �� ��
���� 
�
��C �� �-�
��� '

�j(x) =
∑

1≤i≤ndl

λi�ϕi(x)

7�� 
����� ���
��� �E(y) �� �H(y) �� 
��
	���� �� �� ������� �	�#���� '




�E(y) = iωµ0

∑
1≤i≤ndl

λi

(∫
Γ
G(|y − x|)�ϕi(x)dx+

1
k2

�grady

∫
Γ
G(|y − x|)div�ϕi(x)dx

)
,

�H(y) =
∑

1≤i≤ndl

λi

(
�roty

∫
Γ
G(|y − x|)�ϕi(x)dx

)
E+��F

1� ���� �ei(y) �� �hi(y) ��� ������ ����� ����������� ���� E+��F '


�ei(y) =
∫

Γ
G(|y − x|)�ϕi(x)dx+

1
k2

�grady

∫
Γ
G(|y − x|)div�ϕi(x)dx,

�hi(y) = �roty

∫
Γ
G(|y − x|)�ϕi(x)dx

E+��F

7�� ����6����� �� E+��F �� 
��
	���� ���� ����������� 0� �T��C ��� &��
����� �ϕi ��� 	� �	�����
���	�� ( ��	) �����6���� 7��

∫
Γ ���� ����� 
��
	���� �� ������� ���� �	�����	�C ���� ��������	�C



"��� ������ ��
���� ��!

����� �� ������
� ����� �� ����� y �� �� �	����� �� �ϕi� 7�� 
����� ���
��� �-�2�������� �����
�� �
��#��� ' 


�E(y) = iωµ0

∑
1≤i≤ndl

λi�ei(y),

�H(y) =
∑

1≤i≤ndl

λi
�hi(y)

0� ������	�C �� �-�6�� �-	� ����	�� �
������ ����� �� #�
��	� (λi) ���	 �� �� �����	���� �� ��
&���	������ ����6����C �� ��� #�
��	�� (�ei(y)) �� (�hi(y))� % 
���	� ����� y 
��������� 	� 
�	���
�� #�
��	�� (�ei, �hi)� 3� �� ���� Npr �� ���2�� �� ������ y �L �-�� ��	����� 
��
	��� ��� 
�����
���
���C �� #��� �	� �� 
�J� �� �-�����2�� �	 
��
	� ��� �� O(ndlNpr)� <�	� ��#�������� ( ��
��
���� +�
���� �	� �-�����D� �-	������� 	�� &���	������ �	����=�� ��	� �� ���������� ��� 
�����
���
����

<!�!� ��2��
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�,�,�,� ��'��	���� ����	�)�� 8 �� �	$���

$�	� ������B��C �� #� ���� 	� ������� ����� 
���
��� 	� ��6������� �	����=�� ( 	� ��	�
��#��	 ��������� ( ����� 2������ 1� �� ���
� ���� �� 
��B6	������ ����������� B6	�� +�
� 7�
����� x �� ���	#� �	� ΓC ���� �� 
���	�� C 
������ �� M C �� ����� y �� ���	#� ���� �� ΩC ����
�� 
���	�� C′ 
������ �� M ′� 1� �	����� �	� C �� C′ �� ���� ��� #�������� 1� 
��
	�� �� 
����
��T��
�� ��� �� 
�	���� �j(x) �	 ����� y�

Ω

ΓC
M

C�
M�

y

���� +�
 I %��
�	��� 
� Γ 	
�� �� ������ 
� ����	 	�
���

1� � �� ��
���������� �	�#���� ��	� �� ����	 �� ?���� '

G(|y − x|) =
eik|y−x|

4π|y − x| =
ik

16π2

∫
�s∈S

eik�s. �xMT �MM ′(�s)eik�s. �M ′yd�s E+��F

���� 
���� &���	��C �� ���2�� �� �=��� L E��� �	-�� ������M� ���� E
��FF ��� B)� �� �����
��� '
�-�6����� E+��F �-��� #���� �	-( 	�� ����	� ε ����� �-����� E+�
FC �� 
�����2	���� �� �� 
���	�� C
�	 
���� ���
�����6�����	� (�E, �H) �� y �-�
��� 
���� ����� �� ����� ������� 1� ���� '

�E(y) = iωµ0

(
�E1(y) + �E2(y)

)



��/ ����	��� "� ������ ��	�	���	
�� �� �� ���

�� �� 
�����2	���� �� C �-�
��� �#�
 ��� ����� ������ �	�#���� '


�E1(y) =
∫

x∈Γ∩C
G(|y − x|)�j(x)dx,

�E2(y) =
1
k2

�grady

∫
x∈Γ∩C

G(|y − x|)div�j(x)dx,

�H(y) = �roty

∫
x∈Γ∩C

G(|y − x|)�j(x)dx

�,�,�,� ����	�� �����

0� 	�������� E+��FC �� ������� ����� ���� �-�)�������� �	 
���� �E(y)C�-�
��� '

�E1(y) =
∫

x∈Γ∩C
G(|y − x|)�j(x)dx

=
ik

16π2

∫
x∈Γ∩C

(∫
�s∈S

eik�s. �xMT �MM ′(�s)eik�s. �M ′yd�s

)
�j(x)dx

=
ik

16π2

∫
�s∈S

eik�s. �M ′yT �MM ′(�s)
(∫

x∈Γ∩C
eik�s. �xM�j(x)dx

)
d�s

1� �����	#� ��� ����� ������ 2��� 
���	�� �-	�� ������� �	����=�� ( 	� ��#��	 '

��	�	��	���	�� * �� 
��
	�� �� &��
���� �FC ��B��� �	� S ��� '

�FC(�s) =
∫

x∈Γ∩C
eik�s. �xM�j(x)dx

7�������� * �� �	������� �� &��
���� �FC ��� �� &��
���� �� �����&��� T �MM ′ �

���
'���	�� * �� ������� �� 
��
	� �� ����6���� �� ���	���� �	 �����&��� �	� S '

ik

16π2

∫
�s∈S

[
T �MM ′(�s) �FC(�s)

]
eik�s. �M ′yd�s

�,�,�,� 2����� �����

7� ��
��� ����� ������������ ���� �-�)�������� E+�
F �-�
��� '

�E2(y) =
1
k2

�grady

∫
x∈Γ∩C

G(|y − x|)div�j(x)dx

=
ik

16π2

1
k2

�grady

∫
x∈Γ∩C

(∫
�s∈S

eik�s. �xMT �MM ′(�s)eik�s. �M ′yd�s

)
div�j(x)dx

7� �grady �� �-������	� �	-�	 ����� eik�s. �M ′y �� ����� '

�gradye
ik�s. �M ′y = ik�seik�s. �M ′y

�-�	��� ����C �� &��� 	�� ����6������ ��� ������� �	� �� #����2�� x �	� �����&���� �� ��#��"
6��
� �� − �gradx �	� �� ����� eik�s. �xM � *���� ����6������ ��� ������ �� 6����� ��� �� ������ ��
2���C 
���� �)����	� ( �� ��
���� 
�������
� 1� �2����� '



"��� ������ ��
���� ��


�E2(y) =
ik

16π2

1
k2

∫
x∈Γ∩C

∫
�s∈S

(
− �gradxe

ik�s. �xM .�j(x)
)
T �MM ′(�s)

(
�gradye

ik�s. �M ′y
)
dxd�s

=
ik

16π2

1
k2

∫
x∈Γ∩C

∫
�s∈S

(
ik�seik�s. �xM .�j(x)

)
T �MM ′(�s)

(
ik�seik�s. �M ′y

)
dxd�s

= − ik

16π2

∫
�s∈S

eik�s. �M ′yT �MM ′(�s)
(∫

x∈Γ∩C
eik�s. �xM(�s.�j(x)�s)dx

)
d�s

*� ����� ��	� D��� ������ �� �D�� ����� �	� �� ���
�����C �� ������Q��� :	��� �� &��
����
�� ��������� �FC ��� '

�FC(�s) =
∫

x∈Γ∩C
eik�s. �xM(�j(x)− �s.�j(x)�s)dx E+��F

1� #��� �	� ��	�� �� 
��������� �� �j ���6���� ( S ����� 7-����� �-����6������ ����� ��"

���6���

�,�,�,� 7��	�	��� �����

7� ��������� ����� ��� �-�)�������� �	 
���� ��6�����	� �H� % �-���� �	 �������� �-��"
������C �� ��	� �
���� '

�H(y) = �roty

∫
x∈Γ∩C

G(|y − x|)�j(x)dx

=
ik

16π2
�roty

∫
x∈Γ∩C

(∫
�s∈S

eik�s. �xMT �MM ′(�s)eik�s. �M ′yd�s

)
�j(x)dx

7� �roty �� �-������	� �	-�	 #�
��	� eik�s. �M ′y�j(x)C �� �� ����� '

�roty

(
eik�s. �M ′y�j(x)

)
= eik�s. �M ′yik�s ∧�j(x)

�-�L �-�)�������� �� �H '

�H(y) =
ik

16π2

∫
�s∈S

∫
x∈Γ∩C

eik�s. �xMT �MM ′(�s) �roty(eik�s. �M ′y�j(x))dxd�s

=
ik

16π2

∫
�s∈S

∫
x∈Γ∩C

eik�s. �xMT �MM ′(�s)(eik�s. �M ′yik�s ∧�j(x))dxd�s

=
ik

16π2

∫
�s∈S

eik�s. �M ′yik�s ∧
[
T �MM ′(�s)

(∫
x∈Γ∩C

eik�s. �xM�j(x))dx
)]

d�s

1� ��	� ����� �
���� ��� ����� ������ �	 
��
	� �	����=�� '

��	�	��	���	�� * �� 
��
	�� �� &��
���� �FC ��B��� �	� S ��� '

�FC(�s) =
∫

x∈Γ∩C
eik�s. �xM�j(x)dx

7�������� * �� �	������� �� &��
���� �FC ��� �� &��
���� �� �����&��� T �MM ′ �
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���
'���	�� * �� ������� �� 
��
	� �� ����6���� �� ���	���� �	 �����&��� �	� S '

− k2

16π2

∫
�s∈S

�s ∧
[
T �MM ′(�s) �FC(�s)

]
eik�s. �M ′yd�s

 �����	��� �	� 6�.
� �	 ����� �s∧C �� 
��������� �� �j ����6�� ����� �s �-�����#���� ����
1� ��	� ���
 ���� 2��� 	������� �-����� �-�������������� E+��F�

�,�,�,� 25������

1� #� ���
 �������� �� ��B������ �� �� ��� ����"��#��	 ��	� �� 
��
	� �	 
���� ���
��
�� 	� ����� y /∈ Ω ���	� ���� �� 
���	�� C′�

��������	��� ������� * �� ����� �� ��#	� ��� 
���	��� C #������� �� C′ ��	� 
��
	��� ��
������� 
������	� �� ����� �-������
���� '



∑
C∈v(C′)

iωµ0

∫
x∈Γ∩C

(
G(|y − x|)�j(x) +

1
k2

�gradyG(|y − x|)div�j(x)
)
dx,

∑
C∈v(C′)

�roty

∫
x∈Γ∩C

G(|y − x|)�j(x)dx
E+��F

7� ���	���� �� 
�� ����6������� 
������	� �� ������ d���
��e �	 
���� ���
�����6�����	�
(�E(y), �H(y))� ���� �� 
�� >�� R ��2��	�� SC ��� ������
����� ���
��� ���� �������� #�� ���
������ ����	��� �����
�"#�
��	� ������ ���� ��� ���������� ���� ��� ���2��� �� ��6��� ��
��2���� 
�����	� ���� ��� ��	) 
���	��� C �� C′� �
�C ���� �� 
�� �-	�� >�� ��	� 
��
	���
��� 
����� ���
���C ��� ����6����� ������� �� E+��F ������ �������� �	�����	����� #��
��� ����	��� �
��������

��������	��� (�	���	��� * �� 
��
	� �� &��� �� ����� �������

I �������������� ' ��	� ��	�� 
���	�� CC �� 
��
	�� �� &��
���� �� ���������

�FC(�s) =
∫

x∈Γ∩C
eik�s. �xM (�j(x)− �s.�j(x)�s)dx

�� ��	� ����� �s �� ����� �	�����	�� �� S� �� &�	� ��	��6��� �	� 
���� &���	�� �-���"
����������� ��� �� �D�� �	� ��	� �� >�� ��������

I �����&��� ' C′ ����� B)��C �� ����� �� ��#	� ��� 
���	��� C ���"#������� �� C′ ��	�

��
	��� '

�GC′(�s) =
∑

C /∈v(C′)

T �MM ′(�s). �FC(�s)

I ����6������ ' �� 
��
	�� ��� ��	) ����6����� '


iωµ0
ik

16π2

∫
�s∈S

�GC′(�s)eik�s. �M ′yd�s,

− k2

16π2

∫
�s∈S

�s ∧ �GC′(�s)eik�s. �M ′yd�s

7� ���	���� �� 
�� ����6������� 
������	� �� ������ d���������e �	 
���� ���
�����"
6�����	� (�E(y), �H(y))C �� �� ��:�	�� ��	� ���	��������� ( �� ������ d���
��e�
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�
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�,�,�,�  �������	�� 8 ���/ ������

*���� �� �-� &��� ��	� �� &���	������ ����C �� ��	� �
���� 	�� ��� ( ��	) ������� 0�
�T��C �� 
��������� ���6�������� �� �j �	� �� ������ 	���� S ��	� �-�
���� '

�j(x)− (�j(x).�s)�s = (�j(x). �sθ)�sθ + (�j(x). �sφ) �sφ

*���� ���� �� 
�� �� �-���� �	����=��C �� �	9� �� &���� �	�#�� �-����� �-�������������� �-	�
�����6� �	) 
���������� �������	�� ���6��������� '{

(FC)θ(�s) = �FC(�s). �sθ(�s),
(FC)φ(�s) = �FC(�s). �sφ(�s)

1� &��� ���	��� ��� �����&���� �	� ��	) &��
����� �� ��������� �	 ���	 �� ������ 0�B�C �� &���
���
���� �-����� �-����6������ �-	� ����	� �	) 
���������� 
����������� (x,y,z) '

�GC′(�s) = (GC′)θ(�s). �sθ(�s) + (GC′)φ(�s). �sφ(�s)

*���� ������ ����B
����� ������ �� 6�6��� 	� &�
��	� ��#���� 30% �� ����� �-�)�
	"
����� ���� �� 
�� �-	�� >�� �	���"��#��	C �� &�	� ������ ( ����B�� ��� ���������� �� ���"
���4���
���� �� 
�����	��
� E
&� ��
���� 
���
����F�

�,�,�,� ��'��	���� ����	�)�� ����	6�	$���

7-�
���	�� �	���"��#��	 �� �-��6������� �	����=�� ������� �	 ����6����� ���
����� �� ��&"
&��� �	������� ��� �� 
���� &����� ( �� ��
���� 
������� 7�� ������ �� ������C ���
����C ��
�����&���� �	) ��T������ ��#��	) ���� �������	��� �� � � ��������� 	�� ��T����
� �� ������ ' ��
������ �� �� ���
���� �� &��� �	� ��	) ��2��� ��T�������

0� �T��C �� 
��
	� ��� &��
����� �� ��������� F �� &��� ��
	���#����� ���� 	� ��2�� 
�����	��
�	��	� �	 ������6� Γ E
���� ���� �� 
�� ��������C �� �����F� 7�� &��
����� G ���� ���������
( D��� ����6���� �	) ������ y �� 
��
	� �	 
���� ���
�� ��B��� ��� �-	��������	�C ����� ���#���
���
 D��� 
��
	���� ���� 	� ��2�� 2.�� �	� 
�� ������� 1� �����	#� �( 	� ����� ��:( �2����
���� �� 
�� �
�	����	� ' 	�� >�� 	�������� 	� ��2�� �� ������ �� 	� ��2�� �-����#�� ��T�������
*��� �-������	�� ��� �� ��9
	��� �����
	����� ��� ���� �	� �-�� � ���� ���� �� 
�����	��� 
��
��	) ��2��� ���� �� �D�� 6����� �� ( ������ �� �� �D�� 2�M�� R ��
��� S E�B� �� ������#�� ���
������� �� 
���	��� #������� ����� ��� ��	) ��2���F�

�,�,�,� ������	�� ���� �� ���$��� 	�
���	�

1� #���� �� #��� �	� ��	�� �-����� �-����6������ �� ��� 
��
	�� ��� ������
����� ���
��� ��&"
&����� ����� �� &���	������ �	����=�� 0>�0 �� �� &���	������ �	����=�� 
���� ���
��� 7��
������ �-��������������C �� ������C �� ���
���� �� �� �����&��� ���� ��� �D���� 1� ����� �����"
������� 	�� ���� ���������� �	 ����� �� 
��
	� E�� �-����� �� �/ ( !/ [F� $�� 
�����	���C �� ���
���	��� �-��#���6�� �� 
��
	��� �� ����	�� �����
�"#�
��	� �� ��� 
����� ���
��� ���	���������
#�� 	�� &���	������ �	����=�� ��)��� $�	� 
���C �� �	9���� �� 
���6�� �� ����� �-����6������
��	� �	-���� �	���� 6���� ( �� &��� �� ������ R ��	����� ����6���� S �� �� ������ R 
���� ���
�� S�
7-��2�� �� �� >�� ��#�� ���
 ����6��� ���� ��� &�	����� ��� ������ �L �-	��������	� ��	�����

��
	��� �� 
���� ���
���
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*� &������C 
� 	��� �������� ��� ����	� 	�
���� 1 ������ �������
� 
� �
����� ���� �� ����
L�
��������� ���� *��� �������� ��	) �����D�� ' �-	�� ����C �� ������� 	� 6��� �� ����� �� �����C
�	���	� �� ����"���������� �� 
��
	� �	 
���� ���
�� ��� ����6�� ( �� �����	���� �	 �������
��������� �-�	��� ����C �� 
� �D�� 
���� ���
�� ��� �� 2	� �	 
��
	� E
�(��� �� ��	� ���	����
����������� #�����2������ �-	��������	�FC �� ��	� 	������� 	� 
������ �� 
��#��6��
� ��� ��	� �	�
��� #���	�� ��� ��6��� �� ��2���� E���� ��� 
�	����� �	�&�
��	��F ���� ����
������ �	� ��� #���	��
��� 
����� ���
���C �	���	-�� ��� 
��
	�� ��������� ( 
���	� ���������� 7� 
��
	� ��� 
�����
���
��� ����� 	� �T�� R �������	� S �	� ��� #���	�� ��� 
�	�����C �� � � �� 6������ 
���
��
�	� �-�� �	���� �����	�� �� ���2�� �-���������� ���	����� 7� 
������ �-���D� ����� ( �����������

�,�,�,� ���
�:� �&���  !! ����� ������

<�	� ������ 
���� 
���� ��
���� 
����
��� �	 
��
	� ��� 
����� ���
�����6�����	�� ���
���
�� ��	��6���� �� 6��� �� ����� 
�����	��� �	� ���������� �-	���������� �� �� ������� �	����=��
�
�� 1� ���� ndl �� ���2�� �� ��6��� �� ��2����C Npr �� ���2�� �� ������ �� 
��
	� ��� 
�����
���
���C �� Nrhs �� ���2�� �� ��
���� ���2��� �	 ������� �� ��)H��� �������� 1� ��	�����

��
	��� ��� 
����� ���
��� �E �� �H ��	� 
��
	� ��� Nrhs 
�	����� �	�&�
��	�� �j(x) �� 
��
	�
��� Npr ������ y�

!
����� �����	��� * 1� 
��
	�� �� �����
� ��� 
��9
����� (�ei(y), �hi(y)) �� ��������� 6Npr×
ndlC �	�� �� &��� ��� 6Npr × Nrhs ����	��� �
������� �� 
���	� 
������ �� 
���� �����
�
��� 
���	� #�
��	� ���	����� 1� �2����� �� ���2�� �-���������� ����� '

nclassique = C1.Npr.ndl + C2.6.Npr.Nrhs.ndl

�#�
 C1 ≈ 100 E
��
	� �-	� ����� �� �����
�F �� C2 = 1 E����	�� �
������F�

!
����� ����	�)�� * $�	� 
���	� #�
��	� ���	����C �� &��� 	�� �)��������� 
������� ��
�-��2��� 3� �-�����2�� ��� ������ �� 
��
	� y 
������ �

	���� 	� #��	�� ��������� ( Ω
�	�"�D��C �� �� Npr ��� ��&����	� �	 �	 �D�� ����� �	� ndlC �� ����� �-����6������ �� 
�

��
	� �	�� 	� 
�J� ���
�� �� 
��	� �-	�� >�� 
������	�� 7� ���2�� ����� �-����������
���� ����� '

nfmm = C3.Nrhs.ndl. log(ndl)

�#�
 C3 ≈ 100 E�� �#��� ���	#� ��	� #���	� �����
��� C3 = 119 ( �� ��
���� 
��������F�

$��Q��� ��	� ���� 	� 
�� �)��D�� ' ndl = 106 ��
���	��C Nrhs = 100 
�	�����C Npr =
104 ������ �� 
���� ���
��� 1� �2����� �����
��#����� 7.1012 �� 1,64.1011 ����������C ����
R ��	������ S 	� &�
��	� �� �� 0� ������	�C 
� ���� 2��	
�	� ��	�C 
�� �� � �2���#� ��	�
�� >�� ��� 
�J�� ��&����	��C ���&��� �� O(ndl) E
&� ��
���� �����F� �� ��	�C �� �� ������ ��

��
	� ��� 
����� ���
��� ���� �� >�� 
������	�C �� �������� �� ���2�� �-���������� (
n′fmm = C4NrhsNpr �#�
 C4 ≈ 100C ��	� �� �����	��� �� ���2�� �-�����������

%����C �	���� �	� ���� �� ������� ���� ��� ���� �������C �� ��� ��	:�	�� �����2�� �� �������� ���

��
	�� �� 
����� ���
��� ( �-���� �� �� >���

�$ %
�* '�� ��" �� , >
 ����
 �� #��"�#� �����"�'�
 - ����������
�" ��?+ �� #�����
$$$
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*���� ���� �� ��
���� 
����
��� �	 
���� ���
��C �� 
�������� �� 
�� �-	� �2:�� Ω
���&�������� 
���	
��	� �� &�������� Γ ���
� ���� �� #���� 1� �-��������� 	���	����� �	)

����� ���� �� Ω� 1� &��� ����� �-��������� �	� �-�� ��� ( 	�� ������
� ��B��� �� 
��	�"
� ����
	�� ����
���� �ξ ∈ S ������ 	���� �� �3� 7-������	�� �� �-���� ���
�����6�����	� ��T��
���
���� 
���� ����
���� ��� ������ ��� '

�A(�ξ) = iωµ0

(∫
x∈Γ

e−ik�ξ. �Ox(�j(x)− �ξ.�j(x)�ξ)dx
)

�ξ ∈ S E+�+F

���� 
���� &���	��C O ��� 	� ����� �� ��&����
� ���#��� ( B)�� �-���6��� ��� ������C ��� 
���)
�-��U	� ��� �	� �� ���	�� �� �A(�ξ)� *���� �)�������� ��
�	�� ��� &���	��� �� ���������������
����6����� ( �-�)�����	� �� �-�2���
�� Ω E��	����� +�
F� 3� y ∈ �3 − Ω ��� ���� 6����C �� �
�-��	�#����� �	�#��� ��	� �� 
���� ���
����	� �E '

�E(y) =
eik|y|

4π|y|
�A(

y

|y|)
(

1 +O(
1
|y| )
)

7� 
���� ��6�����	� �-�� ���	�� �	���	� �� ����
���� ��� �����6����� �� �	� �� ������� ���
���	��� #�	� Z0 =

√
µ0/ε0 �-�������
� �	 #���� *-��� ��	��	�� �� �� �-��������� �� 6������

�	-( �-������	�� �	 
���� ���
����	��

<!�!� ,��
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0� ������	�C �� ����
���� �ξ ����� ������C �� #� 
��
	��� �-����6���� '

�a(�ξ) =
∫

x∈Γ
e−ik�ξ. �Ox�j(x)dx

1� ���	�� �A(�ξ) = iωµ0

(
�a(�ξ)− �ξ.�a(ξ)�ξ

)
� �A ��� �2���	 �� =���� �� �a �� ������ ����6�� �����

�ξC �	�� �� �	��������� ��� �� 
�������� iωµ0 = ikZ0�
$������ �-	� 
�	���� �	�&�
��	� �j(x) =

∑
1≤i≤ndl

λi�ϕi(x)C �� #�
��	� �a(�ξ) ��� �2���	 ��
&������ �� ����	�� �
������ �� (λi) ��� �� #�
��	� (�ai) ���� �� �"��� 
��������� #�	� '

�ai(�ξ) =
∫

x∈Γ
e−ik�ξ. �Ox�ϕi(x)dx

1� � ����� '
�a(�ξ) =

∑
1≤i≤ndl

λi�ai(�ξ)

1� #��� �	�C 
���� ���� �� 
�� �	 
���� ���
��C �� 
���� �������� ��� �2���	 ��� 	�
����	�� �
�������  �����	��� �	� �� #�
��	� �� �	������ ��	� �6������� ���#�� ��	� 
��
	���
�� ��
��� ���2�� �	 ������� 0>�0 E
�
F �	� #�	� '

i

kZ0

∫
Γ

�Einc(x).�jt(x)dx �#�
 �Einc(x) = eik �uinc. �Ox �� �jt = �ϕi E+��F

%	 �����6�C ������	��� �	� �� �� ���#���� ( �
���� 	� ��6������� �	����=�� ��	� 
��
	���
�� 
���� �������� E+�+FC �� ��	��� ���� ��	�� �	��� �-	������� ��	� 
��
	��� ��� ��
���� ���2���

���� E+��F E�#�
 ��	��&��� 	�� �9
�
��� ( ���������F�
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�,�,�,� (	�� �$�� ��� �����	��� �� ���	��	��

��9
��� �� �� ��� #��� 	�� ������2���
� ����� �� &���	�� �-�������������� �� �-��6�������

���� ���
�� �	����=�� �������� �
� '

�FC(�s) =
∫

x∈Γ∩C
eik�s. �xM(�j(x)− �s.�j(x)�s)dx

�� �-�)�������� �	 
���� �������� '

�A(�ξ) = iωµ0

(∫
x∈Γ

e−ik�ξ. �Ox(�j(x)− �ξ.�j(x)�ξ)dx
)

1� � ��:( #	 �	� ��� &��
����� �� ��������� �FC(�s) �������������� �-��U	��
� �	� �-�)�����	�
�� C ��� 
�	����� �j(x) ��	� x ∈ Γ∩C� 1� � �
� 	�� &���	������ ��	� ��6�	��	�� �� 
� 
��
��� '
iωµ0

�FC(�s) ��� �-������	�� �	 
���� �������� ��T��
�� ���� �� ����
���� �s ��� �� ������� �-�2:��
Γ ∩ C� 3� �� ����� ��	� 
���	�� C �� ��
��� �� �-�
���� E�	� 
������� ���
 ��	� ΓFC �� #��� �	�

�A(�ξ) = iωµ0
�FC(�ξ)

�� ������� ��	� ���6��� ��� ������ �� ����� M 
����� �� C� 7� 
K	� �� �-��6������� �	����=��

������	� 
��������� ( 
��
	��� ��� &��
����� �� ��������� �FC C �� #��� �	-�� �-� � ��� ���� (
����� ��	� 
��
	��� ��� 
����� ����������  ���� ( #��� 
������ &���� �� ������
������ �����
��� &��
����� �FC 
���	�� ��	������ �	� 	�� 6����� (θi,φj) �� ��� ������	��� �A(�ξ)�

�,�,�,� #	N
������ 
��	�����

*���� ��	� ��� 
����� ���
���C �� #��� �	� �� 
��
	� ��� 
����� ��������� �-	�� 
�������
������� &��� ������ ����6����� �� �-��6������� �	����=�� 
������	�� 1� #� ��	#��� ��������
��T������� �����
��� �	 ���2���� �� &��
���� �	 ��#��	 �-��2��
����� ��	����� ����� �� ���	��
>�� �� �� ���	�� 
���� ���������

�,�,�,�,� �������� ����  !! ,�� �������� �����2����� 
������� ( �� 
��
	��� ��� 
�����
��������� �	� ���� ��� ����
����� �ξ ∈ (θi,φj)� % 
���	� ��#��	 �� �-�
����C 
���� 6����� � ��� 
���"
��� �� ������� ( 
�����#�� E( 	�� ����	� ε ����F ��	�� �-��&�������� ���
����� �	� �� &��
���� ��
��������� �FC E( 
� �	:��C �� �������� �	) ��
����� 
����
���� �	) ���2����� �� ���
���������� ��
�� ������ 	���� 
���
���� �� 
��������F� 3� �-�� 
�������� �� ��
��� �� �-�
���� C(0) E��	�� 
���	��
�	 ��#��	 /FC �� &��
���� �� ��������� 
������� ��	�� �-��&�������� �	� �� 
���� ��T��
�� ����
�� C(0)� 1� ��	� ���
 �������� 	� ���	�� �� 
��
	� �	 
���� �������� �	����=��C �	� �� 
�����"
������ �� 
��
	��� �FC(0) ( ������ �-	�� ������2	���� �� 
�	���� �j(x)� *���� &��
���� ��	�����
���	��� D��� ��	#�6����� ���� ����
������C ��	� �� &���� �� ��� #���	�� �	� �� 6����� �FC(0)(θi,φj)C
���� ����� �����&����� ��#���� ��	� �� &���� �� ��� 
��9
����� Al,m 
��
	��� �#�
 E
���F� 1�
�	���� ����� '

�FC(0)(�s) =
∑

−l≤m≤l

0≤l≤L(0)/2

Al,mYl,m(�s)



"��� �����	�� �	������	���� ��+

�L L(0) ��� �� ���2�� �� �=��� �	 ��#��	 /C �� L(0)/2 ��� �� ���6�	� �� 2���� �� �FC(0) �

�$����'�� * �� ���� �	 ����� ������ ������C �	���	-�� �	9���� �� ������6�� �� 
��
	� ���
&��
����� �� ��������� �FC :	��	-�	 ��#��	 / �	 ���	 �� �-���D��� �	 ��#��	 R ���&��� S�
7� 
��
	� ������ ������C �	���	-�� �	������ ��#���� �� ������ �	 ����� �-	� ����	�� >��
������ E��� �-������
���� ���
��C �� ���
���� �� �-����6������F� *� 
��
	� ��	����� �D��
D��� ����6�� �	 ���#�	� �������& E��	� 
���� ��	� �� 
���� ���
��F� 0�B�C 
� ���� ��
&��
���������� ������������ �-	��������	� �� B)�� ��� ��� ��6	������ δθ �� δφ ���� �� 
��
�� 
��
	� ���� ��� &��D���� [θmin,θmax,δθ]× [φmin,φmax,δφ]� ,� 
���) ������� ������ &���
�	�������	����� ��� �� >���

�����$
�	���� * ��	� ��� �2:��� �� 6����� ������C �� 6����� (θi,φj) �	 ��#��	 / 
�������
��#���� 240d2 ������C �L d ��� �� �������� �� Ω �� ���2�� �� ���6	�	�� �-���� Ed > 100
��	� ��� ��	� 6����� 
��F � *��� ��	� ���
 ����������� ��� ��2���	) �� ��	���	�� ��������
�-��������C �( �L �-	��������	� ��	� ���� 2��� �-D��� ��������� �	� ��� �	���	�� ��������
�-����� �	)� 0� �	���C �� �����	������ �-	�� 	���	� &��
���� �� ��������� �FC(0) ��������
����
��� �� ���������������� 0�B�C �� �� ��#��	 ���&��� 
����� ��� ���� �� �� ��
���C 
����
�����
�� ��
������ �-�)������ ��� ��#��	) �� �-��2�� ����������� ���)�������

�,�,�,�,� �������� �53�	�� ,�� �	��� ���� �� K	#�� �����2�� 
������� ( 	������� ��
>�� ��	� 
��
	��� ��� 
����� ��������� ���� ��� ����
����� (ξk) ��	������� ��� �-	��������	�C
�� ��� ��� 	���	����� ���� ��� ����
����� �������� (θi,φj) ��� �� ������� �	����=��� 1� ��
���
� ( 	� ��#��	 d� $�	� 	�� &��
���� �� ��������� �FC(d) ������C �� �����6� �� �� 6����� (θi,φj)
�	 #�
��	� (ξk) �� &��� ( �-���� �-	�� ��� �������� �� ������ ��
����� �	) ��
����� 
���
�� ��
���� �� �	9�� ���	��� �� ������ ��� 
�����2	����� �� 
���	� 
���	�� C(d) ���������� �� 1 ��	�
�2����� �A(�ξ) '

�A(�ξ) = iωµ0

∑
C(d)

eikM (d)O �FC(d)(�ξ)

�� �	9���� ����� �� 
������ �� ��#��	 d ��	� ��������� �� ����� �-�)�
	����� $�� �������
( �� �������� �����
��C ��� �#����6�� �� ��� ��
��#������� ���� 6��2������� ��#������ 7� ����
�	 ����� ������ 	� ��	 ��	� 
������	�� �	���	-���� ��
���������� �� 
���� 	� ��	#��	 ����
�-��������� ��	� 
���� >��� $�	� 
� �	� ��� �� �� #������ �� 
��
	�C �� ��� ��9
��� �� ���#���
���	���� ��� ��	) �����
��� ���� �� ��	� ������� *��� �������� �	 ���2�� �� ����
����� ξC ��
�� &���� �� �-�2:��C �	 ��#��	 ���&���C �	 ��#��	 d 
�����C �� ���� ��	�� �-�	���� ����������
��
����

*�� �����	��% �	��
���	��
�
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	���

1� �-��������� ���������� �	 
�� �-	� �2:�� Ωi ��6	���� �� &�������� Γ 
������ �-	� ��"
�����	 �����
����	� �������� ���"�2���2��� 
���
������ ��� �� ��������#��� ���
����	� εi �� ��
������2����� ��6�����	� µi� εi �� µi ���� �����C �� 
�� 
�����)� ���� �#��	� ( �� ��
���� +�����
7� #������ �� �����6����� ��� ����� ���� 
� �����	 ��� ci = 1/

√
εiµiC ��	� ���6	�	� �-����

��� λi = ci/f Ef ����� 2��� �J� �� &���	��
�FC ��	� ���2�� �-���� ��� ki = 2π/λiC �� ����	 ��
?���� ����
�� ��� Gi(r) = eikir/4πr� 1� ���� Ωe �� 
������������� �� ΩiC �� εeC µeC ceC λeC keC
Ge ��� 6�����	�� �	� �-� �����
����� 1� ���� ν �� ������� �������� �	� Γ� Ω ��� ���	���� ���
	�� ���� ��
������ (�Einc, �Hinc)�
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�,�,�,� !	�� �� 
����	���

���� ΩeC �� ����� ��	� ��
���	�� ��� 
����� ��T��
���� 7�� ��	������ ���� '

(Pe)




�rot �Ee − iωµe
�He = 0,

�rot �He + iωεe �Ee = 0,

lim
r→+∞

r

∣∣∣∣√εe �Ee −
√
µe

�He ∧
�r

r

∣∣∣∣ = 0
dans Ωe E+�!F

���� ΩiC ��� ��
���	�� ���� ��� 
����� ����	) �� ��� ��	������ �-�
��#��� '

(Pi)

{
�rot �Ei − iωµi

�Hi = 0,
�rot �Hi + iωεi �Ei = 0

dans Ωi E+�
/F

$�	� �#��� ��� 
��������� �	 2���C �� �
��� �� 
�����	��� �	� Γ ��� ���
�� ���6��������� ���

����� �E �� �H ����	) ' {

�Ei ∧ �ν = ( �Ee + �Einc) ∧ �ν,
�Hi ∧ �ν = ( �He + �Hinc) ∧ �ν

sur Γ E+�

F

1� #� ������ �-�
���� 	�� &���	������ ����6���� �B� �� ����	��� �� ���2���� E+�!F]E+�
/F]E+�

F�
<�	� ������ �-�2��� ��������� 	� ���	���� &�����������

�,�,�,� 7�
����� �� ����
������	��

<�	� ��������� ���������� �
� �� �������� �� �������������� ����6���� ��� ���	����� ���
��	������ �� ��)H���� ,� �)���� 
������ ��	� D��� ���	#� ���� O�!P� ���� 	� ������� �����C
�� �� ���
� ���� 	� 
�� 6������C ����������� �	 ���2���� �����
����	� �������� �	����#����
<�	� #������ ��� �� �	��� 
������ &���� �� ������
�������

1� �� ����� Ω 	� �	#��� 2���� ��6	����C �� &�������� Γ� 1� ���� ν �� ������� �������� (
Ω� ε �� µ ���� ��� 
���
��������	�� ���
�����6�����	�� �	 �����	C �	� �-�� �	������� D��� ���
�D��� ( �-�������	� �� ( �-�)�����	� �� Ω� 3�	��6���� �	� 
� ���2���� ��� #���" ' �� �-� ���� ( #���
��	� �-������� �#�
 �� ���2���� ������	� ���������� �	� �� B6	�� +��� 7� ���	#�C ��� 
��9
�����
ε �� µ ���� �
� ��� �D��� ���� ��	� �-����
�C �� �� &�������� Γ ������ ��	) �������� 
������
�	 �D�� �������	 EYYF�

1� ���� (�E, �H) ��� ���	����� �	 ���2���� E+�
�F ���� ���� Ω �� ���� ��� 
�������������
�Ω�



"��� �����	�� �	������	���� ��!

dans Ω

{
�rot �Ei − iωµ �Hi = 0,
�rot �Hi + iωε �Ei = 0

dans �Ω




�rot �Ee − iωµ �He = 0,
�rot �He + iωε �Ee = 0,

lim
r→+∞

r

∣∣∣∣√ε �Ee −
√
µ �He ∧

�r

r

∣∣∣∣ = 0

E+�
�F

1� ���� �j �� �m ��� ��	�� ��� ���
�� ���6��������� ��� 
����� (�E, �H) ���	����� �� 
� ��������{
�j = �Hi ∧ �ν − �He ∧ �ν,
�m = �Ei ∧ �ν − �Ee ∧ �ν

sur Γ E+�
�F

%���� ��� 
����� �E(y) �� �H(y) ��	� ��	� y /∈ Γ �� ������������ ��	� �� &���� '


�E(y) = iωµ

∫
Γ
G(|y − x|)�j(x)dx+

i

ωε
�grady

∫
Γ
G(|y − x|)divΓ�j(x)dx,

+ �roty

∫
Γ
G(|y − x|)�m(x)dx

�H(y) = −iωε
∫

Γ
G(|y − x|)�m(x)dx− i

ωµ
�grady

∫
Γ
G(|y − x|)divΓ �m(x)dx,

+ �roty

∫
Γ
G(|y − x|)�j(x)dx

*� ���� 
�� &���	��� �	� ���#��� ( 
��
	��� ��� 
����� ���
��� �� ��������� ( ������ ���

�	����� �	�&�
��	��� $�	� y ∈ ΓC �� � ��� �����	�� ��� &���	��� �	�#����� �	� ������� ���
#���	�� �������	��� E����
��� −F �� �)�����	��� E����
��� +F ��� ���
�� ���6��������� �E ∧ �ν ��
�H ∧ �ν ' 



(�E ∧ �ν)±(y) = ∓ �m(y)
2

+
∫

Γ

�gradyG(|y − x|) ∧ �m(x)dx ∧ �ν(y)

+iωµ
∫

Γ
G(|y − x|)�j(x)dx ∧ �ν(y)

+
i

ωε

∫
Γ

�gradyG(|y − x|)divΓ�j(x)dx ∧ �ν(y),

( �H ∧ �ν)±(y) = ∓
�j(y)

2
+
∫

Γ

�gradyG(|y − x|) ∧�j(x)dx ∧ �ν(y)

−iωε
∫

Γ
G(|y − x|)�m(x)dx ∧ �ν(y)

− i

ωµ

∫
Γ

�gradyG(|y − x|)divΓ �m(x)dx ∧ �ν(y)

E+�
�F

$�	� ����6�� 	� ��	 ��� ���������C �� ��B��� ��� ��	) �������	�� �	�#���� '


�Rj(y) =
∫

Γ

�gradyG(|y − x|) ∧�j(x)dx,

�Sj(y) =
∫

Γ
G(|y − x|)�j(x) +

1
k2

�gradyG(|y − x|)divΓ�j(x)dx
E+�
�F

R �� S �-������	��� 2��� �J� ( �j 
���� ( �m� 7�� ���
�� ���6��������� E+�
�F �-�
��#��� �����
E�� ��������
� �� ��	� ��� ������ �� y ∈ Γ ��� �����
���F '



��/ ����	��� "� ������ ��	�	���	
�� �� �� ���




(�E ∧ �ν)± = ∓ �m
2

+ �Rm ∧ �ν + iωµ �Sj ∧ �ν,

( �H ∧ �ν)± = ∓
�j

2
+ �Rj ∧ �ν − iωε �Sm ∧ �ν

E+�
�F

�,�,�,�  �������	�� 	��
'����

$�	� �2����� 	�� ��	����� �	� ��� 
�	����� �j �� �mC ��	� ������ ������	�� ��	) &��� ��
�������� �� ���������������

�,�,�,�,� #��� �� ����	�� �/�
�	��� ���� ΩeC �� 
�������� �� ���2���� (Pe) E��	�����
E+�!FF �	� ��� 
����� ��T��
��� �Ediff �� �Hdiff � 1� 
������� ���� Ωi �#�
 �� ������� '

{
�rot �Ei − iωµe

�Hi = 0,
�rot �Hi + iωεe �Ei = 0

dans Ωi

�	� 	������ εe, µeC ��	� 
���� (Pe)� 1� ����� ��	� ���	���� �-������ �	 
���� ��
�����
(− �Einc, − �Hinc) E*���� ������ ��
������ ��B��� ���� Ωe #���B� &��
����� 
�� ��	������ ��
��)H���F� 7� ��B������ E+�
�F ��#���� '

{
�j = (− �Hinc) ∧ �ν − �Hdiff ∧ �ν = �ν ∧ �Htot,

�m = (− �Einc) ∧ �ν − �Ediff ∧ �ν = �ν ∧ �Etot
E+�
+F

1� � ����� �� ����� �-�
���� �� �������������� E+�
�F ��� ���
�� ���6��������� ���� Ωe E�#�
 ���
���������� εeC µeC �� ����	 GeC �� ��� �������	�� Re �� SeF�

�,�,�,�,� #��� �� ����	�� 	��
�	��� ���� ΩiC �� 
�������� �� ���2���� (Pi) E��	�����
E+�
/FF �	� ��� 
����� ����	) �Etot �� �Htot� 1� 
������� ���� Ωe �#�
 �� ������� '




�rot �Ee − iωµi
�He = 0,

�rot �He + iωεi �Ee = 0,

lim
r→+∞

r

∣∣∣∣√εi �Ee −
√
µi
�He ∧

�r

r

∣∣∣∣ = 0
dans Ωe

�	� 	������ εi, µiC ��	� 
���� (Pi)� 1� ����� ��	� ���	���� ��� 
����� �	��C ���	���� ���#�����
7� ��B������ E+�
�F ��#���� '

{
�j = ( �Htot) ∧ �ν −�0 ∧ �ν = −�ν ∧ �Htot,

�m = (�Etot) ∧ �ν −�0 ∧ �ν = −�ν ∧ �Etot

1� #��� �	� ��� 
�	����� 
���6��� �� ��6��� ��� ������� �	 
�� �)�����	�� 1� � ����� �� �����
�-�
���� �� �������������� E+�
�F ��� ���
�� ���6��������� ���� Ωi E�#�
 ��� ���������� εiC µiC ��
����	 GiC �� ��� �������	�� Ri �� SiF�



"��� �����	�� �	������	���� ��


�,�,�,�,� #��� ��� ���/ ����	��� 1� ���� �j �� �m ��� 
�	����� �	�&�
��	�� ���
����	��
�� ��6�����	�� ��B��� �� �� ������� �	�#���� '

{
�j = �ν ∧ �Htot,

�m = �ν ∧ �Etot
sur Γ E+�
�F

*���� ��B������ ��� ��6�����C 
�� ��� ���
�� ���6��������� ��� 
����� ����	) ���� 
�����	�� (
�� ���#����� �� Γ E
&� ��	����� E+�

FF� �� �-� � ���
 ��� �-��2�6	G�� �	� �� 
=�� ��� ���	�� ��
�����
�� Γ� $�� ������� �	) ��	) ��
����� ���
�������C �� #��� �	� �-�� � ������ �� ��B������
�� (�j,�m) �	 ���2���� �)�����	�� 1� ��#�� ���
 �
���� �� �������������� ��� ���
�� ���6���������
���� Ωi �#�
 −�j �� −�m�

$��
�������C ���� �� ������� �)�����	�C �� � '




( �Ee ∧ �ν) = − �m
2

+ �Rem ∧ �ν + iωµe
�Sej ∧ �ν,

( �He ∧ �ν) = −
�j

2
+ �Rej ∧ �ν − iωεe �Sem ∧ �ν

E+�
!F

���� �� ������� �������	�C 
����� ���	 �	 
���6����� �� ��6�� ��	��6�� E����6�� �	)
���2��� �� 6�	
��FC �� � '



−( �Ei ∧ �ν) = +

�m

2
+ �Rim ∧ �ν + iωµi

�Sij ∧ �ν,

−( �Hi ∧ �ν) = +
�j

2
+ �Rij ∧ �ν − iωεi �Sim ∧ �ν

*�� ��	) �������� �������� ���� ��	� ��� ��	) ��B��� �	� ΓC �� ��	� ���
 ��� ������� 0�
	�������� �� 
�������� �� 
�����	��� E+�

FC �� �2����� '

{
−(�Einc ∧ �ν) = ( �Rem+ �Rim) ∧ �ν + iω(µe

�Sej + µi
�Sij) ∧ �ν,

−( �Hinc ∧ �ν) = ( �Rej + �Rij) ∧ �ν − iω(εe �Sem+ εi �Sim) ∧ �ν

0� ������� 
��� �	� ��� &��
����� ���6����� (�jt,�mt)C �� ��	� =��� �� ∧�ν� 1� �2����� ��
&���	������ ����6���� ' ���	#�� (�j,�m) ���� ∀�jt �� ∀�mtC �� ��� '



−
∫

Γ

�Einc.�j
t =
∫

Γ
( �Rem+ �Rim).�jt + iω

∫
Γ
(µe

�Sej + µi
�Sij).�jt,

−
∫

Γ

�Hinc.�m
t =
∫

Γ
( �Rej + �Rij).�mt − iω

∫
Γ
(εe �Sem+ εi �Sim).�mt

$�	� ����6������� �� �������C �� 	������ ��� 
�	����� ��6�����	�� ���������� ����� '

�p =
�m

Z0
�#�
 Z0 =

√
µ0

ε0




1
Z0

∫
Γ

�Einc.�j
t = −

∫
Γ
( �Rep+ �Rip).�jt −

iω

Z0

∫
Γ
(µe

�Sej + µi
�Sij).�jt,∫

Γ

�Hinc.�p
t = −

∫
Γ
( �Rej + �Rij).�pt + iωZ0

∫
Γ
(εe �Sep+ εi �Sip).�pt

E+��/F



��� ����	��� "� ������ ��	�	���	
�� �� �� ���

3�	� 
���� &����C ��� ��	) ��	������ ���� ����6���� ' ��� 
�	����� �j �� �p �-�)������� ��
A.m−1� 0���� �)������� �� ����
��� �� ���
���� ��  	���� O��P ' 7� ���
���� �	 
���� �����
(�Etot, �Htot) �	� 	� �	��
���	� 
�	���� ���� (�jt,�mt) ��� �	���� *��� �-�
��� '

∫
Γ

(
�Etot(x).�jt(x) + �Htot(x).�mt(x)

)
dx = 0

�,�,�,�,� "�� �����	������ ���������� %#��� �� ������ ( �� �����	���� �	�����	� ��

�� ��	������C ��	� ������ ��#���� ���������� �	� �� 
�� �-	� �������	 ���&�������� 
���	
��	�
�� ������� 
������ 
� �	� ���
��� ������ �-�2�	��� �	) &���	������� 0>�0 �� �>�0 �� ��
��
���� 
�
�����

% �-�������	� �-	� �2:�� Ω ���&�������� 
���	
��	�C ��� 
����� ����	) �Etot �� �Htot ����
�	��� 3	� �� �	�&�
� Γ �� 
�� �2:��C ��	�� �� ���
� ���6�������� �	 
���� �Etot ��� 
�����	� E��
�	���F� %#�
 ��� ��B������� E+�
+F ��	� �j �� �mC �� ���	#� '

{
�m = 0,
�Ee ∧ �ν = − �Einc ∧ �ν

7�� ��	������ E+�
!F ��#������� '



−(�Einc ∧ �ν) = iωµe

�Sej ∧ �ν,

−( �Hinc ∧ �ν) = −
�j

2
+ �Rej ∧ �ν

�� 
�� ��	) ��	������C �� ���	�� ���� ���������� ��� &���	������� 0>�0 �� �>�0C ����
	�� ��	�� �	9� ( ����	��� �� ���2�����

<!�!� �������
�� �����
��


�,�,�,� #	���
�	���	��

1� 	������ ��� �D��� �������� B��� ��	� ��� 
�	����� �j �� �pC ( ��#��� 
�	) ��������� ����
�� 
�� ���&�������� 
���	
��	� 
�
��� 1� ���� �ϕk ��� &��
����� �� 2���� 1� ���� λk ��� U	) ��

�	���� ���
����	� �j ( ���#��� ��� ��D��� �	 ������6��C �� νk ��� U	) �� 
�	���� ��6�����	� �p
( ���#��� 
�� �D��� ��D���� 1� � ��� ��
����������� �	�#����� '



�j(x) =

∑
1≤k≤ndl

λk�ϕk(x),

�p(x) =
∑

1≤k≤ndl

νk�ϕk(x)
E+��
F

7� ���� ��	� &���� �����
����� ��� �2���	� �� �������� E+��
F ���� E+��/FC �� �� �������
��	� &��
���� ���� 
��
	�� ��� &��
����� �� 2��� �ϕj � 7� �����
� �2���	� ��� ��������	�� 7�
�����	���� �������#� �� 
� ���� �� ������� 
���	�� ( �� ����������� �� ����	�� �����
� #�
��	��
<�	� ������ #��� 
������ ��� �������� �� ������� ������ 6�.
� ( �� >���



"��� �����	�� �	������	���� ���

�,�,�,� ��'��	���� ����	�)��

�,�,�,�,� �������	�� 8 ��  !! 0���� ����� ��� 
�	����� �	�&�
��	�� �j �� �pC �� �����"
������ �-	� ����	�� �����
� #�
��	� ��#���� ( 
��
	��� ��� ��	) �	������� �	�#����� ∀�ϕk '


−
∫

Γ
( �Rep+ �Rip).�ϕk −

iω

Z0

∫
Γ
(µe

�Sej + µi
�Sij).�ϕk,

−
∫

Γ
( �Rej + �Rij).�ϕk + iωZ0

∫
Γ
(εe �Sep+ εi �Sip).�ϕk

E+���F

7� ������
� �� ��	) �����	) ��T������ &��� ������M��� ��	��� ��� 6�����	�� R �� ��	2�� S '
��	) ���2��� �-���� ke �� kiC ��	) ����	) �� ?���� Ge �� GiC ��
� 7� >�� ����� ���������	�"
���� ���� ( 
�� �������C �� ������� �� ��	� ���	����� �� �� ��	� ������ ��	� 
��
	��� E+���F ���
�� �������� ��	) ����	��� �	����=���C 	� ���� 
���	� �������� $�� �)�����C ���� �� �������
�)�����	�C �� 
��
	�� ∀�ϕk ' 


−
∫

Γ
( �Rep).�ϕk −

iω

Z0

∫
Γ
(µe

�Sej).�ϕk,

−
∫

Γ
( �Rej).�ϕk + iωZ0

∫
Γ
(εe �Sep).�ϕk

E+���F

��
����	�����C 
��� ������	� �� �����	��� ��	) ����	��� >�� �-���	���� �	� �� �D��
������6� E�� ΓF� *�
� ���C �#�
 ��� #���	�� �� kC GC c �� λ ��T�������C 
�� ��	) >�� �-�	����
��� �� �D�� ������ �� &�	����C ��� �� �D�� ���2�� �� ��#��	) ���� �-�
����C ��� �� �D��
�����
� �-������
����� ���
���C ��� ��� �D��� �����
�� �� �����&��� �� �� �����������C ��
�
%	������� ���C �D�� �� �������� �	� �� �D�� ������6�C 
�� ��	) >�� ������ ����������
��T��������

$�	� �� �	��� �� 
���� ��
����C ��	� ������ �	������� ��� ����
�� R e S �� R i S �B� ��
������B�� ��� &���	���� �� &�	� 2��� �J� 6����� ( �-������ �	� �� ��	���� ��� 
��������� 	��������
��������� ��������� �	 �����	 
���������

�,�,�,�,� 9��$����� ��������	���  �������� ��� �)��������� E+�
�F ��� �������	�� R ��
S� 1� ��	����� ���
 
��
	��� ��� ��	) ������ �	�#���� '



−
∫

Γ×Γ
( �gradyG(|y − x|) ∧ �p(x)).�ϕk(y)dxdy

− iωµ
Z0

∫
Γ×Γ

G(|y − x|)
[
�j(x).�ϕk(y)− 1

k2
divΓ�j(x)divΓ�ϕk(y)

]
dxdy,

−
∫

Γ×Γ
( �gradyG(|y − x|) ∧�j(x)).�ϕk(y)dxdy

+iωεZ0

∫
Γ×Γ

G(|y − x|)
[
�p(x).�ϕk(y)− 1

k2
divΓ�p(x)divΓ�ϕk(y)

]
dxdy

3��� �	������C �� �����	#� ��� 
����� ��:( #	�� ���� �� �-�
���	�� �� �-��6������� �	����=��
�� 0>�0 �� �� �>�0 E
&� 
����F� 1� �� ���
� ���
 ���� �� 
����)�� ��2��	�� ' �� 
��� 	� �
����
�	��	� �� Γ ���� ���	�� �� ������2	� ��	��� ��� ��
���	�� E���
����	�� �� ��6�����	��F� 7��
������
����� ����� &�	����� ���
��� ���� �������� 
������	������ 1� 
���
�� ( 
��
	��� �� �����
�-������
���� ����� ��	) &�	����� ���������� C �� C′C 
������� �� M �� M ′� 3����� ��	) ������
x ∈ C �� y ∈ C′� 1� ��
������ �� ����	 �� ?���� �#�
 E
��F '

G(|y − x|) =
ik

16π2
lim

L→+∞

∫
�s∈S

eik�s. �xMTL
�MM ′(�s)e

ik�s. �M ′yd�s



��� ����	��� "� ������ ��	�	���	
�� �� �� ���

0� ������	�C �� ���2�� �� �=��� L ��� B)� �� &��
���� �� �� ���
����� #�	�	� �� �� �� ������
��� 
���	��� �	 ��#��	 �� �-�
���� 
��
����C �� ����� R limL→+∞ S ��	� ���
 D��� =���

7� �����
∫
Γ∩C×Γ∩C′ G(|y − x|)

[
�j.�ϕk − 1/k2divΓ�jdivΓ�ϕk

]
� ��:( ��� ���
����� ���� �� 
��

0>�0C �� � �� &���	������ >�� ( ����� 
���������� �	�#����� '

��	�	��	���	�� * �� 
��
	�� �� &��
���� �� ���������

�FC(�s) =
∫

x∈Γ∩C
eik�s. �xM(�j(x)− (�s.�j(x))�s)dx E+���F

���
'���	�� * ��	� ��	�� &��
���� �� 2��� �ϕk ��
������ ���� C′C �� ����6�� '

ik

16π2

∫
y∈Γ∩C′

∫
�s∈S

eik�s. �M ′y �GC′(�s). �ϕk(y)d�sdy

7�� �������C �����&����C �� ���
����� ������� ��
���6��� 1� ���� �	-�� �)���� �6������� 	��
&���	������ �	����=�� ( ��	) 
���������� ��	� 
� 
��
	��

 �6������ ���������� �-�	��� ����� �� �j '
∫
Γ∩C×Γ∩C′( �gradyG(|y − x|) ∧�j(x)).�ϕk(y)dxdy�

1� ��	� �� ���
���� ��	� �� &���� '∫
Γ∩C×Γ∩C′

(�ϕk(y) ∧ �gradyG(|y − x|)).�j(x))dxdy E+���F

1� � ����� �� ��
���������� �	�#���� ��	� �� 6������� �� G '

�gradyG(|y − x|) =
ik

16π2

∫
�s∈S

eik�s. �xMTL
�MM ′(�s) ik�s e

ik�s. �M ′yd�s E+���F

0� �������� E+���F ���� E+���FC �� �2����� �� &���	������ >�� �	�#���� '

��	�	��	���	�� * �� 
��
	�� �� &��
���� �� ���������

�FC(�s) =
∫

x∈Γ∩C
eik�s. �xM�j(x)dx E+��+F

���
'���	�� * ��	� ��	�� &��
���� �� 2��� �ϕk ��
������ ���� C′C �� ����6�� '

ik

16π2

∫
y∈Γ∩C′

∫
�s∈S

eik�s. �M ′yik �GC′(�s).( �ϕk(y) ∧ �s)d�sdy

7� ������
� �	 R ∧�s S ������	� �	� �� 
��������� ��� &��
����� �� ��������� ����6�� �����
�s �� ��	� ��������� ��� E
���� ���� �� 
�� �� �� �>�0C 
&� 
�����
��F� 1� ��	� ���
 ������
��
�-����� �-�������������� E+��+F ��� E+���F� 0�B�C �� � �
��� ��� ��	������ ��	� ��� ������ �� �jC
�� &�	� &���� �� �D�� ��	� ��� ������ �� �p� 1� �2����� ����� �-��6������� �	�#��� '

��	�	��	���	�� * �� 
��
	�� ��� ��	) &��
����� �� ��������� '


�F j
C(�s) =

∫
x∈Γ∩C

eik�s. �xM(�j(x)− (�s.�j(x))�s)dx,

�Fp
C (�s) =

∫
x∈Γ∩C

eik�s. �xM (�p(x)− (�s.�p(x))�s)dx
E+���F



"��� 
�$��� �����
#
��� ���

���
'���	�� * ��	� ��	�� &��
���� �� 2��� �ϕk ��
������ ���� C′C �� ����6�� '


ik

16π2

∫
y∈Γ∩C′

∫
�s∈S

eik�s. �M ′y
[
−ik �Gp

C′(�s).( �ϕk(y) ∧ �s)− iωµ

Z0

�Gj
C′(�s). �ϕk(y)

]
d�sdy,

ik

16π2

∫
y∈Γ∩C′

∫
�s∈S

eik�s. �M ′y
[
−ik �Gj

C′(�s).( �ϕk(y) ∧ �s) + iωεZ0
�Gp
C′(�s). �ϕk(y)

]
d�sdy

���� �� �������� �� 
�� ��	) ����6�����C �ϕk �6�� �� ���� �	� &��
���� ���� �jtC �� �� ����
�	� �pt ���� �� ��
����� 1� �2����� ����� 	�� &���	������ �	����=�� ( � ������C �	� ��	� D���
�����&����� �� &���	������ ( �	���� ������ 6�.
� ( �� ������� �� �� ��
���� 
�����
��C �	�
�-������	� �
� �	) &��
����� �� ��������� j �� p ����������� �� 
��#���� :	���C ���� 
� 
��C ��
������ ( �:	���� ��� ���������� �� ������4���
���� �� 
�����	��
� E
&� ��
���� 
���
����F�

 �����	��� �	� ��� ��	) ��	������ �� �-����� �-����6������ ��	#��� �-�
���� '




ik

16π2

∫
y∈Γ∩C′

∫
�s∈S

eik�s. �M ′y(− iωµ
Z0

)
[
�Gj
C′(�s) +

Z0

cµ
�s ∧ �Gp

C′(�s)
]
. �ϕk(y)d�sdy,

ik

16π2

∫
y∈Γ∩C′

∫
�s∈S

eik�s. �M ′y(−ik)
[
�Gj
C′(�s) +

ωεZ0

k
�s ∧ �Gp

C′(�s)
]
.( �ϕk(y) ∧ �s)d�sdy

7� ����� ����� 
��
���� ��� �� �D�� ���� 
�� ��	) ��	������� 1� ��	� ���
 &���� �� ����	��
�	����=�� 
������ �#�
 	�� ��	�� &��
���� �� ��������� ��B��� ( ������ �� +��� ��� '

�FC(�s) = �F j
C(�s) +

Z0

cµ
�s ∧ �Fp

C (�s)

1� �2����� ����� 	� ��6������� �	����=�� ( ��	������ ��	) ������ ���� ��� ������ ���������
�� B����� �-�
��#��� '

��	�	��	���	�� * �� 
��
	�� �� &��
���� �� ��������� '

�FC(�s) =
∫

x∈Γ∩C
eik�s. �xM

[
(�j(x)− (�s.�j(x))�s) +

Z0

cµ
�s ∧ �p(x)

]
dx

7� R �p(x)− (�s.�p(x))�s S ��� ����#��	 	� R �p(x) S 
�� �� ����	�� #�
������ ��� �s ����#�
�	�������	����� �� 
��������� �� �p(x) 
��������� ( �s�

���
'���	�� * ��	� ��	�� &��
���� �� 2��� �ϕk ��
������ ���� C′C �� ����6�� '


ik

16π2

∫
y∈Γ∩C′

∫
�s∈S

eik�s. �M ′y(− iωµ
Z0

) �GC′(�s). �ϕk(y)d�sdy,

ik

16π2

∫
y∈Γ∩C′

∫
�s∈S

eik�s. �M ′y(−ik) �GC′(�s).( �ϕk(y) ∧ �s)d�sdy

*�! #)/
�� ������.&�
�

1� #� ���������� ��	���� �� 
�� �-�2:��� ������6����C 
������� �� ��	���	�� �������	)
�����
����	�� �	 ���&�������� 
���	
��	��� <�	� ������ #��� 
������ 
� 6���� �� ���2����
��	� D��� 6��� �� &���	������ 
������	� �	�� �	����=��� �� �-�6�� ���
 �� 6���������� 
� �	� #����
�-D��� #	 ���� �� 
�� �� ��	) �����	) E	� �2:�� Ω ���� �� #���F�
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7-�2���
�� ΩC �� &���� �	��
���	�C ��� 
������ �� ��	���	�� �������� #��	���	�� 
����)��
Ωk 
������	�� 
��
	� �-	� �������	 ����6��� ���� �����
����	� E�� 
���
��������	�� εk �� µkF
���� ���&�������� 
���	
��	� E���� ��
�F� 1� ���� D �� ���2�� �� ��	�"��������C �-����
� k
#������ �� 1 ( D� ��	) ��	�"�������� ���:����� ��	#��� D��� 
������� �	 �D�� �������	�
*�� �2:�� ��� ���
� ���� 	� �����	 �	�"�D�� �����
����	� Ω0 C ���� �� ������ ε0 �� µ0 ���

���������� ���� 
���	� ������� E���� ���&�������� 
���	
��	�FC �� ��B��� �� 
������� ���
����� ck = 1/

√
εkµkC �� ���6	�	� �-���� λk = ck/f C �� ���2�� �-���� kk = 2π/λkC �� ����	

�� ?���� Gk(r) = eikkr/4πr� ��	��� ��� �	�&�
�� �� ���
�����	��� �	 �������	 ���� ���������
*���� �2���
�� ��� ��	��� ( 	�� �)
������� �� &���	��
� f �	� ��	� D��� 	�� ���� ��
������

E����� �	 �������	�FC 	�� ��	�
� �� �������C �	 ��	�� 
��2������� �������� �� 
�����"
��

incΗ,Ε inc

Ω1

Ω2
,2ε 2µ

,1ε 1µ

Ω0

,0ε 0µ

Ω4
,4ε 4µ Ω5 ,5ε 5µ

Ω3
p.c.

���� +�� I  �� 
� 	�������� ��������3

<!$!� �
�
 
� �����
���

1� #� ������	�� �� �������� �� �������������� 	�� &��� ��	� 
���	� ������� �����
����	�C
�	�� ������ ��	��� ��� 
�����2	����� ����� �
������

�,�,�,� #��� �� ����	��

���� �� ������� Ωk �����
����	�C �� ���2���� E����F �	� �-�� 
���
�� ( ����	��� �-�
��� '

(Pk)




�rot �Ediff − iωµk
�Hdiff = 0,

�rot �Hdiff + iωεk �Ediff = 0,

lim
r→+∞

r

∣∣∣∣√εk �Ediff −
√
µk
�Hdiff ∧

�r

r

∣∣∣∣ = 0
dans Ωk

7� 
�������� ( �-��B��C ���� 
�������� �� ��������� �� 3��#��"�	����C �-� 2��� �J� �� ���� �	�
�� Ωk ��� ��� 2���� E���� �� 
�� 
��������C 
���� 
�������� �-������	��� �	 ���2���� (P ′

k) �	�
�	��F� 7�� ��
���	�� ���� ��� 
����� ��T��
��� ��� ��� 
�	����� �j �� �m ������ ��� �� &��������
&����� �� 
� ������� ∂Ωk� 7� 
���� ����� (�Etot, �Htot) ( �-�������	� �� Ωk ��� �� ����� �	

���� ��
����� (�Einc, �Hinc) �J �	) ��	�
�� �#���	����� �-�)
������� 
�����	�� ���� 
� �������C
�� �	 
���� ��T��
�� (�Ediff , �Hdiff )



"��� 
�$��� �����
#
��� ��+

$�	� ������	�� �� �������� �� �������������� ���� ΩkC �� 
������� 
� ���2���� (Pk) ���
	� ���2���� B
��& (P ′

k) ���� ���� �� 
������������� �� Ωk '

(P ′
k)




�rot �E − iωµk
�H = 0,

�rot �H + iωεk �E = 0,

lim
r→+∞

r

∣∣∣∣√εk �E −√µk
�H ∧ �r

r

∣∣∣∣ = 0
dans �Ωk

$�	� ���	���� �� (P ′
k)C �� ����� �-������ ��� 
����� ��
������ (− �Einc, − �Hinc) E�J� �	)

��	�
�� �-�)
������� 
�����	�� ���� ΩkF� 1� ���� ν �� ������� ��������C Ωk ���� ����� 
��������

���� ����� �� ������� �������	�� 7�� ��	�� ��� ���
�� ���6��������� �-�
��#��� '{

�j = ( �Hdiff ) ∧ �ν − (− �Hinc) ∧ �ν = �Htot ∧ �ν,
�m = (�Ediff ) ∧ �ν − (− �Einc) ∧ �ν = �Etot ∧ �ν

E+��!F

1� 	������ ����� �-�)�������� E+�
�F ��	� �2����� '


(�Ediff ∧ �ν)k = +
�m

2
+ �Rkm ∧ �ν + iωµk

�Skj ∧ �ν,

( �Hdiff ∧ �ν)k = +
�j

2
+ �Rkj ∧ �ν − iωεk �Skm ∧ �ν

E+��/F

���� 	� ������� ���&�������� 
���	
��	�C ��	� ��� 
����� ���� �	��C �� ���� �� ��	� 
���
�� �-������	��

�,�,�,� � �&	�������� ����� ���/ ����	���

1� �� ���
� �� 	� ����� y ���	� �	� �� &�������� ����� ��	) �������� Ωk �� Ωj ��	� ��	)
�����
����	��� 1� �	����� �� ������� ν �������� �� Ωk #��� Ωj E
&� B6	�� +��F� ���� ΩkC ��
������� ν ��� ��������C �� &���	�� E+��/F ��	� �-�
���� ����� �	����� ���� Ωj ��� 
�����C ��
������� �������� ��� −νC ��� 
�	����� ���� ���
 −�j �� −�mC �� E+��/F ��#���� '


−(�Ediff ∧ �ν)j = − �m

2
+ �Rjm ∧ �ν + iωµj

�Sjj ∧ �ν,

−( �Hdiff ∧ �ν)j = −
�j

2
+ �Rjj ∧ �ν − iωεj �Sjm ∧ �ν

E+��
F

1� ����� E+��/F �� E+��
F� 7�� ���
�� ���6��������� ��� 
����� ����	) ����� 
�����	��C ��
��	� ��� 
����� ��T��
��� ��� �-������ �	 ��	� ��� 
����� ��
������� 1� �2����� �� ������� '


(�Einc ∧ �ν)j − (�Einc ∧ �ν)k =

(
�Rjm+ �Rkm+ iωµj

�Sjj + iωµk
�Skj
)
∧ �ν,

( �Hinc ∧ �ν)j − ( �Hinc ∧ �ν)k =
(
�Rjj + �Rkj − iωεj �Sjm− iωεk �Skm

)
∧ �ν

*���� ��	����� ��� #���2�� �� ��	� ����� y ∈ ∂Ωk ∩ ∂Ωj� 1� ���� Γkj = ∂Ωk ∩ ∂Ωj � 3� ��
����� ��� ��� &��
����� ���6����� (�jt,�mt)C �� ��	� �	������� �� ����	�� #�
������ ��� ν� 1�
�2����� '




∫
y∈Γkj

(
�Rjm+ �Rkm+ iωµj

�Sjj + iωµk
�Skj
)
.�jtdy =

∫
y∈Γkj

(
(�Einc)j − (�Einc)k

)
.�jtdy,∫

y∈Γkj

(
�Rjj + �Rkj − iωεj �Sjm− iωεk �Skm

)
.�mtdy =

∫
y∈Γkj

(
( �Hinc)j − ( �Hinc)k

)
.�mtdy

E+���F



��� ����	��� "� ������ ��	�	���	
�� �� �� ���

1� � 
����� �� ����� (�Einc)j �� 
���� 
��� ��� ��� ��	�
�� �-�)
������� 
�����	�� ����
Ωj� %����C ��� ���2��� �� ������ ���� ��� ������� �	 ���2����� �� �� &�	� ��� ������ �� #	�
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&� B6	�� +��F� 3� �� 
���6� �� ���� �� ��
�������C �� 
���6� �� ��6�� �	 ��
��� ���2��� 0� �����#��� ����� �������C �� ���	#��� ���
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∫
y∈Γkj

iωµj
�Sjj.�j
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∫
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(�Einc)j .�jtdy
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�2����� '




∑
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∫
y∈∂Ωk
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iωµk

Z0

�Skj
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.�jtdy =

1
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∑
0≤k≤D

∫
y∈∂Ωk
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−ν.νk(�Einc)k
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∫
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�Skp
)
.�ptdy =
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−ν.νk( �Hinc)k
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.�ptdy
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������ �� �	���� �����	) Ω0 ( Ω3C ������� ��� ��� �����&�
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7�� �����&�
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� ������ ��	� ����������
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∫
y∈∂Ωk

(
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iωµk
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�Skj

)
.�jtdy,∫

y∈∂Ωk
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�Rkj − iωεkZ0
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 �	���� >�� E����� �-�� �
� 	� 
���	
��	� ���&���FC �� 
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�����6�����	�� ε �� µ ���� 
�����)��C �� ���2�� �-���� k = ω

√
εµ �-�
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k = kr + iki �#�
 ki > 0 E��	� 
�� ������	����� �

����2��F� 7� ����	 �� ?���� ��#���� '

Gk(r) =
eikr
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= e−kir

eikrr
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��������� ���	������� �� �� &��
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�� �	�����	��� ( s/kiC 
� �	� 
���	�� ( ���&����� �� 
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I(l) �-��������� �	 
�	���� �	 ����� �-�2�
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I(l)�τ (l)
2πrf

���� �� &���	������ 0>�0C �� ��	����� �����&����� �-����6���� �	� �� �	�&�
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x∈Γ∩C
eik�s. �xM�j(x)dx E+���F
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���������� �� ��� ��#�����
$�	� ��	�� &�	���� C′ �� 
����� M ′C �-����6������ 
������� ( 
��
	��� �� ����� '

ik
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∫
y∈Γ∩C′

∫
�s∈S

eik�s. �M ′y �ϕj(y). �GC′(�s)d�sdy E+���F

<�	� ������ ��6����� 
������ �-�����)������� ��� B�� ���
�� ����B� 
�� ��	�������

Γs

Γf

L

���� +�� I  �� 
'��� ��������� �
�	
����� �� #�

$�	� 
� &����C 
��&�������� ( �� B6	�� +��C �� ���� Γf �� �	�&�
� ��� ���	
�	��� B������C
�� Γs �� ����� �� ΓC 
-���"("���� �� ������ #�����2������ �	�&�
��	�� 1� ���� L �-�)� ��� B���
7� 2	� �� �-�����)������� ��� B�� ���
�� ��� �� ������ �-	�� ����6������ �	� Γ = Γf ∪ Γs (
	�� ����6������ ������B�� �	� L∪Γs� ���� ��� ��	) &���	��� E+���F �� E+���FC �� #� ������ ��

=�� �-����6������ �	� Γs ∩ C I �	� #� ������ ��
���6�� I ��	� �� 
�����#�� �	� �-����6���� �	�
�� �	�&�
� �	 B� Γf ∩ C�

1� ���� l �-�2�
���� 
	�#���6�� �	� LC �� S(l) �� ��������� �� �� ��
���� ������ �	 B� (
�-�2�
���� l E
&� B6	�� +�+F� *���� ��
���� ��� 
��
	����� E��� ���������FC �� 
����� O(l)C ��
����� rf (l) E
������� �� ���6 �-	� B�C ���� ��	#��� #����� �-	� B� ( �-�	���F� 7� 
�	���� �j �	�
�� B� �� ������ �	� �� l� 7-�������������� ��#���� ����� '

�FC(�s) =
∫

l∈L∩C

∫
x∈S(l)

eik�s. �xM�j(l)dldx

0� ��
�������� �xM = �xO(l) + �O(l)M C �� �2����� '

�FC(�s) =
∫

l∈L∩C

[∫
x∈S(l)

eik�s. �xO(l)dx

]
eik�s. �O(l)M�j(l)dl E+���F
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O(l)

L

x
S(l)

τ

r(l)

���� +�+ I 0����
� 
'�� #�

$�	� 
��
	��� �-����6���� ����� 
��
���C �� �� ���
� ���� �� ���� �	 ����	� S(l)� ���� 
�
����C �� ����� 	� ������ �-���6��� O(l)� 7� ����� x � ��	� 
���������� (rf (l) cos θ,rf (l) sin θ,0)
�#�
 θ ∈ [0,2π]� 1� ���� (sx,sy,sz) ��� 
���������� �� �s ���� 
� ��	#��	 ������� 1� &��� 	�
��#���������� ������ ( �-����� � �� krf (l) �� 
���� ����6���� E��	� ����6�� ��� �
���	���C �� #�
���#���������� =��� ��� ��������
�� ��� ������ �� lF '∫

x∈S(l)
eik�s. �xOdx =

∫ 2π

θ=0
e−ikrf (sx cos θ+sy sin θ)rfdθ

=
∫ 2π

θ=0

[
4∑

n=0

(−ikrf (sx cos θ + sy sin θ))n

n!
+ o(k4r4f )

]
rfdθ

E+��+F

7-����6���� �� �� ��6�� ����� ��	#��� ����	���C �� #��� ������M��� ��� �	������� �	�#����� '


∫ 2π

θ=0
(sx cos θ + sy sin θ)ndθ = 0 ∀n ������,∫ 2π

θ=0
(sx cos θ + sy sin θ)0dθ = 2π,∫ 2π

θ=0
(sx cos θ + sy sin θ)2dθ = π(s2x + s2y),∫ 2π

θ=0
(sx cos θ + sy sin θ)4dθ =

3π
4

(s2x + s2y)
2,∫ 2π

θ=0
(sx cos θ + sy sin θ)6dθ =

5π
8

(s2x + s2y)
3,

E+��+F ��#���� '

∫
x∈S(l)

eik�s. �xOdx = 2πrf −
k2r3f

2
π(s2x + s2y) +

k4r5f
32

π(s2x + s2y)
2 + rfo(k4r4f ) E+���F

1� �� 
����M� ��� sx �� syC �� ��#��
�� �� ���� �	� sz = ±�s.�τ E�L �τ ��� �� #�
��	� ���6���
( �-�)� �	 B�C ���
 ������ ( �� ��
����F� 7� #�
��	� �s ����� 	�������C �� � s2x + s2y = 1− s2z =
1− (�s.�τ)2� 1� 	������ E+���F �� �-��	����� �j(l) = I(l)�τ(l)/2πrf ���� E+���F '
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�FC(�s) =
∫

l∈L∩C

[
1−

k2r2f
4

(1− (�s.�τ)2) +
k4r4f
64

(1− (�s.�τ)2)2 + o(k4r4f )

]
eik�s. �O(l)MI(l)�τ (l)dl

%#�
 k = 2π/λ �� rf < λ/10 E��� ���������FC �� ���	#� krf < 2π/10 ≈ 0,63C �� �� ���	��
k2r2f/4 < 0,10 �� k4r4f/64 < 2,4.10−3� 7� ����� �	�#��� �	 ��#���������� ������ �-�
����
k6r6f/2304 �� ���� ��&����	� ( 2,7.10−5� 0� ������� ��	������ ��	) ������C �� � 	�� ����	�
��&����	�� ( 
 [C �� ������� ����� ������ ���� ��� ��&����	� � 10−4 
� �	� ���� ��	:�	�� �	9����
���� �� 
���� �-	�� >���  �����	��� �	� ��� ����� �������� ������ �� &�
�������� '

[
1−

k2r2f
4

(1− (�s.�τ)2) +
k4r4f
64

(1− (�s.�τ)2)2
]

=

[
1−

k2r2f
8

(1− (�s.�τ)2)

]2

���� 
� 
��C �-����� �-�������������� ��	� 	� B� �-�
��� '

�FC(�s) =
∫

l∈L∩C

[
1− k2rf (l)2

8
(1− (�s.�τ(l))2)

]2
eik�s. �O(l)MI(l)�τ (l)dl

�� �� �D�� �������C �-����6������ �-	�� &��
���� �� ��������� �GC′ �	� 	�� ������� B�����
Γf ∩ C �-�
��� '
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∫
l∈L∩C′

∫
�s∈S

[
1− k2rf (l)2

8
(1− (�s.�τ(l))2)

]2
eik�s. �M ′O(l) �ϕj(l). �GC′(�s)d�sdl

1� #��� �	� �-�����)������� ��� B�� ���
�� �-����6�� ���� ��9
	��� ���� �� ������� �	�"
���=�� ������� �� � � :	��� 	� ����� ��������� �� rf (l)C �s �� �τ(l) ( ��:�	��� ��	� ��� ����6�����
�	� ��� B�� L�

�������	��

<�	� �#��� �������� ���� 
� 
������� ��T������� �����
������ �� �� ������� �	����=��
������� <�	� �#��� �	 ������� ��T������ ����� �� 
��
	�� E��� ����"�����������C ��� �����	�����
�������#��FC ������	�� ( ��� ���2����� ������	�� ��	� �	 ����� ���2���� E��	���	�� �����	)C
�������	) �	�������C B��C ��������FC ���� 2���� ( 
���	� &��� �	� �� �D�� ����	 �� ?����
G(r) = eikr/4πr� 7�� &���	������� �	����=��� ���������� �
� �-��� ��� ��
��� ��� ����� ��
K	#�� �� ������	�C ���� ����� �� ������ ���
��������� �� &��
���� ��� 2������ ����&����� ���
����� ���������� ���	�������

%	 ����	����C �� �)���� 	�� ������� ������ ��	� �� ��� D��� 2���� ��� ��� ��	��� �����2������
�� �� >��� �� �	9� �� ��#��� ������� �	 �������6� �	 
��
	� ��� ������
����� �	� ��	����� D���
�������� #�� 	�� >��C �� ��� �	���� E�	� ������ ����� �������� 
������	�����F� 3� 
�� ������
�����
����">�� ���� ��	 ���2��	���C ��	� �����
� ���� 
��	��� *-��� 
� �	� ��	� �#��� &��� ��	�
��� �������� B������C �� 
��� ��	� ������ �� ������� ���������� ��� 
�� �� 
��
	� �� 6�����
������ 
��������� �	���	�� ���������
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<�	� �#��� ������� �-�������������� �� �� ������� �	����=�� ������ ��	� ��� ��	������ ��
��)H��� �� �� @�������A ���� ��� 
���� �-�������� B��� �� &�������� �-0%�3� 7�� ���	����� �2"
���	� �� ���� ��#���� ���� �����&�������C ���� �� ����� �� ���
����� �	� �� ��������� 3	� ��
����
���	��������C ��	� ��	#��� ��������� ������� �� ������� ������� ��� ���2����� 
���������
:	��	-( 105 ��
���	��C #���� 106 �	� ��� ��
����� ��	� �� 6����� <�	� �#��� ����������� 
�

���C �� �2���	 �	� ��
����� ���������� ��� ���	����� ���� ���2���� �� ����� �� #������ �� �-�&"
B
�
��� ���������C ���2������� �	 �����6� �� ��	#��	) ��
���� �� ����� �� ���2�� �-��
���	��
��	� 
� ���� �� ���2�����

$�	� �	����C ��	��� ��� ��9
	���� �-��� ��� ��� 2������� ��� �� >��� 7� ������� �	�"
���=�� ������ ��� ��
��#������� ����
��� �	) ���#�	�� �������&� �� �	) &���	������� ����6�����
�	�&�
��	��� $�	� ��� ��������C �� ����
���� ���2���� ��� �� �� ��� ��M������ �� #������ ��

��#��6��
�� �� ���2��	��� #���� ���� �)������� ��	� ������ �-� ��������C ����� ����	�����
��� ���#�	�� �	��� ��
���� ���2���C ��� ���
����������	�� U�)�2��� EO��PF �� 
�	) 2���� �	� ���
���:�
��	�� �� *������� EO

PF� N	��� �	) &���	������� ����6����� �� &���������C �� ����
����
�����
�� ( ��	� &���� ��� �� �� ��� �-������	�� �	) �2:��� 
�����)��C 
���� 
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���������
��� �������	) ������6����� 7� ���	���� �
� ������ �� �������� 	� 
�	���6� ����� �� >�� �� ���
�������� &���	��������� #��	���	�� ��	� ( �D�� �� 6���� 
�� ��9
	�����

7� ������� �	����=�� ��	� �6������� �-������	�� ���� �-�	���� 
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�����
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	�����C �� 2��
�����C �-���
���������	�� 7� ������ R ����������	� S �� �� >�� ���� 2���
�J� D��� ������� �	 
�� ��� 
�� E��B������ ��� &��
����� �� ��������� �� ��� �������	�� ��
������C ���
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�������
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������� �� �� ����� �� �.
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�� �-��������C ��
�������� � ��#������ 	�� ������� ������ �������� �� �� >�� ������� �	)
�������� ����6����� ����������� ��	� �-���
�����6������� EO
�PC O��PF� %������ 
���� >��
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